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Abstract

The mixed renewal processes are investigated and some applications of the above in
actuarial models are given. Since, mixed Poisson processes are the simplest case of
the mixed renewal ones we first conduct a comparitive study of the various definitions
of mixed Poisson processes. Next, Huang’s definition for mixed renewal processes is
studied, several properties of them are investigated and Hung’s result that a mixed
renewal process is a Markovian one if and only it is a mixed Poisson one. Furhtermore,
a second definition for mixed renewal processes is given and some characterizations of
mixed renewal processes in terms of disintegrations and of exchangeability are provi-
ded. As consequence of these characterizations, it is shown that the two definitions are
coincide in the most cases of applications in Probability Theory. As a second conse-
quence, an existence result of [26] for mixed renewal processes, providing at the same
time a constructive method for them is presented. As an application some concrete
examples of mixed renewal processes are given and the corresponding disintegrated
measures are explicitely computed. Finally, some applications to actuarial models are
given.
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 Z �� �"����
���� ��� �	
����� �������4 �
 Q �� �"���� ���� ��� ����� ������� 	�� �
 R ��
�"���� ���� ��� ��������	�� �������& ������ !����������"���� �� 
(�� �"�����0
N0 := {0, 1, 2, . . .}4 Nm := {1, 2, . . . , m}4 Z∗ := Z\{0}4 Q∗ := Q\{0}4 R∗ := R\{0} 	��
R+ := {x ∈ R : x ≥ 0}& C����� ���6����� 	�� �� ����������� Z+4 Z∗

+ 	�� Q+4 Q∗
+&

?���� Ω �"���� 	�� A,B ⊆ Ω&  
 Ac � Ω\A := {x ∈ Ω : x /∈ A} �������6
��� ��
�#�������� ��# A 2�
 �!��� �
 �� Ω34 �
 A � B �������6
��� � ����� $"� (��
��� �
��(" ���� ������� 	�� �


⊎
i∈I Ai �������6
��� � ����� ���� ��	����
��� {Ai}i∈I

2I �= ∅3 (���� ��/ $"� ���������� ��� Ω& 
� ����!
�� ���� σ�/��
���� Σ 	���"����
�� �6�����4 
�� ��� 	/�
 A ∈ Σ �
 χA �������6���
 ���  ��
���� �#�������
��� 2
�$
!������3 A& �� �
�������
 
����� ��� �"����� ���������� G ��� Ω& :
���6���� σ"����4�� ���������� ��� Ω ��� �
���!
� �� G �������6
��� �
 σ(G) 	��
����/6
��� � σ"����4�� � ���������� ��� �� G4 
�� �� G ����/6
��� �����"
����� ��� σ(G)&  �� σ�/��
��� A 
���� ���;������ ���������� 
/� ��/�!
� ���
���������� ��	����
�� G ���������� ��� Ω ��� ��� ����� ��!"
� A = σ (G)& 
����4 �

B 	�� B((α, β))4 ���� α, β ∈ R4 �������6���
 ��� Borel σ�/��
��� ���������� ��� R
	�� (α, β)4 ��������!�&
 �� ��	����
�� {Bj}j∈I ����/6
���  �������� ��� Ω4 ��
• Bj ∩ Bk = ∅ ��� 	/�
 j, k ∈ I ���
 j �= k 	��
•
⋃

j∈I Bj = Ω&
C� �
�
����
� $"� �$�����
� �������	/ �������6����� �� 
(��0

⊎
j∈I Bj = Ω& �� 
��

����� � {Bj}j∈I 
���� ��� ��	����
�� ��� Σ4 ���
 ���� ����/6
��� ��� Σ"���������
 �������� ��� Ω&
��� 
(�� 	� 
����� $
� $����
��� $�����
��	/ �
���"�
 ���� !&�& (Ω,Σ, μ)&
?��� �"���� N ∈ Σ ����/6
��� �!���� �� ���
�! �����# 2σ.μ.μ.3 � �!���� μ"
�� ���
�! �����# 2μ− σ.μ.μ.3 � μ"�� ���
� �!���� �� 	�� ���� �� μ(N) = 0&

� �"���� ���� ��� μ− σ.μ.μ. �������6
��� �
 Σ0&
��� 
(�� 	� 
����� $
� $����
��� $�����
��	/ �
���"�
 ���� !&�& (Ω,Σ, P )& ?��� �����

@



����������� P ����/6
��� ������ �� ��� 	/�
 ��!��� �
������� X ���� Ω ��/�!
� ���
�"���� Borel B ⊆ X (Ω) := {X (ω) : ω ∈ Ω} ������ ���
4 P (X−1 (B)) = 1.
 �� �&�& f : Ω �−→ R ����/6
��� ���
�������� 2�� ���� �� ����� P 3 ��

∫
|f |dP <

∞&  
 L1(P ) 2���& L1
+(P )3 �������6
��� �� �"���� ���� ��� ���	��������� 2���&

�� ������	�� P − σ.β.4 ���	���������3 ��������
�� f : Ω �−→ R& �	��� �
 L2(P )
�������6
��� ��������!� �� �"���� ���� ��� ���������
� ���
��������� −
$���$� ���� ��� �&�& f : Ω �−→ R ���


∫
f 2dP < ∞ − �#���������&

 �� ���/����� F : R �−→ R ����/6
��� �#������� 
�������� ��;��������
2σ.κ.π.3 �� 
���� 4 �"(����4 $
(�/ ���
!��4 limx→−∞ F (x) = 0 	�� limx→∞ F (x) = 1&
)�� ��� �&�& X : Ω �−→ R � ���������/����� PX : B �−→ R �
 �"��

PX(B) := P (X−1(B)) ��� 	/�
 B ∈ B


���� ���������� 	�� ����/6
��� 
������� 8��;��������9 ��� �&�& X &  /�����4 ��
��/�!
� x ∈ R ���
 PX({x}) = 14 ���
 � PX ����/6
��� �
-#������� 
�������
8��;��������9 (degenerate (probability) distribution). ' PX 2���& � �&�& X3 ���/�
�
��� �#������� 
�������� ��;�������� 8σ.κ.π.9 FX : R �−→ [0, 1] ��� �5�5
X 4 ��� ���6
��� ��� ��� �"��

FX(x) := PX

(
(−∞, x]

)
= P (X ≤ x) ��� 	/�
 x ∈ R.

' FX 
���� ��/����� σ.κ.π. 2��& �&!& 9@,<4 ������� +&-&>3& ' σ.κ.π. FX ���� �&�& X
�	������
� ��� �!���

2+&+3 PX(B) = P (X ∈ B) = λFX
(B), ∀B ∈ B

���� λFX
(B) 
���� �� ����� Lebesgue-Stieltjes ��� 
�/�
��� ��� ��� FX 2 ��& �&!& 9@,<4

������� +&-&+, ��� ��� ������ ��� ������ Lebesgue-Stieltjes 	�� ��� ��� ���$
�(� ���
2+&+3 3&
 �� σ.κ.π. F : R �−→ R 2���& ��� �&�& X : Ω �−→ R �
 σ.κ.π. FX = F 3 ����/6
���0
• '��
����4 �� ���� 2���& � σ.κ.π. ��� Q3 
���� ��� ������

F (x) =
∑

k∈K:k≤x

f(k) ��� 	/�
 x ∈ R,

��� 	/���� ���������� �"���� K ⊆ R 	�� ��� 	/���� Borel �
������� ���/����� f :
K �−→ R+& ' f ����/6
��� �
 �� �
��/ ��� �#������� ��;�������� 2σ.π.3 ��� F
2���& ��� X3&
• %#��6��4 �� � F 
���� ���
!�� ���/����� 2���& � σ.κ.π. FX ��� Q3&
•+���#�� %#��6��4 �� ���� 2���& � σ.κ.π. FX ��� Q3 
���� ��� ������

F (x) =

∫ x

−∞
f(t)dt ��� 	/�
 x ∈ R,

��� 	/���� Borel �
������� ���/����� f : R �−→ R+ &
' f ����/6
��� �
 �� �
��/ ��� �#������� �#
������� ��;�������� 2σ.π.π.3

-



��� F 2���& ��� X3& ��������4 �� � �&�& X 
���� ������� ���
!��4 ���
 �� 
���� 	��
���
!��& ��
�$� ���� ����"�� 
������ �� ��!�����"�
 ���� �
 2$��	����� 	��3 �������
���
!
�� �&�&4 ��� 
(�� ��/������ F���
!�� �&�&G �� 
����"�
 F������� ���
!�� �&�&G&
�	���4 �� ���
 ��� � �&�& X �
 �"���� ����� RX �
���#;�� ��� 
������� K(θ)
�
 �����
���	� $�/����� θ := (θ1, . . . , θm) ∈ Rm4 ���� m ∈ N 4 	�� �� �������6���
 ���
�� ��������!� ����� ����������� PX = K(θ) ��

PX(B) =

∫
B

fX(x)χRX
ν(dx) =

∫
B∩RX

fX(x)ν(dx) ��� 	/�
 B ∈ B,

���� fX � ��������!� σ.(π.)π.4 	�� ν 
���� �� ��������	� ����� 
�/�� ��� N � �� �����
��� Lebesgue λ 
�/�� ��� R ��/���� �
 �� �� � �&�& X 
���� ���
!�� � $��	����& �� �
�&�& X 
���� $��	����4 ���
 �� ���	������ ���
��� /������� � �
��/4 ��/���� �
 �� ��
�� RX 
���� �
�
������� � ����������4 ��������!�&
?����(Ω,Σ, μ) 	�� (Θ, T, ν) !&�&& ?��� R ⊆ Ω×Θ ����/6
��� ��������� ��;������
8��# Ω×Θ94 �� ��/�
��� R = A×B4 ���� A ∈ Σ 	�� B ∈ T & ��� �����4 � σ�/��
���
��� ���/�
��� ��� ��� ��	����
�� ��� �
�������� ���������� ���
��� σ"����4��
�������� ��� Σ 	�� T 	�� �������6
��� �
 Σ⊗ T &
?���� 
����� � !&�& (Ω×Θ,Σ⊗ T, ρ)& 
� ����� ρ ����/6
��� ����� �������� ���
μ 
�� ν 	�� �������6
��� �
 μ⊗ ν �� 	�� ���� �� ��� 	/�
 A ∈ Σ 	�� B ∈ T �	������
�
��� �$������ ρ(A×B) = μ(A)ν(B)&

��� I 
���� ��� �����$����
 �� 	
�� �"���� $
�	��� 	�� {(Ωi,Σi, Pi)}i∈I 
���� ��� ��	��
���
�� !&�&4 ���
 ��� 	/�
 ∅ �= J ⊆ I �������6���
 �
 (ΩJ ,ΣJ , PJ) ��� !&�&������
��

⊗i∈J (Ωi,Σi, Pi) :=
(∏

i∈J Ωi,⊗i∈JΣi,⊗i∈JPi

)
& �� (Ω,Σ, P ) 
���� ���� !&�& ��������

6���
 �
 P I ��� ����������������
�� ���� ΩI 	�� �
 ΣI �� �
$�� ������" ��� P I &
)�� ��� �&�& X : Ω �−→ R �� ���	������

EX := E[X] :=

∫
XdP =

∫
Ω

X(ω)P (dω) =

∫
Ω

X(ω)dP (ω)

2
����� ��/�!
� ��� R3 ����/6
��� � ���� ���� � � ����������� ���� � � ��"
;�����
� ���� � ��� �&�& X & ��$�	/ �� X ∈ L1(P ) ���
 � E[X] ∈ R4 $���$� 
����
���� �������&

� 
�$
!��
�� A1, . . . , An ∈ Σ (n ∈ N : n ≥ 2) ����/6����� ���<������ ��

P
( k⋂
j=1

Aij

)
=

k∏
j=1

P (Aij), ��� 	/�
 1 ≤ i1 ≤ · · · ≤ ik ≤ n 	�� ��� 	/�
 k ∈ N.

C� �&�& X1, . . . , Xn : Ω �−→ R (n ∈ N : n ≥ 2) ����/6����� ���<������� �� ��� 	/�

�	������� {αk}k∈Nn ��������	�� ������� �� 
�$
!��
�� {Xk ≤ αk}k∈Nn 
���� ��
(/����
��& H��$"����4 �� �&�& X1, . . . , Xn 
���� ��
(/����
� �� 	�� ���� �� ��� 	/�
 �	�������
{Bk}k∈Nn ����!
��� ��� B �� 
�$
!��
�� {Xk ∈ Bk}k∈Nn 
���� ��
(/����� 2��& �&!&
9@,<4 ���������� @&:&A(b)). �	��� ��� �
��	/4 ��� /�
��� ��	����
�� �&�& ����/6
���
���<������ �� 	�� ���� �� 	/�
 �
�
������� �����	����
�/ ��� 
���� ��
(/�����&

A



C� σ����/��
��
� Σ1, . . . ,Σn (n ∈ N : n ≥ 2) ��� Σ ����/6����� ���<������� ��
��� 	/�
 k ∈ Nn 	�� ��� 	/�
 Ak ∈ Σk �� A1, . . . , An 
���� ��
(/����� 
�$
!��
��&
)
��	��
��4 ��� /�
��� ��	����
�� σ�������
���� ��� Σ ����/6
��� ��
������� ���"
<������� σ"#������4��� ��� Σ �� 	�� ���� �� ����
�$����
 	�� ��
�$����
4
�
�
������
� ��� ������4 ��� ����� 
���� ��
(/����
�&
 �� ��	����
�� {Σi}i∈I σ�������
���� ��� Σ ����/6
��� P �#�� �#�;�
� ���<��"
���� ��� σ����/��
���� F ⊆ Σ4 �� ∀n ∈ N �
 n ≥ 2 �!���


P (E1 ∩ . . . ∩En|F) =

n∏
j=1

P (Ej|F) P |F − σ.β.

∀j ≤ n ∀Ej ∈ Σij ���� �� i1, . . . , in 
���� $��	���/ ����!
�� ��� I&
 �� ��	����
�� Σ�T ��
�������� ��
�	����
�� {Xi}i∈I ��� ��� Ω ���� Υ 
����0
• P �#�� �#�;�
� ���<������ 
�/�� ���� σ����/��
��� F ��� Σ 4 �� � ��	����
��
σ ({Xi})i∈I 
���� P ���� �����	� ��
(/����� 
�/�� ���� F 4	��
• P �#�� �#�;�
� ������� 
�/�� ���� σ����/��
��� F ��� Σ ��4

P (F ∩X−1
i (B)) = P (F ∩X−1

j (B)),

��� i, j ∈ I 4 F ∈ F 	�� B ∈ T &
��� �����4 ��� 	/�
 �&�& X : Ω �−→ R ������


σ(X) := X−1(B) := {X−1(B) : B ∈ B}.


��
4 � σ(X) 
���� ��� σ�/��
��� ��� Ω ��� ����/6
��� � σ"����4�� ��� Ω �
���������� ��� ��� X 	�� ��!"
� σ(X) ⊆ Σ& )
��	��
��4 ��� ��� ��	����
��
{Xj}j∈I �&�&4 ���� I �"���� $
�	���4 ���6���


σ
(
{Xj}j∈I

)
:= σ

(⋃
j∈I

σ(Xj)

)
.

' σ
(
{Xj}j∈I

)
����/6
��� � σ�/��
��� � �������
�� ��� ��� ��	����
�� {Xj}j∈I &

 �� ��	����
�� {Xt}t∈T �&�& ����/6
��� ���<������ ���� ��	����
��� {Σi}i∈I σ�
������
���� ��� Σ4 ���� T, I �= ∅ �"���� $
�	���4 �� ��� 	/�
 �
�
������� ������
�&�& Xt1 , . . . , Xtm 	�� σ�������
���� Σ1, . . . ,Σn ��� Σ 2m,n ∈ N34 �� σ����/��
��
�
σ(Xt1), . . . , σ(Xtm),Σ1, . . . ,Σn 
���� ��
(/����
�&
�� �� P,Q 
���� 	�������� ����������� 
�/�� ���� �&!& (R,B)4 ���
 � 	������� �����
������� �
 �"��

(P ∗Q)(B) :=

∫
R

P (B − y)dQ(y) ��� 	/�
 B ∈ B,

���� B − y := {z − y : z ∈ B}4 ����/6
��� � �#����<� ��� P,Q& ������ ��� n ∈ N

���6���
 �� ��� n"���� �#����<� ��� P 4 ��� 	������� ����������� P ∗(n+1) := P n∗P 4
���� P ∗0 2
	���������3 	������� ��� �	������
� ��� P ∗0({0}) = 1& C�����4 ���6
���

;



	�� � ������(� $"� σ&	&�& F,G � $"� σ&2�&3�& f, g& 
����4 ���
������
 ��� �� n ∈ N 	��
� {Xk}k∈Nn 
���� ��� �	������� ��
(/������ �&�& �
 ��������!
� 	�������� �����������
2
�/�� ���� �&!& (R,B)3 {PXk

}k∈Nn4 ���
 ��� ��� ������ ��� ������(�� /�
�� �!���

���

PX0+···+Xn = PX0 ∗ · · · ∗ PXn = (PX0 ∗ · · · ∗ PXn−1) ∗ PXn .

 �� ��	����
�� {Xj}j∈I 4 ���� I ��� �
��	�� $���
������� �"���� 2��& �&!& 9:><4 C������
+&+>34 �
�������� ��������
�� Xj : Ω �−→ R 2j ∈ I3 ����/6
��� σ. 5 2σ&$&3 �
���6����
� �����<�& ��� �����4 �� �� I 
���� ��� ��
����������� ����"���� ��� R
���
 ���
 ��� � {Xj}j∈I 
���� ��� σ&$& �#��6�!� 6����#4 
�� �� �� I ⊆ Z4 ���
 ���

��� � {Xj}j∈I 
���� ��� σ&$&  ��
����! 6����#&
 �� σ&$& {Xt}t∈R+ 
����0
• ��� σ&$& ���<������� �����#<����� � �!
� ���<������� �����#<����� ��
��� 	/�
 m ∈ N04 t0, t1, . . . , tm ∈ R+ ���
 0 = t0 < t1 < · · · < tm4 �� �����#<�����
Xtj −Xtj−1

2j ∈ Nm ∪ {0}3 
���� �
��(" ���� ��
(/����
�&
• ��� σ&$& �������� �����#<����� � �!
� �������� �����#<����� �� ���
	/�
 m ∈ N04 h ∈ R+ 	�� t0, t1, . . . , tm ∈ R+ ������ ���
 0 = t0 < t1 < · · · < tm �
��	����
�� ��� ������(��
�� {Xtj+h −Xtj−1+h}j∈Nm∪{0} �!
� ��� �$�� 	������� �
 ���
{Xtj −Xtj−1

}j∈Nm∪{0}4 $���$� �� 	�� ���� �� ��� 	/�
 j ∈ Nm∪{0} 	�� ��� 	/�
 h ∈ R+

��!"
� PXtj+h−Xtj−1+h
= PXtj−Xtj−1

&

?���� {Xt}t∈I ��� σ.$& �
 ���	/ $���
������� �"���� $
�	��� I ���� ���
 ��� 	/�
 t ∈ I
�� �"���� RXt ��� Xt �� 
���� ���������� �"����& ' {Xt}t∈I ����/6
���&��
�4����
σ5 5 � σ5 5 Markov � �� ���
 ��� �	������
� ��� &��
�4���� � ������4 
/� ���
�����$����
 n ∈ N4 t1 < . . . < tn < t, tj , t ∈ I ��� 	/�
 j = 1, . . . n 	�� i1, . . . , in, k ∈
RXt ��!"
�

P

(
Xn+1 = xn+1|

n⋂
i=1

{Xi = xi}
)

= P (Xn+1 = xn+1|Xn = xn) .

)�� 	/�
 
�$
!��
�� B ∈ Σ ������ ���
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8m19 ' {Xj}j∈I 
���� ������������� ��� 2$�"����3 {Σj}j∈I &

8m29 )�� 	/�
 j ∈ I � Xj ∈ L1(P )&

8m39 )�� 	/�
 j, k ∈ I �
 j ≤ k ��!"
� E[Xk|Σj ] = Xj P |Σj − σ.β.&
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����� Tn,Wn : Ω �−→ Rn �� �
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Tn(ω) := (T1, . . . , Tn)
′(ω) = (T1(ω), . . . , Tn(ω))

′

���
Wn(ω) := (W1, . . . ,Wn)

′(ω) = (W1(ω), . . . ,Wn(ω))
′

��� ���� ω ∈ Ω� �
������	�� ����� ��� ��� ��
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����� ��� /�
��� 2��& 8n*93&

��������"�
4 ������4 ��� �
 !���� ��$�� $
� �!���
 	���� ��������4 
�� �
 �� �������
��� !����� � ������� ��� �������
�� ��(/�
�&  /�����4 ���� ���� ���
��� ��� !����	�
$�/����� (t, t+ε)4 � �"(��� $
� 
���� �
���"�
�� ��� ���� ���������4 ���" ��� ��� �����
�
�� ��� ���$
������� ��� �!
$�� ������ $"� � �
������
�
� �������
�� $
� 
�����6�����
�����!����&
?C��� ��������	
 	�� ���� ��!� ��� �������� 
������� � σ&$& /��(�� ��� �������
�
�� 	�� � σ&$& ��� ������" ��� �������
�� 	�����6��� � ��� ��� /���4 ��������	/ �
�����/�� ������� �
����/6
��� ��� $"� �	������ �
�������&
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������� �5�5� '
 {Tn}n∈N0 ��
�� ��� σ��� �+��"� �#
 ��������#
 ��� ��� ���� ω ∈ Ω
��� t ∈ R+ �������

2:&:3 Nt(ω) :=

∞∑
n=1

χ{Tn≤t}(ω),

�(�� ��� �"
 {Nt}t∈R+ ��	
��
 �� �����

�i� . {Nt}t∈R+ ��
�� ��� σ��� ��� � ����
 �#
 ��������#
 ������ ���� ΩN = ΩT � ���

�ii� ��� ���� n ∈ N0 ��� ω ∈ Ω \ ΩT ��	
��

2:&@3 Tn(ω) = inf{t ∈ R+ : Nt(ω) = n}.

������� �5�5� '
 {Nt}t∈R+ ��
�� ��� σ��� ��� � ����
 �#
 ��������#
 ��� ��� ����
ω ∈ Ω ��� n ∈ N0 ������� Tn(ω) := inf{t ∈ R+ : Nt(ω) = n}� �(�� ��� �"
 {Tn}n∈N0

��	
��
 �� �����

�i� . {Tn}n∈N0 ��
�� ��� σ��� �+��"� �#
 ��������#
 ������ ���� ΩT = ΩN � ���

�ii� ��� ���� t ∈ R+ ��� ω ∈ Ω \ ΩN ��	
�� Nt(ω) =
∑∞

n=1 χ{Tn≤t}(ω)�

)�� ��� ���$
�(� ��� �����/�� $"� ����
�
��/��� ��& �&! 9:-< 8
����� @&@&: 	��
8
����� @&:&@ ��������!�&

)�� �� �������� ����" ��� 	
�������4 �
���"�
 ��� {Nt}t∈R+ �� ��� σ&$& ��� ������"
��� �������
��4 ��� {Tn}n∈N0 �� ��� σ&$& /��(�� ��� �������
�� ��� ���/�
��� ���
��� σ&$& ��� ������" ��� �������
�� 	�� ��� {Wn}n∈N �� ��� σ&$& 
�$�/�
��� !�����
/��(�� ��� �������
��4 ��� ���/�
��� ��� ��� σ&$& /��(�� ��� �������
��&
E���� ��/�� ��� �
��	������4 ���������
 ��� �� P ���$
��	� �"���� 
(���
��� ��� σ&$&
��� ������" ��� �������
��42	�� /�� 	�� �� P ���$
��	� �"���� 
(���
��� ��� σ&$& /��(��
��� �������
�� ���" ΩT = ΩN 3 
���� �� 	
�� �"����4 $���$� ΩT = ΩN = ∅&
�(������ ��� �����/�� ����
���4 ��������
 $"� �����4 ���/ ���" !�����
� ������
�4 ���
	���$
�	�"��� �� ��� �������� 
�$
!��
�� ��� 	�����6����� ��� ��� σ&$& ��� ������"
��� �������
�� �����"� �� 
����
���"� 2���$"����3 �� 
�$
!��
�� ��� 	�����6�����
��� ��� σ&$& /��(�� ��� �������
�� 	� ����������&

>���� �5�5) ��� ���� n ∈ N0 ��� ��� ���� t ∈ R+ ��	
��
 �� �����

�i� {Nt ≥ n} = {Tn ≤ t}�

�ii� {Nt = n} = {Tn ≤ t}\{Tn+1 ≤ t} = {Tn ≤ t < Tn+1}�

)�� ��� ���$
�(� ��& �&! 9:-< .���� @&@&-&

?��
�� �����
�� ��� (i) ��� .������� :&@&- ����
�
� �� ����	/�� ������
���&
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>���� �5�5* /�	
�� σ
(
{Tn}n∈N0

)
= σ
(
{Nt}t∈R+

)
�

 �� ����� 
������� ��� .������� :&@&- 
���� � �"�$
�� ��� 
�$
!������ ��� �	��(�� �

��� σ&$& ��� ������" ��� �������
��4 	/�� ��� ����
��� ��� ����	/�� $"� ����
�������&

>���� �5�5, ��� �"
 ����
(�"�� �"� �� "�"� ��	
��

P

(
sup
n∈N

Tn < ∞
)

= P

(⋃
t∈N

{Nt = ∞}
)

= P

( ⋃
t∈(0,∞)

{Nt = ∞}
)
.

)�� ��� ���$
�(� ��& �&! 9@:< Lemma :&+&-&

/������ �5�5( '
 " σ��� ��� � ����
 �#
 ��������#
 �	�� ���� ����
�� �
���
(���

�� ����� �(�� " ����
(�"�� �"� �� "�"� ��
�� ��" �� �� �"��
�

)�� ��� ���$
�(� ��& �&! 9@:< Corollary :&+&A&

?C��� �� $�����������
 	�� ��� 
���
�� 	
�/����4 � �
���� ��� σ&$& ��� ������" ���
�������
�� �� ������
� �
 �������	� ����� ���� �$�����
� ��� ������(��
�� ���4 ��
����
� ���6����� �� �	���"���&
��� ���
�� ���� 	���
��� �	����� �� �������
 ��� �����
� ��� �����"(���� ��� ������"
��� �������
�� ��� $�/����� (s, t]4 ��� ��/����� ���/ 	�� ��� ��
(/������ ������(��
�
��&
)�� 	/�
 s, t ∈ R+ �
 s ≤ t � �����!<��� ��� σ&$& {Nt}t∈R+ ��� $�/����� (s, t]
���6
��� ��� ���

2:&-3 Nt −Ns :=

∞∑
n=1

χ{s<Tn≤t}.

��
�$�4 �/�����4 ��� 	/�
 ω ∈ Ω ��!"
� N0(ω) = 0 	�� Tn(ω) > 0 ��� 	/�
 n ∈ N � 2:&-3
����	
��� �
 �������� �
 ��� ����� �
 ��� ����� ������	
 � �&�& Nt ��� 8
����� :&@&:&
��� �����4 ��� 	/�
 ω ∈ Ω 	�� ��� 	/�
 s, t ∈ R+ �
 s ≤ t �!���
 ���

2:&A3 Nt(ω) = (Nt −Ns)(ω) +Ns(ω),

��� ��!"
� �	��� 	� �� �� Ns(ω) ��
���6
���&

!"3 � ���'�4���� Poisson

���� ����"�� 
������ ���6���
 �� $��$�	���� Poisson 	�� $�����
 	/���� ��!�	/ ����
�
����� ��� �����"� ��� 	�������� ��� ���!����	�� $��$�	����� {Tn}n∈N0 4{Nt}n∈R+ 	��
{Wn}n∈N&

������� �5)5� ' σ&$& ��� ������" ��� �������
�� {Nt}t∈R+ 
���� ��� 2��������3
 �� �
���� Poisson �
 ���/�
��� θ ∈ (0,∞) 
/� �!
� ��
(/����
� 	�� ������
� ����
���(��
�� 	�� ��� 	/�
 t ∈ (0,∞) ��!"
� PNt = P (θt)&
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?��
�� �����
�� ��� C�����" 
���� ��� ��� σ&$& ��� ������" ��� �������
�� �
 ��
(/��
���
� ������(��
�� �!
� ��/���
� ������(��
�� �� 	�� ���� ��

PNt+h−Nt = PNh

��� ��� �� t, h ∈ R+&

������� �5)5� ' σ.$& ��� ������" ��� �������
�� {Ñt}t∈R+ 
���� ��� �#��
�

 �� �
���� Poisson �� ��� 	/�
 t ∈ R+ � Ñt �	�����
� ��� Poisson �
 ���/�
��� +&

>���� �5)5� )*��# θ ∈ (0,∞)� 0(�� �� ��(,���� ��
�� ����

����

�i� PTn = Ga(n, θ) ��� ���� n ∈ N�

�ii� PNt = P (θt) ��� ���� t ∈ (0,∞)�

-� ����
 �"
 �� ���#�" ��	
�� E [Tn] = n/θ ��� ���� n ∈ N ��� E [Nt] = θt ��� ����
t ∈ (0,∞)�

)�� ��� ���$
�(� �� �&! 9@:< Lemma :&:&+


� ����	/�� ������� 
���� /�
�� �����
�� ��� ������"�
��� ��� .���/��� :&:&D 	��
:&-&@ 	�� $����
� ��� �� �� 
�$�/�
��� !����� /��(�� ��� �������
�� 
���� 2�������3

	�
��	/ 	����
������� 	�� ��
(/������ ��
��� ��� � ������� ��� �������
�� �	�����
�
��� 	������� Poisson 	�� ����������&

/������ �5)5) )*��# θ ∈ (0,∞)� '
 " σ��� {Wn}n∈N �
������#
 	 (
#
 �+��"�
�#
 ��������#
 ��
�� �
��� �"�"� �(�� �� ��(,���� ��
�� ����

����

�i� PWn = Exp(θ) ��� ���� n ∈ N�

�ii� PNt = P (θt) ��� ���� t ∈ (0,∞)�


� �	������ �
����� !���	�������" 
���� �� ����� ��� ��� �
��/ �
����/��� !����
	�������" ��� �� �	���������� ��� �������� 	
�/����

������� �5)5* )*��# θ ∈ (0,∞)� 0(�� �� ��(,���� ��
�� ����

����

�i� . σ.δ �
������#
 	 (
#
 �+��"� �#
 ��������#
 {Wn}n∈N ��
�� �
��� �"�" ���
���
������ �" ��
���" PWn = Exp (θ) ��� ���� n ∈ N�

�ii� . σ.δ � ����
 �#
 ��������#
 {Nt}t∈R+ ��
�� ��� ���������� Poisson �� �� ���� �
θ�

�iii� . σ.δ � ����
 �#
 ��������#
 {Nt}t∈R+ �	�� �
��� �"��� � ���������� ��� ���
��
����� �" ��
���" E [Nt] = θt ��� ���� t ∈ R+�

�iv� . σ.δ {Nt − θt}t∈R+ ��
�� �
� martingale�

)�� ���$
�(� ��& �&!& 9@:< Theorem :&@&- &
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���
	�� &

�%�����" ������� �"�
'��������"� (�	$��	��	� Poisson

����	
��
�� ��� �������� 	
������� 
���� � ���	����	� �
���� ��� ������� ��� �
�
���
����� $��$�	����� Poisson 2 MPP ��� ��������3 ��� ����
�
� �
��	
��� ��� $��$�	����
Poisson& ��� 
������ @&+ $��
��� ���� ������� ����� ���
��	�� $��$�	����� ��� ��/�!
�
��� ������������ 2 ��& �&! 9+,< Definition @&:3 	�� ���$�	�"
���4 ��� 	/�� ��� 	/���
�
���
�
�� �����	
� � 
� ���� ������� 
���� ���$"����� �
 �� ������
��	/ $�����
��	�
C����� :&@&+ ��� 
����� ��/�!
� ��� ������������& 
���� ���
��� ��� �"����� ������/
���� �
�
������ 	������� Poisson& ���� 
������ @&: $������� ����
��� ������� ��� ���
MPP ��� ������ �� �!��� �
�
�/�
 ���� 
������ @&@ � ����� 	�
��
� �
 ��� �
�����
!���	�������" ��� ��� MPP 2 ��& 8
����� @&@&B3 	�� �
 ��� ����	�� 
������&

0"# �5%$�� ��/��)� �%$���6�)���

������� �5�5�  �� ���/����� ν = {ν (t)}t∈R+ ∈ NR+ ����/6
��� �����;������
�#������� �� �	������
� ��� �	�����
� �$�����
�

8pp19 ν (0) = 0

8pp29 ν (t) 
���� ���� �	������ ������� ��� 	/�
 t < ∞

8pp39 ν (·) 
���� ��� �� �������� 	�� $
(�/ ���
!�� ���/�����&


� �"���� ��� ����
�
���� ��� ��
� ��� �����������
� ��������
�� �������6
��� �
 N 
�
�� �
 A (N ) �������6
��� � ��/��
��� ��� ���/�
��� ��� ��� �������� ��� ��������
��
ν4 $���$� 4

A (N ) := σ {ν (t) ≤ y : ν ∈ N , t ≥ 0, y < ∞} .

�� 
����
�� � ν �!
� ��� �$������

8pp49 ν(t)− ν(t− ε) = 0 � 1 ��� ε → 04
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���
 � ������������ ���/����� ����/6
��� ����&  
 Ns �������6���
 �� �"���� ����
��� ����� ������������� ��������
�� 
�� �
 A (Ns) �������6
��� � ��/��
��� ���
���/�
��� ��� ��� �������� ��� ��������
�� ν ∈ Ns4 $���$�

A(Ns) := σ({ν(t) ≤ y : ν ∈ Ns, t ≥ 0, y < ∞}).

/��������� �5�5� H�!"
�

A(N ) = σ{ν(t) ≤ y : ν ∈ N , t ≥ 0, y < ∞} = B(N)R+ ∩ N ⊆ B(NR+) ∩N = B(N ).

��/�����4 �
��	/ �!���
 ��� B(N)R+ ⊆ B(NR+)4 
������� ��!"
� B(N)R+ ∩ N ⊆
B(NR+) ∩ N & ?���� T � ��������� � ����� ���/�
� ��� σ�/��
��� B(NR+) 	�� TN :=
T ∩ N � �!
��	� ��������� � ����� ���/�
� ��� σ�/��
��� B(N )& )�� 	/�
 G ∈ TN
��/�!
� ��� �"���� F ∈ T ������ ���
 G = F ∩ N ∈ B(NR+) ∩ N & ?��� σ (TN ) =
B(N ) ⊆ B(NR+) ∩ N & )�� ��� ���$
�(� ��� ����������� �!
��� ���6���
 D := {A ∈
σ(T ) ∩ N : A ∈ σ(T ∩ N )}& �"	��� �����"�
 �� $
�(���
 ��� � ��	����
�� D 
����
��� 	�/�� Dynkin 	�� ��� 
���� 	�
���� �� ���� ��� �
�
������
� �����& ��������
��� �� 8
����� IJ&@ ��
��� ��� D = σ(T ) ∩ N 4 /�� σ(T ) ∩ N ⊆ σ(T ∩ N )4 $���$�
B(N ) ⊇ B(NR+) ∩ N & ��� �� �����/�� ��
��� ��� B(N ) = B(NR+) ∩N &

C ����	/�� ������� 
���� ��� 
����/ �
��	
��� ��� ������" ��� ���
��	�� 	�� �����
���
��	�� $��$�	����� ��� ��/�!
� ��� 9+,< Definition @&:&

������� �5�5� 8a9  �� ������
�  �� �
���� 
���� ��� ��
�	����� N : Ω �−→ NR+

������4 ���
 �� ��/�!
� ��� �"���� ΩN ∈ Σ0 �
 ��� �$������ N(ω) ∈ N ��� 	/�

ω /∈ ΩN 	�� ���
 � N �� 
���� Σ�A (N )��
�������& 
� ΩN ����/6
��� ��$
��	� �"����

(���
��� ��� N &

8b9  �� ���
��	� $��$�	���� N �
 ��$
��	� �"���� 
(���
��� Ω̃N ����/6
��� ����
������
�  �� �
���� �� 
���� Σ�A (Ns)��
������� 	�� N(ω) ∈ Ns ��� 	/�


ω /∈ Ω̃N ⊇ ΩN &


� �	������ .���� ���	���
� ���� C�����"� :&@&+ 	�� @&+&@ 8b9 ��� ��� ���
��	��
$��$�	���
�&

>���� �5�5) ��� ��� �" + ����
" σ.�� N = {Nt}t∈R+ �� �"��
��� ����
(�"�� �� "�
�"� �� ��(,����� � ������� ��
�� ����

�����

�i� . N ��
�� ��� ��,� �"������ �����������

�ii� . N ��
�� ��� σ.�� ��� � ����
 �#
 ��������#
�
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+�� ��<�5 �i� ⇒ �ii� ?���� ��� � N ���� ���
��	� $��$�	����& �"����� �
 ��� C�����
@&+&@ � N �	������
� ��� �����	
� 8pp19�8pp49& ���" � N(ω) �	������
� ��� 8pp19
��
��� ��� �� ��/�!
� ��� �"���� ��$
��	� ����������� Ω1 ∈ Σ0 ���� ���
 ��� 	/�

ω ∈ Ω\ (Ω1) �� �	������
� ��� 8n19& �������� ��� ��� 8pp29 ��
��� ��� �� ��/�!
� ���
�"���� Ω2 ∈ Σ0 ���� ���
 ��� 	/�
 ω ∈ Ω\ (Ω2) �� ��!"
� Nt(ω) ∈ N0 ��� 	/�
 t ∈ R+&
���/ ��� ��� 8pp39 ��
��� ��� � N 
���� �"(���� ���/����� 	�� ��� 	/�
 ω ∈ Ω\Ω1 	��
t = 0 ��!"
� ��� N0(ω) = 0& �������� ��� 	/�
 ω ∈ Ω \ (Ω1 ∪Ω2) 	�� t ∈ R+ ��
��� ���
Nt(ω) ∈ N0 	�� /�� ��
��� � 8n29 ���" N0 ⊆ N0∪{∞}& �������� ���" � N �	������
�
��� 8pp39 ��
��� ��� �� 
���� $
(�/ ���
!��4 
������� ��/�!
� ��� �"���� Ω3 ∈ Σ0 ����
���
 ��� 	/�
 ω ∈ Ω \ (Ω3) �� �	������
� ��� 8n39 ��� 	/�
 t ∈ R+& ��������!� ���
��� 8pp49 ��
��� ��� �� ��/�!
� ��� �"���� Ω4 ∈ Σ0 ���� ���
 ��� 	/�
 ω ∈ Ω \ (Ω4)
��!"
�

sup
s∈[0,t)

Ns(ω) ≤ Nt(ω) ≤ sup
s∈[0,t)

Ns(ω) + 1

��� 	/�
 t ∈ R+&
���� ���" � N 
���� �"(���� 	�� ���" ��� ��� ����
�� ��� 
���� ���
�� �������� �	������� ��
��� ��� �� ��/�!
� ��� �"���� Ω5 ∈ Σ0 ���� ���
 ��� 	/�

ω ∈ Ω \ Ω5 �� ��!"
� � 8n59& ?��� ��� 	/�
 ω ∈ Ω \ ΩN 4 ���� ΩN =

⋃5
i=1Ωi � N 
����

��� σ.$& ��� ������" ��� �������
��&
�ii� ⇒ �i� ?���� ��� � N 
���� ��� σ.$& ��� ������" ��� �������
��& ��!�	/ �� ����
� ��
$
�(���
 ��� ��!"��� �� �����	
� 8pp19�8pp49& ��������"�
 ��� ��� ��� 8n�9 ��
���
�������� � 8pp19& ��� ��� 8n29 ��
��� ��� Nt(ω) ∈ N0 ∪ {∞} ��� ��� �� ω ∈ Ω4
���/ ��� ��� ����
�� ��� �!���
 ��� � N �!
� ��$
��	� ���������� �	��(�� 	�� /��
P (Nt = ∞) = 0 ��� 	/�
 t ∈ R+& �������� ��
��� � 8pp29& 
���� 
���� �������� ���
��� ��� �����	
� 8n�9 	�� 8n)9 ������� �� 8pp39 	�� 8pp49&
 ��
� �� $
�(���
 ��� � N 
���� ��� �
������� ��
�	����� ��� ��� !��� (Ω,Σ, ) ����(
Ns,A (Ns)

)
& ��!�	/ ��������"�
 ��� ��� ��� �$�����
� 8n�9 	�� 8n)9 � Nt : Ω �−→ N


���� ��� Σ�P(N)��
������� ���/�����& 8
���"�
 ��� ��
�	����� NJ : Ω �−→ NJ 4 ����
�� �"���� J := {t1, · · · , tn} 
���� ��� �
�
������� ����"���� ��� R+ 	�� πJtj : N

J �−→
N 
���� ����� � 	�����	� ������� ��� 	/�
 j ∈ {1, · · · , n}&
8a9 ' NJ 
���� ��� Σ�P(NJ)��
������� ��
�	�����&
��/����� ���� A ∈ P(NJ )4 ���� J = {t1, . . . , tn}4 ���
 A = NJ1 × B × NJ2 �

J1 = {t1, . . . , tk−1}4 J2 = {tk+1, . . . , tn} 	�� B ⊆ N& 
��


(NJ)
−1(A) = (NJ)

−1(NJ1 × B × NJ2) = (NJ)
−1
(
π−1
Jt (B)

)
= N−1

t (B) ∈ Σ.

8
���"�
 �� 	����$��	� �"���� C =
∏

i∈J Di ∈ P(NJ) �
 Di ∈ (N) ��� 	/�
 i ∈ J &

��


(NJ)
−1(C) = (NJ)

−1

(∏
i∈J

Di

)
= (NJ)

−1

(⋂
i∈J

π−1
Jti

(Di)

)
=
⋂
i∈J

N−1
J (π−1

Jti
(Di)) =

⋂
i∈J

N−1
t (Di) ∈ Σ.

�� �
 C �����������
 �� �"���� ���� ��� �
�������� 	����$��� ��� P(NJ ) 
���� ����
����� ��� σ(C) = P (NJ) 	�� ��� (NJ)

−1(C) ⊆ Σ& �������� ��� ��� ������� �J&; ��
���

+>



��� � NJ 
���� ��� Σ�P(NJ)��
������� ���/�����&
�

8b9 ' N 
���� ��� Σ�A(Ns)��
������� ��
�	�����&
E�������������� �� ���� 8a9 �� $
�(���
 ��� � ��
�	����� N : Ω �−→ Ns 
���� �
�������&
8
���"�
 ��� 	�����	�� �������� πJ : Ns �−→ NJ 4���� J := {t1, · · · , tn} ⊆ R+ 	�� ���
	����$��	� �"���� CJ =

∏
j∈J Bj × NR+\J ∈ A(Ns)& 
��
 ��� �� ���� 8a9 ��
��� ���

N−1 (CJ) = N−1

(∏
i∈I

Bi

)
= N−1

(⋂
i∈I

π−1
J (Bi)

)

=
⋂
j∈I

N−1
(
π−1
J (Bi)

)
=
⋂
j∈I

N−1
J (Bi) ∈ Σ.

�������� �� �
 Cs �����������
 �� �"���� ���� ��� �
�������� 	����$��� ��� A(Ns)

���� �������� ��� σ(Cs) = A(Ns) 	�� ��� N−1(Cs) ⊆ Σ& 
������� ��� ��� ������� �J&;
��
��� ��� � N 
���� ��� Σ�A(Ns)��
������� ���/�����&

�

/��������� �5�5* ������	��	/ � ���$
�(� ��� .������� @&+&- ����
� �� ���
� !����
�� !���� ��� �������� �J&; ���/ �
 ��� 
��!
����� ��������� 	�/���&

)�� ���� ����	/�� ��
�� ������"� ���� 
����� 	�� ��� ��� ������� @&+&+, ����
 Grandell
9+,<&

������� �5�5,  �� ����  ��	������ ���
��	� $��$�	���� {Nt}t∈R+ 	��
����  �� �"

���� ��������4 ������� κn (t)4 
/� 4 ��� 	/�
 t > 0 ��!"
�

pm,n (t, t+ h) =

⎧⎨⎩
1− κm (t) h+ o (h) , n = m
κm (t)h + o (h) , n = m+ 1
o (h) , n > m+ 1

��� h → 0+4���� pm,n (t, t + h) 
���� � ���������� �
�/����� ��� ��� 	��/����� m ��
!����	� ������ t ���� 	��/����� n �� !����	� ������ t+h 	�� κm (t) 
���� �� ������	��

	�� ���
!
�� ��������
�� 	�� o(h) ������ ���
 limh→∞
o(h)
h

= 0&

������� �5�5(  �� ���� ���
��	� $��$�	���� N 	��
����  �� �
���� Poisson ��"
����� θ4 �
 	������� Πθ : A(Ns) �−→ R4 ��

8a9 � Nt �!
� ��
(/����
� ������(��
�� 	��

8b9 � Nt −Ns �	�����
� ��� 	������� P(θ(t− s))&

:,



)�� n = 1, 2. . . .4 0 = t0 < t1 < . . . < tn4 0 = k0 ≤ k1 ≤ . . . ≤ kn4 	��

B := {ν ∈ Ns : ν(t1) = k1, . . . , ν(tn) = kn} ∈ A(Ns)

��!"
�

Πθ(B) =

n∏
i=1

(θ(ti − ti−1))
ki−ki−1

(ki − ki−1)!
· e−(ti−ti−1)θ.

/����������� �5�5. 8a9' �����/�� ������� 
���� ���" 
"	��� �� ���$
�!�
�& ��/��
���� ��� n = 0, 1, . . .4 0 = t0 < t1 < . . . < tn4 0 = k0 ≤ k1 ≤ . . . ≤ kn �� �
�������
 ��
�"����

B′ = {ν ∈ Ns : ν (t1)− ν (t0) = k1 − k0, ..., ν (tn)− ν (tn−1) = kn − kn−1} ,

��������"�
 ��� B = B′ ∈ A (Ns)& )�� �� �"���� B′ �����"�
 �� ���"�
 �"���� ���
������ B′

i := {ν ∈ Ns : ν (ti)− ν (ti−1) = ki − ki−1} ������ ���
4

B′ =
n⋂

i=1

B′
i.

�������� ��������"�
 ��� �� �"���� B′
i 
���� �"���� �� ����� �
���!��� ��� ������(��
��

���� $��$�	����� Poisson �� ����
� �"����� �
 ��� ������ 
���� ��
(/����
�& ��������4

Πθ(B) = Πθ(B
′) = Πθ

( n⋂
i=0

B′
i

)
=

n∏
i=1

Πθ(B
′
i)

=

n∏
i=1

(θ(ti − ti−1))
ki−ki−1

(ki − ki−1)!
· e−(ti−ti−1)θ,

���" ��� ��� ������ �!���
 ��� �� ������(��
�� �	������"� ��� 	������� Poisson&
8b9 ?���� N = {Nt}t∈R+ ��� ���
��	� $��$�	����& �� � N 
���� Poisson �"����� �

��� C����� :&-&+ � ��� C����� @&+&B ���
 
���� �� �������� 	�� �
 ��$
��	� ����������
�	��(��& 
� �
�
����� $���� EP [Nt] < ∞ ��� 	/�
 t ∈ R+&
8c9 ��� �� 8b9 ��
��� ��� �� � N = {Nt}t∈R+ 
���� ��� $��$�	���� Poisson �"����� �

��� C����� :&-&+ � �
 ��� C����� @&+&B4 ���
 	�� ���� $"� �
������
�� � N �	������
�
��� ������
�� ��� .������� @&+&-& ?��� ���� σ&$& Poisson �"����� �
 ���� �����/�
�� ������"� �� �����
� ”���� ���
��	� $��$�	����” 	�� ”σ&$& /��(�� ��� �������
��”
����������&

������� �5�5$ ' ��!��� �
������� Nt �	�����
� ��� ���������� 
�������
Poisson4 2����������� MP(t, U)34 �
 $���	� 	������� 2structure distribution3 U 
�
/�4

pk (t) := P (Nt = k) = E

[
(Θt)k

k!
· e−Θt

]
=

∫ ∞

0−

(θt)k

k!
· e−θtU (dθ) , k = 0, 1, . . . .

:+



/������ �5�5�3 )*��# Nt ��� ���� ��� ��	��� ����1,"�� " ����� ���,����� �"

MP(t, U)� (��� U ��
�� " ����
��� �"� �" � 
"����� ��	���� ����1,"��� Θ �� ���
�� μΘ ��� ������ � σ2

Θ� 0(���

�i� E [Nt] = tμΘ

�ii� V ar [Nt] = tμΘ + t2σ2
Θ

�iii� 1
t
P (Nt > n) =

∫∞
0

(θt)n

n!
e−θt (1− U (θ)) dθ

�iv� . ����
���
�� �� ��
� �"�" GNt (s) �"� Nt ��
���� ��( �" �	��"�

GNt (s) := E
[
sNt
]
= û (t (1− s)) , s ≤ 1,

(��� û (v) =
∫∞
0− e−θvdU (θ) � �����	"������(� Laplace �"� U �

*���,��
 ��� x ≥ 0 ��� ��� n = 0, 1, ... �
 ��
���
����� ��
 � ���( &�2�3� �",���

P (Θ ≤ x,Nt = n) :=

∫ x

0−

(θt)n

n!
e−θtU (dθ) .

0(���

�v� P (Θ ≤ x|Nt = n) =
∫ x
0− θne−θtU(dθ)∫∞
0− θne−θtU(dθ)

�vi� E [Θ|Nt = n] =
∫∞
0− θn+1e−θtdU(θ)∫∞
0− θne−θtdU(θ)

+�� ��<�5�i� ?�!���
 ��� E [Nt] = E [E [Nt|Θ]] = E [Θt]4 ���" ��� ��� ����
��
�!���
 ��� $������� ��� Θ � 	������� ��� Nt 
���� Poisson �
 ���/�
��� Θt&
��������

E [Nt] = E [Θt] = tE [Θ] = tμΘ.

�ii� #��$�!�	/ �!���


V ar [Nt] = E [V ar [Nt|Θ]] + V ar [E [Nt|Θ]] = E [Θt] + V ar [Θt]

?���0

V ar [Nt] = tμΘ + t2σ2
Θ

::



�iii� H�!"
�0

P (Nt > n) =

∫ ∞

0

∞∑
k=n+1

(θt)k

k!
e−θtdU (θ) = −

∫ ∞

0

∞∑
k=n+1

(θt)k

k!
e−θt (1− U (θ))′ dθ

=

[ ∞∑
k=n+1

(θt)k

k!
e−θt (1− U (θ))

]∞
0

+

∫ ∞

0

∞∑
k=n+1

(
(θt)k

k!
e−θt

)′

(1− U (θ)) dθ

=

∫ ∞

0

∞∑
k=n+1

(
(θt)k

k!
e−θt

)′

(1− U (θ)) dθ

=

∫ ∞

0

t

( ∞∑
k=n+1

(
(θt)k−1

(k − 1)!
e−θt − (θt)k

k!
e−θt

))
(1− U (θ)) dθ

= t

∫ ∞

0

(θt)n

n!
e−θt (1− U (θ)) dθ

��� ���$
�	�"
� �� 6���"�
��&
�iv� )�� ��� �������
������� ���/����� ��� ��!���� ���������� Nt �� �!���


GNt (s) = E
[
sNt
]
=

∞∑
k=0

skpk (t)

=

∫ ∞

0−

∞∑
k=0

sk
(θt)k

k!
e−θtdU (θ) =

∫ ∞

0−
esθte−θtdU (θ)

= û (t (1− s))

�v� #��$�!�	/ �!���
0

P (Θ ≤ x|Nt = n) =
P (Θ ≤ x,Nt = n)

P (Nt = n)
=

∫ x
0−

(θt)n

n!
e−θtU(dθ)∫∞

0−
(θt)n

n!
e−θtU(dθ)

=

∫ x
0− θne−θtU(dθ)∫∞
0− θne−θtU(dθ)

.

�vi� ��� ��� �����/�� ������� ���	"��
�4

E[Θ|Nt = n] :=

∫ ∞

0

xdP (Θ ≤ x|Nt = n) =

∫∞
0− θn+1e−θtU(dθ)∫∞
0− θne−θtU(dθ)

.

�

0"! ����)$� (�� ��. )�)��()6.� '��'�4���� Pois-

son

������� �5�5� ' σ&$ ������" ��� �������
�� {Nt}t∈R+ �!
�0

:@



8a9 #�� �#�;�
� ���<������� �����#<����� $
$������ ��� ��!���� �
������
��� 8 
/�4 ��� 	/�
 m ∈ N 	�� t0, t1, ..., tm ∈ R+ �
 0 = t0 ≤ t1 ≤ ... ≤ tm4 �
��	����
�� ��� ������(��
�� {Ntj −Ntj−1

}j∈{1,...,m} 
���� ��� �����	� ��
(/�����
$
$������ ��� 84 	��

8b9 #�� �#�;�
� �������� �����#<����� $
$������ ��� 8 
/�4 ��� 	/�
m ∈ N

	�� 0 = t0, t1, ..., tm, h ∈ R+ �
 t0 ≤ t1 ≤ ... ≤ tm4 � ��	����
�� ��� ������(��
��
{Ntj+h − Ntj−1+h}j∈{1,...,m} �!
� ��� �$�� ��� �����	� 	������� $
$������ ��� 8
�
 ��� ��	����
�� {Ntj −Ntj−1

}j∈{1,...,m}&

������� �5�5� ' σ&$ ������" ��� �������
�� {Nt}t∈R+ 
���� ��� ����������  ��"
 �
���� Poisson ��  ���
� ��������� Θ 2MPP(Θ) ��� ��������34 
/� ���
$������ ��!��� �
������� Θ �
 ��� �$������ PΘ

(
(0,∞)

)
= 1 � {Nt}t∈R+ �!
� ��� ����

��	� ��
(/����
� 	�� ��/���
� ������(��
�� $������� ��� Θ 	�� ��� 	/�
 t ∈ (0,∞)
��!"
�4

PNt|Θ = P (Θt) P |σ(Θ)− σ.β.

������� �5�5�  �� $��$�	���� �
����
�� N := {Nt}t∈R+ 	��
���� ����������
 �� �
���� Poisson 
��� Lundberg ��  ���
� ��������� U 2L-MPP(U)
��� ��������34 ��� � Nt �	�����
� ��� 	������� MP(t, U) ��� 	/�
 t ≥ 0 	�� ��� 	/����
	������� U &

������� �5�5)  �� ���
��	� $��$�	���� N := {Nt}t∈R+ 	��
���� ����������  ��"
 �
���� Poisson ��  ���
� ��������� U 2MPP(U) ��� ��������34 
/� � 	�������
��� $��
��� ��� �� �!���

PN (B) =

∫ ∞

0

Πθ (B)U (dθ) , ∀B ∈ A (Ns) ,

���� Πθ : A(Ns) �−→ R � 	������� ���� $��$�	����� Poisson4 PN : A(Ns) �−→ R

� ���/����� 	�������� ��� ���
��	�� $��$�	����� N 	�� N 4 A (Ns) 
���� ���� ���/
������	�� ���� C����� @&+&+&

/��������� �5�5* �� � N := {Nt}t∈R+ 
���� ��� MPP(U) ���
 
���� ���� ���
��	�
$��$�	����&
��/�����4 ��� ���
��	� $��$�	���� N 
���� ���� �� PN (Ns) = 1, ���" Ns ∈ A (Ns)&
��������4 
�����6����� ��� C����� @&:&- �!���


PN(Ns) =

∫ ∞

0−
Πθ(Ns)U (dθ) =

∫ ∞

0−
dU (θ) = 1.

?��� � N 
���� ��� ���� ���
��	� $��$�	����&

:-



������� �5�5, ?���� Θ ��� ��!��� �
������� 	�� Ñ := {Ñt}t∈R+ ��� ����	� $��$��
	���� Poisson �� ����
� 
���� ��
(/����
�& ' ���
��	� $��$�	���� N := {Nt}t∈R+ �


N := Ñ ◦ Θ4 ���� (Ñ ◦ Θ)t := ÑΘt ��� 	/�
 t ∈ R+4 ����/6
��� s"����������
 �� �
���� Poisson �� ��������� Θ 2s-MPP(Θ) ��� ��������3&

���" �"����� �
 ��� ���������� @&:&A 	/�
 MPP(U) 
���� ����4 ��
��� ��� 	/�
 s-
MPP(Θ) 
���� ����&

%6���� �5�5( C C������ @&:&: ��/�!
� ��� ������ ��� K.D. Schmidt 9@:< Chapter -&:
�
�& DB4 
�� �� C������ @&:&@4 @&:&- 	�� @&:&; ����������� ��� ������ ��� J. Grandell
9+,< �
�& ;+4 Definition -&: 	�� Definition -&@ ��������!�& C C������ @&:&- 
���� 
����/
�������������� �
 �!��� �
 
	
���� ��� Grandell ���" ���� C����� @&:&- �
���"�

�� ����	� !��� ��� Ns ���� ��� N ��� !���������
���� ��� 9+,<& C C������ @&:&@
�!
� 
���!�
� ��� ��� Lundberg 2 ��& 9:@< �
�& B:3& ���� ������������ ���� � ����
���� ��� Lundberg ��� 	�� � C������ @&:&- �!��� !�����������
� ��� ��� ����������
����
�
��/���4 �� ����� �"����� �
 ��� Grandell ���������& ���K��� ���/ $
� 
�!


(
����
� � ���$������ ��� ������� ��!�� �� +>D+& 
� +>D+ � Albrecht ���$
�(
 ��� 
�
���� ���$������ ��� 9+<&

0"0 �2(4���� �-. $���)7. ��� )�)��()6.�� '��8

'�4����� Poisson

��� (," �"
 �
(�"�� ��� ���,����� " ��	��� ����1,"�� Ñt ���,����� �"
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������ $��$�	���� Poisson 2�"����� �
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 ���
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� ����/�
�� 
����
���$"���
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2i3 ' N 
���� ��� ���� ���
��	� $��$�	����&

2ii3 ' N 
���� ��� σ.$& ��� ������" ��� �������
��&

+�� ��<�5 ����� ������ ��� ����� C�����"� @&:&@4 @&:&- 	�� @&:&; � {Nt}t∈R+ �	����
���
� ��� �����	� 8pp29 ��� C�����" @&+&+4 /�� � ���������� �	��(�� 
���� ��$
��	�&
���� C����� @&:&: ��!"
� ��� PNt|Θ=θ(Nt = ∞) = 0 ��� PΘ��!
$�� ��� �� θ ∈ R+4 ���"
EPNt|Θ=θ

[Nt] < ∞ ��� PΘ��!
$�� ��� �� θ ∈ R+& �������� �!���
 ���

P (Nt = ∞) =

∫
PNt|Θ=θ(Nt = ∞)PΘ(dθ) = 0.

:A



?��� 	/�
 MPP �!
� ��$
��	� ���������� �	��(��& �"����� �
 ��� ���������� @&+&D
8c9 � N 
���� �/��� �� ��������& ?���� �����"�
 �� 
���������
 �� .���� @&+&- ���
�� ���	�����
� � ���$
�(�&

�

/������ �5�5� �� � ����� &�%�& ��� &�%�4 ��
�� ����

�����

+�� ��<�5 C������ @&:&@ ⇒ C����� @&:&-& 8
���"�
 ��� �
���!�������� Laplace
��� U

û (t) :=

∫ ∞

0−
e−θtU (dθ) .

8a9 )�� 	/�
 n ∈ N 	�� t ≥ 0 ��!"
� pn (t) = (−1)n tn

n!
û(n) (t)&

��/�����4 ���" � Nt �	�����
� ��� MP(t, U) ��� 	/�
 t ≥ 0 	�� ��� 	/���� 	�������
U ��
��� ���4

pn (t) := P (Nt = n) =

∫ ∞

0−

(θt)n

n!
· e−θtU (dθ) .

?���

2@&+3 pn (t) =
tn

n!

∫ ∞

0−
θne−θtU (dθ)

��� ������ ������� ��� ���� �
���!��������"� Laplace 2�� �&!& 9B< 8ii9 �
�& -A,3
��
��� ��� �� û (t) =

∫∞
0− e−stU(ds) ���


2@&:3

∫ ∞

0−
sne−stU(ds) = (−1)n û(n) (t)

�������� �"����� �
 �� �����/�� ��� ��� 2@&+3 ��
��� ���

pn (t) =
tn

n!

∫ ∞

0−
θne−θtU (dθ)

(3.2)
=

tn

n!
(−1)n û(n) (t) .

8b9 )�� 	/�
 t ≥ 0 	�� n ∈ N ��!"
� � ���$����	� �!���

p′n (t) =
û(n+1) (t)

û(n) (t)
pn (t)−

û(n) (t)

û(n−1) (t)
pn−1 (t) ,

�
 ��!�	� ����

p′0 (t) =
û′ (t)
û (t)

p0 (t) .

��/����� ��� �� 8a9 ��� n = 0 ���	"��
� ��� p0 (t) = û (t) 	�� ��������6����� �!���


p′0 (t) = û′ (t) =
û′ (t)
û (t)

p0 (t) .

:;



�������� ��� 	/�
 n ∈ N ��� �� 8a9 ��������6����� �� ���� t ���	"��
� ���

p′n (t) =
[
(−1)n

tn

n!
û(n) (t)

]′
= (−1)n

tn

n!
û(n+1) (t) + (−1)n n

tn−1

n!
û(n) (t) .

#���$�

2@&@3 p′n (t) = (−1)n
tn

n!
û(n+1) (t) + (−1)n

tn−1

(n− 1)!
û(n) (t) .

��� �� �!��� 8a9 
������� �!���
 ���

pn (t)

û(n) (t)
= (−1)n

tn

n!
, n > 0,

	��
pn−1 (t)

û(n−1) (t)
= (−1)n−1 tn−1

(n− 1)!
, n > 1.

�������� ��� ��� 2@&@3 ��
��� ���

p′n (t) =
û(n+1) (t)

û(n) (t)
pn (t) + (−1) (−1)n−1 tn−1

(n− 1)!
û(n) (t) .

#���$�

p′n (t) =
û(n+1) (t)

û(n) (t)
pn (t)−

û(n) (t)

û(n−1) (t)
pn−1 (t) , ∀n ∈ N

8c9 )�� 	/�
 n ∈ N0 	�� t ≥ 0 � ������ ��� $��$�	����� �
����
�� {Nt}t∈R+ $��
��� ���
��� �"��

κn (t) =

∫∞
0

θn+1e−θtdU (θ)∫∞
0

θne−θtdU (θ)
.

��/�����4 ���" ��� ��� ����
�� �!���
 ��� � {Nt}t∈R+ 
���� ��� $��$�	���� �
����
�
�� ��
��� ��� � ���������� �
�/����� �� �	������
� ��� ��� 
(����
�� ��� Chapman-
Kolmogorov

2@&-3 pm,n(s, t+ h) =

n∑
k=0

pm,k(s, t)pk,n(t, t+ h).

)�� m = 0, s = 0 	�� n = 0 ��� ��� 2@&-3 ��
��� ���

p0(t+ h) =
0∑

k=0

pk(t)pk,0(t, t+ h) = p0(t)p0,0(t, t+ h) = p0(t)
(
1− κ0(t)h + o(h)

)
.

?���
p0 (t + h)− p0 (t) = −p0 (t) κ0 (t) h+ o (h) .

:B



��� ��� �����/�� �!��� �
��	/ ��� n = 0 ���	"��
�

2@&A3 p′0 (t) = −κ0 (t) p0 (t) .

��������!� ��� m = 0, s = 0 	�� 	/�
 n ∈ N ��� ��� 2@&-3 ��
��� ���

pn(t + h) =

n∑
k=0

pk(t)pk,n(t, t+ h)

=
n−2∑
k=0

pk(t)pk,n(t, t+ h) + pn−1(t)pn−1,n(t, t+ h) + pn(t)pn,n(t, t+ h)

= pn−1(t)
(
κn−1(t)h+ o(h)

)
+ pn(t)

(
1− κn(t)h + o(h)

)
+

n−2∑
k=0

pk(t)pk,n(t, t+ h).

?���
pn (t+ h)− pn (t) = −pn (t)κn (t) h+ pn−1 (t) κn−1 (t) h + o (h) .

��� ��� �
�
����� �!��� ��� 	/�
 n ∈ N �
��	/ ���	"��
� ���

2@&;3 p′n (t) = −κn (t) pn (t) + κn−1 (t) pn−1 (t) .

���	�������� ��� �!��
�� ��� ���$
�!��	�� ��� 8b9 	�� 2@&A342@&;3 	�� ���" ��� $��$��
	���� �
����
�� !���	����6
��� ����$�	/ ��� ��� ��������
�� κn (t)4 ��
��� ���

κ0 (t) = − û′ (t)
û (t)

	�� κn (t) = − û(n+1) (t)

û(n) (t)
, ∀n ∈ N.

#���$�

2@&B3 κn (t) = − û(n+1) (t)

û(n) (t)
, ∀n ∈ N0.

��� �� �!��� 2@&B3 	�� �� 8a9 ��
��� ���

κn (t) = − û(n+1) (t)

û(n) (t)

= −
(−1)−(n+1) ∫∞

0
θn+1e−θtU (dθ)

(−1)−n ∫∞
0

θne−θtU (dθ)

/��

κn (t) =

∫∞
0

θn+1e−θtdU (θ)∫∞
0

θne−θtU (dθ)
, ∀n ∈ N0

:D



8d9 ?���� ��� Ns = m ∈ N0 	���� 	�� � ���
��	� $��$�	���� {N∗
t }t∈R+ � ����� ���

	/�
 t, s ≥ 0 ���6
��� ��� �� �!���

N∗
t = Ns+t −Ns.

' {N∗
t }t∈R+ 
���� ��� $��$�	���� �
����
�� ��� ��� ����� ��!"
� ���

κ∗
n (t) = κm+n (s+ t) .

��/�����

p∗n,n(t, t+ h) = P (N∗
t+h = n|N∗

t = n)

= P (Ns+t+h −Ns = n|Ns+t −Ns = n)

= P (Ns+t+h = n+m|Ns+t = n +m)

= pm+n,m+n(s+ t, s+ t + h).

���/ ��� ��� ����
�� ��� �!���
 ��� � {Nt}t∈R+ 
���� ��� $��$�	���� �
����
�� 
�����
��� ��
��� ���

κ∗
n (t) = κm+n (s+ t) .

�������� � {N∗
t }t∈R+ 
���� ��� $��$�	���� �
����
�� ���" ��� $��$�	���� �
����
��

	�����6
��� ����������� ��� ��� 
��/�
�� ��� 	�� ����������&
8e9 ' {N∗

t }t∈R+ 
���� ��� �
�
������ $��$�	���� Poisson �
 ���/����� �����������

p∗n (t) = pm,n+m (s, s+ t) ,

��� 	/�
 n,m ∈ N0 	�� t, s ∈ R+ 	�� �
 $���	� ���/�
���

U∗ (x) =

∫ x
0− θme−θsU(dθ)∫∞
0− θme−θsU(dθ)

.

��/�����

p∗n (t) = P (N∗
t = n) = P (Ns+t = m+ n|Ns = m) = pm,m+n(s, s+ t).

��� ��� �!��
�� ��� ���$
�!��	�� ��� 8c9 	�� 8d9 	�� ���" � {Nt}t∈R+ 
���� ��� $��$��
	���� �������� ��
��� ���

κ∗
n(t) = κm+n(s+ t) =

∫∞
0− θm+n+1e−θ(s+t)U(dθ)∫∞
0− θm+ne−θ(s+t)U(dθ)

=

∫∞
0− θn+1e−θtU∗(dθ)∫∞
0− θne−θtU∗(dθ)

,

:>



���� U∗ (x) =
∫ x
0− θme−θsU(dθ)∫∞
0− θme−θsU(dθ)

& �������� � {N∗
t }t∈R+ 
���� ��� MPP(U∗)&

8f9 )�� 	/�
 n,m ∈ N0 �
 m ≤ n 	�� t, s ∈ R+ ��!"
� ���

pm,n(s, t) =
n!

m!(n−m)!

(s
t

)m(
1− s

t

)n−m pn(t)

pm(s)
.

��/�����4 ��� �� 8e9 ��
��� ��� pm,n(s, t) = p∗n−m(t − s)& ��������4 !��������������
�� �
����� ��� � {N∗

t }t∈R+ 
���� ��� MPP(U∗) ��
��� ���

pm,n(s, t) = p∗n−m(t− s) =

∫ ∞

0−

(θ(t− s))n−m

(n−m)!
· e−θ(t−s)U∗(dθ)

=

∫∞
0−

θn(t−s)n−m

(n−m)!
e−θtU(dθ)∫∞

0− θme−θsU(dθ)
=

(t− s)n−m

(n−m)!
·
∫∞
0− θne−θtU(dθ)∫∞
0− θme−θsU(dθ)

(3.2)
=

(t− s)n−m

(n−m)!
· (−1)nû(n)(t)

(−1)mû(m)(t)
=

(t− s)n−m

(n−m)!
· n!
m!

· s
m

tn
· pn(t)

pm(s)

=
sm

tn
· (t− s)n−m n!

m!(n−m)!
· pn(t)

pm(s)

=

[
sm

tn

n−m∑
k=0

(n−m)!

k!(n−m− k)!
tn−m−k(−1)ksk

]
n!

m!(n−m)!

pn(t)

pm(s)

=

[
sm

tn

(
tn−m +

n−m∑
k=1

(n−m)!

k!(n−m− k)!
tn−m−k(−1)ksk

)] n!

m!(n−m)!

pn(t)

pm(s)

=

[
sm

tm
+

n−m∑
k=1

(n−m)!

k!(n−m− k)!
t−m−k(−1)ksk+m

]
n!

m!(n−m)!

pn(t)

pm(s)

=

[
sm

tm

(
1 +

n−m∑
k=1

(n−m)!

k!(n−m− k)!
(−1)k

sk

tk

)] n!

m!(n−m)!

pn(t)

pm(s)

=

[(s
t

)m n−m∑
k=1

(n−m)!

k!(n−m− k)!
(1)n−m−k(−1)k)

(s
t

)k] n!

m!(n−m)!

pn(t)

pm(s)
.

��������

pm,n(s, t) =
n!

m!(n−m)!

(s
t

)m(
1− s

t

)n−m

· pn(t)

pm(s)
,

��� 	/�
 n,m ∈ N0 �
 m ≤ n 	�� t, s ∈ R+&
8g9 )�� 	/�
 �"���� B ∈ A (Ns)4 ��� ������

2@&D3 B = {ν ∈ Ns : ν (t1) = k1, ν (t2) = k2, ..., ν (tn) = kn} ,

@,



��� 	/�
 0 ≤ t1 ≤ . . . ≤ tn ∈ R+ 	�� k1 ≤ . . . ≤ kn ∈ N0 4 ��!"
�

PN(B) =

∫ ∞

0−
Πθ(B)U (dθ) , ∀B ∈ A (Ns) ��� ������ (3.8).

��/�����4 ��!�	/ 	/������ !���� ���  ��	������� �$������� 	�� ��� 8f9 ��
���

PN(B) = pk1(t1)pk1,k2(t1, t2)pk2,k3(t2, t3) · · · pkn−1,kn(tn−1, tn)

= pk1(t1)
k2!

k1!(k2 − k1)!

(t1
t2

)k1(
1− t1

t2

)k2−k1 pk2(t2)

pk1(t1)

· k3!

k2!(k3 − k2)!

(t2
t3

)k2(
1− t2

t3

)k3−k2 pk3(t3)

pk2(t2)

· · · kn!

kn−1!(kn − kn−1)!

(tn−1

tn

)kn−1
(
1− tn−1

tn

)kn−kn−1 pkn(tn)

pkn−1(tn−1)

= pkn(tn)

(
k2!

k1!(k2 − k1

k3!

k2!(k3 − k2
· · · kn!

kn−1!(kn − kn−1

)(
tk11
tk12

tk22
tk23

· · · t
kn−1

n−1

t
kn−1
n

)
(
(t2 − t1)

k2−k1

tk2−k1
2

(t3 − t2)
k3−k2

tk3−k2
3

· · · (tn − tn−1)
kn−kn−1

t
kn−kn−1
n

)

=

(
pkn(tn)

kn!

k1!

n∏
j=2

1

(kj − kj−1)!

)(
tk11

t
kn−1
n

tk2−k1
2 tk3−k2

3 · · · tkn−1−kn−2

n−1

)
(
(t2 − t1)

k2−k1

tk2−k1
2

(t3 − t2)
k3−k2

tk3−k2
3

· · · (tn − tn−1)
kn−kn−1

t
kn−kn−1
n

)

= pkn(tn)
kn!

k1!

tk11
tknn

n∏
j=2

(tj − tj−1)
kj−kj−1

(kj − kj−1)!
.

?���

2@&>3 PN(B) = pkn(tn)
kn!

tknn

n∏
j=1

(tj − tj−1)
kj−kj−1

(kj − kj−1)!
.

���/ ��� �� 8a9 ��
��� ���

pkn (tn) = (−1)kn
tknn
kn!

û(kn) (tn)

	�� /��

pkn (tn)
kn!

tknn
= (−1)kn û(kn) (tn) .

@+



�������� � �!��� 2@&>3 �� ���
�

PN(B) =

(
(−1)kn û(kn) (tn)

)(
n∏

j=1

(tj − tj−1)
kj−kj−1

(kj − kj−1)!

)

(3.2)
=

(∫ ∞

0−
θkne−θtndU(θ)

)(
n∏

j=1

(tj − tj−1)
kj−kj−1

(kj − kj−1)!

)

=

(∫ ∞

0−

n∏
j=1

θkj−kj−1e−θ(tj−tj−1)dU(θ)

)(
n∏

j=1

(tj − tj−1)
kj−kj−1

(kj − kj−1)!

)

=

∫ ∞

0−

n∏
j=1

(θ(tj − tj−1))
kj−kj−1

(kj − kj−1)!
· e−θ(tj−tj−1)dU(θ).2@&+,3

?��� ��� ��� 2@&+,3 	�� ����/������ ��K�5�� ��� ���������� @&+&D ��
��� ���

2@&++3 PN(B) =

∫ ∞

0−
Πθ(B)U (dθ) , ∀B ∈ A (Ns) ��� ������ (3.8).

8j9 ' �!��� 2@&++3 ��!"
� ��� 	/�
 �"���� ���� ��� A (Ns)&
��/�����4 �
���"�
 ��� ��	����
�� C ��� ����!
��� ��� A(Ns) ��� 
���� ��� ������
2@&D3& 8
���"�
 
����� ��� ��	����
�� ���������� D ��� Ns � ����� ���6
��� ��

D :=

{
B ∈ A (Ns) : PN(B) =

∫ ∞

0−
Πθ (B)U (dθ)

}
' ��	����
�� D 
���� ��/ 	�/�� Dynkin&
��/�����

8Dyn19 ���" � A (Ns) ��� ����
�� 
���� ��� ��/��
��� ��
��� ��� ∅ ∈ A (Ns)4 ����


PN (∅) =
∫ ∞

0−
Πθ (∅)U (dθ) .

��������4 ∅ ∈ D&

8Dyn29 ?���� A ∈ D4 ���
 �������� A ∈ A (Ns) 	�� /�� Ac ∈ A (Ns)4 ����
 $��$��
!�	/ �� �!���


PN(A
c) = PN(Ns \ A) = PN(Ns)− PN(A) = 1− PN(A)

= 1−
∫ ∞

0−
Πθ (A)U (dθ) =

∫ ∞

0−

(
1− Πθ (A)

)
U (dθ)

=

∫ ∞

0−

(
Πθ (Ns)− Πθ (A)

)
U (dθ) =

∫ ∞

0−
Πθ (A

c)U (dθ) ,

��K���� ��
��� ��� Ac ∈ D&

@:



8Dyn39 8
���"�
 ��� �	������� {An}n∈N ��/ $"� (���� ������� ��� D ��� ��� �����
��!"
� ���

⊎
n∈N An ∈ A (Ns)& #��$�!�	/ ������ �!���


PN

( ⊎
n∈N

An

)
=
∑
n∈N

PN(An) =
∑
n∈N

∫ ∞

0−
Πθ(An)U(dθ)

=

∫ ∞

0−

∑
n∈N

Πθ(An)U(dθ) =

∫ ∞

0−
Πθ

( ⊎
n∈N

An

)
U(dθ).

��������4
⊎

n∈N An ∈ D&

�"����� �
 ��� (Dyn1)4(Dyn2)4(Dyn3) ��
��� ��� � D 
���� ��� 	�/�� Dynkin& '
��	����
�� C ����
�
���� ��� ���� �
������
� ��� ��/��
���� A (Ns)4 ����
 σ (C) =
A (Ns)& �������� � C 
���� 	�
���� �� ��� ��� �
�
������
� �����4 ���" ���� �
��������
	����$��� 
���� �
�������� 	"���$���& ��������"�
 
����� ��� C ⊆ D ���" ��� 	/�

A ∈ C ��� ��� 2@&++3 ��
��� ���

PN (A) =

∫ ∞

0−
Πθ (A)U (dθ) .

�������� ��� �� 8
����� IJ&@ ��
��� ���

σ (C) = D = A (Ns) ,

����
4 ��� 	/�
 A ∈ A (Ns) ��!"
� � 2@&++3&

C������ @&:&-⇒ C����� @&:&@& )�� �� $
�(���
 ��� ���������� 	��
"����� ����
� ��!�	/
$
�(���
 ��� � ���
��	� $��$�	���� {Nt}t∈R+ 
���� ��� $��$�	���� �
����
�� 	���� 	��
��� � Nt �	�����
� ��� MP(t, U) ��� 	/�
 t ≥ 0 	�� ��� 	/���� 	������� U&
�"����� �
 �� ���������� @&:&A � σ&$& {Nt}t∈R+ 
���� ����&
8k9 ' $��$�	���� {Nt}t∈R+ 
���� ��� ���	������ ���
��	� $��$�	����&
��/�����4 ���� B ∈ A (Ns) 	�� {At1 , ..., Atm} ��� �	������� ����!
��� ��� A (Ns) �

t1 < · · · < tm & 
��


PN

(
B|

m⋂
j=i

Aj

)
=

∫ ∞

0−
Πθ

(
B|

m⋂
j=i

Aj

)
U (dθ)

=

∫ ∞

0−
Πθ(B|Am)U(dθ) = PN(B|Am),

���" � $��$�	���� Poisson 
���� ��� ���	������ $��$�	���� 	�� /��

Πθ

(
B|

m⋂
j=i

Aj

)
= Πθ (B|Am) .

@@



�������� � {Nt}t∈R+ 
���� ��� ���	������ ���
��	� $��$�	����&
8m9 ' {Nt}t∈R+ �	������
� ��� �!��
��

2@&+:3 pm,n (t, t+ h) = P (Nt+h = n|Nt = m) =

⎧⎪⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎪⎩

1− h · μΘ + o (h) , n = m

h · μΘ + o (h) , n = m+ 1

o (h) , n > m+ 1

,

���� μΘ 
���� � ���� ���� ��� ��!���� �
�������� Θ&
��������"�
 ���

P (Nt = n|Ns = m) =
1

P (Ns = m)
P (Nt = n,Ns = m)

=
1

P (Ns = m)
P (Nt −Ns = n−m,Ns = m)

=
1

P (Ns = m)

∫ ∞

0−

∫ ∞

0−
Πθ(Nt −Ns = n−m,Ns = m)U (dθ)U (dθ)

=
1

P (Ns = m)

∫ ∞

0−

∫ ∞

0−
Πθ(Nt−s = n−m)Πθ(Ns = m)U (dθ)U (dθ)

=
1

P (Ns = m)

∫ ∞

0−
Πθ(Nt−s = n−m)U(dθ) ·

∫ ∞

0−
Πθ(Ns = m)U(dθ)

=
P (Nt−s = n−m) · P (Ns = m)

P (Ns = m)
.

?���

2@&+@3 P (Nt = n|Ns = m) = P (Nt−s = n−m).

�������� ��� ��� 2@&+@3 �!���


P (Nt+h = n|Nt = n) = P (Nt+h−t = n− n) = P (Nh = 0)

=

∫ ∞

0−

(θh)0

0!
e−θhU (dθ) =

∫ ∞

0−

(
1− θh+ o(h)

)
U(dθ)

=

∫ ∞

0−
U (dθ)− h

∫ ∞

0−
θU (dθ) + o (h)

∫ ∞

0−
U (dθ) .

?���
P (Nt+h = n|Nt = n) = 1− h · μΘ + o(h),

@-



$���$� ��� m = n � �!��� 2@&+:3 �	������
����&
�������� ��� ��� 2@&+@3 �!���


P (Nt+h = n|Nt = n− 1) = P (Nt+h−t = n− (n− 1)) = PN(Nh = 1)

=

∫ ∞

0−

θh

1!
· e−θhU (dθ) =

∫ ∞

0−
θh ·
(
1− θh + o (h)

)
U (dθ)

= h ·
∫ ∞

0−
θU (dθ)− h2 ·

∫ ∞

0−
θ2U (dθ) + h · o(h) ·

∫ ∞

0−
θU (dθ) .

?���

P (Nt+h = n|Nt = n− 1) = h · μΘ + o(h),

$���$� ��� m+ 1 = n � �!��� 2@&+:3 �	������
����& 
���� ��� ��� 2@&+@3 �!���
4

P (Nt+h = n|Nt = m) = P (Nt+h−t = n−m) =

∞∑
k=2

P (Nh = k)

=

∞∑
k=2

∫ ∞

0−

(θh)k

k!
· e−θhU (dθ) =

∫ ∞

0−

∞∑
k=2

(θh)k

k!
· e−θhU (dθ)

=

∫ ∞

0−
o (h)U (dθ) = o (h) .

?���

P (Nt+h = n|Nt = m) = o(h),

$���$� ��� m+ 1 < n � �!��� 2@&+:3 �	������
����&
8l9 ' Nt �	�����
� ��� MP(t, U) ��� 	/�
 t ≥ 0 	�� ��� 	/���� 	������� U &
��/�����4 �
���"�
 �� �"����

Bk := {Nt = k} 	�� B̃k = {N(ω) ∈ Ns : Nt(ω) = k, ω ∈ Ω} ,

��� 	/�
 t ∈ R+ 	�� ��� 	/���� k ∈ N0& 
��
 Bk ∈ Σ4 B̃k ∈ A(Ns) 	��

P (Bk) = PN(B̃k) =

∫ ∞

0−
Πθ(B̃k)U (dθ)

=

∫ ∞

0−

(θ(t− t0))
k−k0

(k − k0)!
e−θ(t−t0)U(dθ).

��������4

2@&+-3 P (Bk) = PN(B̃k) =

∫ ∞

0−

(θt)k

k!
· e−θtU(dθ).

@A



���
������
 ��� 
�� B ∈ A(Ns) �� 
�$
!��
�� {N ∈ B} ∈ Σ&
?��� ��� ��� 8k948l9 	�� 8m9 ��
��� ��� � {Nt}t∈R+ 
���� ��� $��$�	���� �
����
�� �
����� �	�����
� ��� MP(t, U) ��� 	/�
 t ≥ 0 	�� ��� 	/���� 	������� U &

�

/����������� �5�5� 8a9 ' �����/�� ���$
�(� �����	
 �� ���	�������� ��� ������
9+,< �
�& ;+�;@4 ��� ����� ��/�!
� ���$
�(� ��!�� �� ���� 8g9& �"����� �
 ��� Grandell
�� 	
�� �� ����� ����!
 	��"���	
 ��� ��� Albrecht ��� 9+<& #����!�� $
� 	������
$����� �� ���"�
 �� ���	
	������ $�����
���4 ��� ���� ��� ���� ����������
 ���
���$
�(� ��� �
���"�
 ��� 
���� ��� ��
"�� ��� ���$
�(�� ��� Albrecht&
8b9 ���
������
 ��� �� ��!"
� ������$����
 ��� ���� C�����"� @&:&:4 @&:&@4 @&:&- 	��
@&:&; ��� ��� {Nt}t∈R+ ���
 �!���
 ��$
��	� ���������� �	��(��& �������� �"�����
�
 �� ������� @&@&+ �� C������ :&@&+ 	�� @&+&@ 8b9 
���� ���$"�����4 $���$� ��� σ.$&
��� ������" ��� �������
�� 
���� �	����� ��� ���� ���
��	� $��$�	����& �������� ����
����/�
�� @&@&- 	�� @&@&; ���� 
����� 	�� ��� 8
����� @&@&B �� �����
� σ.$& ��� ������"
��� �������
�� 	�� ���� ���
��	� $��$�	���� �����6�����&

/������ �5�5) �� � ����� &�%�% ��� &�%�5 ��
�� ����

�����

+�� ��<�5 C������ @&:&: ⇒ C����� @&:&;& ?���� ��� � {Nt}t∈R 
���� ��/ �
�
������
$��$�	���� Poisson �
 ���/�
���Θ � ����� �	������
� ��� C����� @&:&:& ���" � {Nt}t∈R+

�	������
� ��� C����� @&:&: ��
��� ��� �� �!
� ��� �����	� ��/���
� 	�� ��
(/����
�
������(��
�� 	�� ��� ��� 	/�
 t ≥ 0 �� ��!"
� � ������� PNt|Θ = P (tΘ) 4 P |σ (Θ)−σ.β&
H��$"���� ��� 	/�
 t > 0 	�� B ∈ A (Ns) �!���


PNt|Θ (B) =
∑

n∈B∩N0

e−tΘ (tΘ)n

n!
, P |σ (Θ)− σ.β,

��K���� ��
��� ���

PN t
Θ
|Θ (B) =

∑
n∈B∩N0

e−t (t)
n

n!
, P |σ (Θ)− σ.β,

	�� ���$"����

2@&+A3 PN t
Θ
|Θ (B) = P (1) (B), P |σ(Θ)− σ.β.

�� ��� 	/�
 t ≥ 0 ������
 Ñt := N t
Θ
���$"���� ��������
 ��� ÑtΘ = Nt ��� 	/�
 t > 0&

�������� ��� ��� 2@&+A3 ��� 	/�
 t > 0 �!���


2@&+;3 PÑt|Θ
= PÑt

, P |σ (Θ)− σ.β.

8a9 #"� ��!��
� �
�������� X4Y 
���� ��
(/����
�4 ��

2@&+B3 PX|Y = PX , P |σ (Y )− σ.β.

@;



��/�����4 ���� ��� ��!"
� � 2@&+B3& 
��
 ��� 	/�
 A×B ∈ B×B � ��� 	����" 	�������
��� X 	�� Y �� 
����

P(X,Y )(A× B) = P
(
X−1(A) ∩ Y −1(B)

)
=

∫
EP [χX−1(A)χY −1(B)|σ(Y )]dP

=

∫
Y −1(B)

PX|Y (A)dP
(3.17)
= PX(A)

∫
Y −1(B)

dP

= PX(A)PY (B) =
(
PX ⊗ PY

)
(A× B).

8
���"�
 ��� ��	����
�� D ���������� ��� B⊗B �


D =
{
E ∈ B⊗B : P(X,Y )(E) =

(
PX ⊗ PY

)
(E)
}
.

�������� B×B ⊆ D& ' ��	����
�� D 
���� ��� 	�/�� Dynkin& ��/�����
8Dyn19 �������� ∅ ∈ D ���"4

P(X,Y )(∅) = 0 = PX(∅)PY (∅) =
(
PX ⊗ PY

)
(∅)

8Dyn29 �������� ��� 	/�
 A ∈ D �!���
4(
PX ⊗ PY

)
(R \ A) =

(
PX ⊗ PY

)
(R)−

(
PX ⊗ PY

)
(A)

= P(X,Y )(R)− P(X,Y )(A) = P(X,Y )(R \ A).

�������� ��� 	/�
 A ∈ D ��
��� ��� Ac ∈ D&
8Dyn39 8
���"�
 ��� �	������� {An}n∈N ��/ $"� (���� ������� ��� D& #��$�!�	/
������ �!���
4(

PX ⊗ PY

)
(
⊎
n∈N

An) =
∑
n∈N

(
PX ⊗ PY

)
(An) =

∑
n∈N

P(X,Y )(An) = P(X,Y )(
⊎
n∈N

An).

�������� ��� 	/�
 �	������� (���� ��/ $"� 
�$
!������ ��� D ���	
� ���� D&
?��� �"����� �
 ��� 8Dyn1948Dyn2948Dyn39 � D 
���� ��� 	�/�� Dynkin&
�������� �� �"���� B×B 
���� 	�
���� ��� ��� �
�
������
� �����& �������� 
����
��6����� �� 8
����� IJ&@ ��
��� ��� B⊗B = D & ?��� �� ��!��
� �
�������� X 	�� Y

���� ��
(/����
�&

��� �� 8a9 	�� ��� 2@&+;3 ��
��� ��� ��� 	/�
 t > 0 �� ��!��
� �
�������� Ñt 	�� Θ 
����

��
(/����
�& ��������4 PÑt
= P (1) ��� 	/�
 t > 0 	�� 
������� � {Ñt}t∈R+ �!
� ��
�

(/����
� ������(��
��& ������ �"����� �
 �� .���� @&+&- � σ&$ {Nt}t∈R+ 
���� ����4


������� � σ&$ {Ñt}t∈R+ 
���� ����& ?��� � {Ñt}t∈R+ �	������
� ��� C����� @&:&;&

C������ @&:&; ⇒ C����� @&:&:& ?���� ��� � {Nt}t∈R+ 
���� ��� MPP ��� ��� C�����

@&:&; 4 $���$� Nt = ÑtΘ ��� 	/�
 t ≥ 04 ���� {Ñt}t∈R+ 
���� ��� $��$�	���� Poisson �


@B



���/�
��� + ��
(/����� ��� ��!���� �
�������� Θ& �������� ��� 	/�
 0 ≤ s < t ��
���
���4

P(Ñs,Ñt−Ñs)
= PÑt−Ñs

⊗ PÑs
.

' �����/�� �!��� �� �/����
 ��K�5�� ��� �� 8a9 �� ���
�4

P(Ñs,Ñt−Ñs)|Θ = PÑt−Ñs|Θ ⊗ PÑs|Θ, P |σ (Θ)− σ.β.,

����
 ����/������ ��K�5� ��� 2@&+;3 	�� ��� ÑtΘ = Nt ���	"��
�4

P(Ns,Nt−Ns)|Θ = PNt−Ns|Θ ⊗ PNs|Θ, P |σ (Θ)− σ.β.

��������4 � {Nt}t∈R+ �!
� ��� �����	� ��
(/����
� ������(��
�� ��� �� ����� P &
�������� ��� 	/�
 t ≥ 0 �!���
 ��� PÑt|Θ = P (1) , P |σ (Θ)− σ.β.4 ����
4
PNt|Θ = P (tΘ) , P |σ (Θ) − σ.β.& ��� �� �����/�� ��
��� ��� � {Nt}t∈R+ �!
� ���
�����	� ��/���
� ������(��
�� ��� �� ����� P &
�"����� �
 ��� �� �����/�� ��
��� ��� � {Nt}t∈R+ �	������
� ��� C����� @&:&:&

�

/��������� �5�5* ' ���$
�(� ��� �����/�� �������� ��/�!
� ��� 9:B< 2��& Re-
mark ,&-+3& ' ���$������ 
���� ������ ��� ���!����	�� $��$�	���
� Cox 2 ��& �&!& 9++<3
���� �������/6
��� ��� 
��
��� $�����
��	� ���$
�(�&

/������ �5�5, � � ���(� &�%�4 ������ ��( ��
 � ���( &�%�%�

+�� ��<�5 ?���� ��� � {Nt}t∈R+ �	������
� ��� C����� @&:&:4 $���$� �!
� ��� �����	�
��
(/����
� 	�� ��/���
� ������(��
�� 	�� ��� 	/�
 t > 0 �	������
� �� �!���4

PNt|Θ = P (tΘ) , P |σ (Θ)− σ.β.

8
���"�
 �� �"����

2@&+D3 B = {Nt1 = k1, Nt2 = k2, ..., Ntn = kn} .

)�� �� �"���� I $��$�!�	/ �!���


B = {Nt1 = k1, Nt2 = k2, ..., Ntn = kn} =
n⋂

i=1

{Nti = ki}

=
{
Nt1 −Nt0 = k1 − k0, Nt2 −Nt1 = k2 − k1, ..., Ntn −Ntn−1 = kn − kn−1

}
=

n⋂
i=1

{
Nti −Nti−1

= ki − ki−1

}
∈ Σ.

@D



��������

P

( n⋂
i=1

{Nti = ki}
)

= P

( n⋂
i=1

{
Nti −Nti−1

= ki − ki−1

})

=

∫
Ω

P

( n⋂
i=1

{
Nti −Nti−1

= ki − ki−1

}
|Θ(ω)

)
PΘ

(
dΘ(ω)

)
=

∫
R+

P

( n⋂
i=1

{
Nti −Nti−1

= ki − ki−1

}
|Θ(ω) = θ

)
PΘ

(
dθ
)
.

���/ ��� ����
�� �!���
 ��� � {Nt}t∈R+ �!
� ��� �����	� ��
(/����
� ������(��
��4
/��

P

( n⋂
i=1

{Nti = ki}
)

=

∫
R+

n∏
i=1

P
(
Nti −Nti−1

= ki − ki−1|Θ(ω) = θ
)
PΘ(dθ).

�������� ��� ��� ����
�� ��!"
� ���

PNt|Θ = P(tΘ), P |σ(Θ)− σ.β

	�� 
������� ��� 	/�
 0 ≤ s < t �� �!���


PNt−Ns|Θ = P
(
(t− s)Θ

)
, P |σ(Θ)− σ.β

?���4

2@&+>3 P
( n⋂

i=1

{Nti = ki}
)
=

∫
R+

n∏
i=1

eθ(ti−ti−1) ·
(
θ(ti − ti−1)

)ki−ki−1

(ki − ki−1)!
PΘ(dθ).

?���� B := {Nt1 = k1, . . . , Ntn = kn} 	�� B̃ := {N ∈ Ns : Nt1(ω) = k1, . . . , Ntn(ω) =

kn, ω ∈ Ω}& 
��
 B ∈ Σ 	�� B̃ ∈ A(Ns) ��� ��� 2@&+>3 ��
��� ���

P (B) = PN(B̃) =

∫
R+

Πθ(B̃)PΘ(dθ) ��� 	/�
 B ��� ������ 2@&+D3.

 
 ��� 
��!
����� ��������� 	�/��� ���� ��� ���� 8j9 ��� ���$
�(�� ��� ��������
@&@&: ���$
�	�"
��� ���

P (B) = PN(B̃) =

∫
R+

Πθ(B̃)PΘ(dθ) ��� 	/�
 B ∈ Σ.

�

?��
�� �����
�� ��� �����/�� ����� ����/�
�� ���/ 	�� ��� .������� @&+&- 
���� ��
�	������ �
����� !���	�������" ��� ��� �
�
�����
� $��$�	���
� Poisson&

@>



������� �5�5( ��� ��� σ.�� N := {Nt}t∈R+ ��# �
�� ���� ��(,������ ��	� ����
��

�i� 6�� 	�� ���� Θ : Ω �−→ R� ���� " N 
� ��
�� MPP(Θ)�

�ii� 6�� 	�� ����
��� U � ���� " N 
� ��
�� L-MPP(U)�

�iii� 6�� 	�� ����
��� U � ���� " N 
� ��
�� MPP(U)

�iv� 6�� 	�� ��� Θ : Ω �−→ R ��� ��� ������ σ.�� Poisson Ñ = {Ñt}t∈R+ �
��� �"�"
�"� Θ� ���� " N 
� ��
�� s-MPP(Θ)�

��� ���� �� ���
# ��	� ����
� ��	
��
 �� ������i� ⇐⇒ �iv���ii� ⇐⇒ �iii���i� =⇒ �iii��

������� �5�5. 
� �����/�� 8
����� $
� ��� $��
� ��/����� ��� ��� ���$������ ���
$�/����� C������ ��� ��� �
�
������ $��$�	���� Poisson 	���� �������
� �	��� ����	��
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P

(
k⋂

i=1

{Wi ≤ wi} |Nt = k
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���� ����
���	� �� ���� �� w1, ..., wk&
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���	� �� ���� �� w1, ..., wκ+1&

������� )5�5� ' ���
��	� $��$�	���� {Nt}t∈R+ 	��
���� ν����������� ������"
��
�  �� �
���� 2ν�MRP ��� ��������3 �!
��6��
�� �
 ��� ��	����
�� {Pỹ}ỹ∈Υ̃4 
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���� ��� ��	����
�� ������ ����������� ��� Σ 	�� ν 
���� ��� �����

����������� ��� B
(
Υ̃
)
:= σ ({P· (E) : E ∈ Σ}) ������ ���
 ��� ν �!
$�� ��� �� ỹ ∈ Υ̃

� $��$�	���� {Wn}n∈N �� 
���� Pỹ� �������&

���� C����� -&+&@ �� ��� ν��!
$�� ��� �� ỹ ∈ Υ̃ ��!"
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Fỹ(x) := Pỹ(Wi ≤ x) = 1− eθ(ỹ)x, x ≥ 0
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���� Pỹ���
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���� ��� �
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� 	���� � Nt ��� ����
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η =

{
1 , Z < ∞
0 , Z = ∞ ,

�
 P (η = 1) = q 	�� P (η = 0) = p := 1 − q& ' ��!��� �
������� η ����
� �� ���$
�
�
�
 ��� {Nt}t∈R+ �
 ��� �	������ �����4

Z =
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Z1 , η = 1
∞ , η = 0
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��& 
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���� �� �!
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�	��(��4 $���$� P (supn∈N Tn < ∞) = 0 � P (

⋃
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�"���� $
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t, Xt(ω)
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���� $
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>���� )5�5* )*��# q > 0� *�
 " ����
(�"�� P
(⋂k

i=1 {Wi ≤ wi} |Z = k
)

��
�� ����

��� ��� #� � �� �� w1, . . . , wk ��� ���� k ≥ 1� �(�� ����
��� (�� η = 1� " {Nt}t∈R+ �	��
�"
 ���(�"�� E�

+�� ��<�5 )�� 	/�
 k ≥ 1 ���	"��
� ���

P

( k⋂
i=1

{Wi ≤ wi} , Nt = k, η = 1

)
= P

( k⋂
i=1

{Wi ≤ wi} , Tk ≤ t < Tk+1, η = 1

)

= P

( k⋂
i=1

{Wi ≤ wi} ,
k∑

i=1

Wi ≤ t <
k+1∑
i=1

Wi, Z ≥ k

)
,

���� � ����� ������� ���	"��
� /�
�� ��� .���� :&@&-& ������6����� ���� ��� ����
���	�� ����������� ���� ��� �/�� �!��� ��
��� ���

P

( k⋂
i=1

{Wi ≤ wi} , Nt = k, η = 1

)
2-&+3

=

∞∑
j=0

P

( k⋂
i=1

{Wi ≤ wi} ,
k∑

i=1

Wi ≤ t <

k+1∑
i=1

Wi|Z = k + j

)
· P (Z = k + j).
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���� ����
���	� �� ���� ��
w1, ..., wk ��� ��� 	�� �� ����������&

�

>���� )5�5, ��� ���� k ≥ 1�

lim
t→∞

|P (A,Nt = k)− P (A,Z = k)| = 0

����(�� +� ��� A ∈ Σ�

+�� ��<�5 #������� ��� η = 1 4���
 limt→∞Nt = Z1, P − σ.β.& �������� /��" ��
Nt 	�� Z1 �������� ���� �	����
� ����� ��
��� ���

2-&:3 lim
u→∞

P (Nt = Z1, ∀t ≥ u) = 1.
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lim
u→∞

P (Nt = Z1, ∀t ≥ u) = 1

⇐⇒ ∀〈un〉n∈N ��� R+,

[
lim
n→∞

un = ∞ ⇒ lim
n→∞

P (Ntn = Z1, ∀tn ≥ un) = 1

]
.

?C��� ��� An := {Ntn = Z1 : tn ≥ un} ��
��� ��� � �	������� {An}n∈N 
���� �"(����4
/��

lim
n→∞

P (Ntn = Z1 : tn ≥ un) = P

(
lim
n∈N

{Ntn = Z1 : tn ≥ un}
)

= 1, $���� lim
n→∞

Ntn = Z1.

�������� ��� 	/�
 A ∈ Σ ��� ��� 2-&:3 ��
��� ���

|P (A,Nt = k)− P (A,Z1 = k)| = |P
(
(A ∩ {Nt = k}) \ (A ∩ {Z1 = k})

)
|

= |P
(
(A ∩ {Nt = k}) ∩ (A ∩ {Z1 = k})c

)
| = |P

(
(A ∩ {Nt = k}) ∩ (Ac ∪ {Z1 �= k})

)
|

= |P
(
A ∩ {Nt = k} ∩ {Z1 �= k}

)
|

= |P
(
(A ∩ {Nt = k} ∩ {Z1 �= k}) \ (A ∩ {Nt �= k} ∩ {Z1 = k})

)
|

= |P
(
A ∩ {Nt = k} ∩ {Z1 �= k})− P (A ∩ {Z1 = k} ∩ {Nt �= k}

)
|

= |P
(
(A ∩ {Nt = k} ∩ {Z1 �= k}) ∩ (Ac ∪ {Nt = k} ∪ {Z1 �= k})

)
|

= |P
(
A ∩ {Nt = k} ∩ {Z1 �= k}

)
| ≤ 2P (Nt �= Z1)→0,

	���� t → ∞&
)�� η = 0 ��
��� ��� limt→∞ Nt = Z = ∞ 	�� 
���� �������� ���

lim
t→∞

|P (A,Nt = kt)− P (A,Z = ∞)| = 0

���� kt ��� �"(���� 	�� �� �������� ���/���� ��� t&
�

>���� )5�5( )*��# q < 1� �(�� ����
��� η = 0 " {Nt}t∈R+ �	�� �"
 ���(�"�� E �
 ���

�(
� �
 " P
(⋂k

i=1 {Wi ≤ wi} |η = 0
)

��
�� ������ ��� #� � � �� w1, ..., wk ��� ����

k ≥ 1�
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+�� ��<�5 ?���� ��� $������� η = 0 � {Nt}t∈R+ �!
� ��� �$������ E& 
��


P

( k⋂
i=1

{Wi ≤ wi}
)

=

∞∑
j=0

P

( k⋂
i=1

{Wi ≤ wi} , Nt = k + j

)

+P

( k⋂
i=1

{Wi ≤ wi} , Nt < k

)
.

�� �/����
 �� ���� ��� $
(��" ������ ��� �����/�� �!���� ��� t �� �
��
� ��� /�
���
���	"��
� ���

P

( k⋂
i=1

{Wi ≤ wi}
)

= lim
t→∞

∞∑
j=0

P

( k⋂
i=1

{Wi ≤ wi} , Nt = k + j

)

+ lim
t→∞

P

( k⋂
i=1

{Wi ≤ wi} , Nt < k

)

=
∞∑
j=0

P

( k⋂
i=1

{Wi ≤ wi} , limt→∞Nt = k + j

)

+P

( k⋂
i=1

{Wi ≤ wi} , limt→∞Nt < k

)
.

#���$�

2-&@3 P

( k⋂
i=1

{Wi ≤ wi}
)

=

∞∑
j=0

P

( k⋂
i=1

{Wi ≤ wi} , limt→∞Nt = k + j

)
.

���/ �� $
(� ����� ��� 2-&@3 
���� ����
���	� ��� ���� 	�� �� ����������&

�����������4 ���� ��� � P
(⋂k

i=1 {Wi ≤ wi} |η = 0
)

���� ����
���	� �� ��� �� w1, ..., wk

��� 	/�
 k ≥ 1& 
��
 $��$�!�	/ �!���


P

( k⋂
i=1

{Wi ≤ wi} , Nt = k, η = 0

)
= P

( k⋂
i=1

{Wi ≤ wi} , Nt = k|η = 0

)
· P (η = 0)

= p · P
( k⋂

i=1

{Wi ≤ wi} , Nt = k|η = 0

)
,

���� p := 1− q& ?���

P

( k⋂
i=1

{Wi ≤ wi} , Nt = k, η = 0

)
2-&-3

= p · P
( k⋂

i=1

{Wi ≤ wi} ,
k∑

i=1

Wi ≤ t <

k+1∑
i=1

Wi|η = 0

)
.
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��� ���� 	�� �� ����������&

�

%/������ !���� ��� .������� -&+&B 	�� ��� 8
�������� de Finetti 2��& ���/����
�� #?3 ���	"��
� �� �	������ ������� ��� !���	����6
� ��� �
�
�����
� ����
���	��
$��$�	���
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/������ )5�5. )*��# (�� �� ��� � ����
(�"��� P ��
�� ��,��� ��� " Σ ��
�� � ��������
�� ��(��
"� '
 q < 1� �(�� ����
��� η = 0� " {Nt}t∈R+ �	�� �"
 ���(�"�� E �
 ��� �(
�
�
 ��
�� ��� ν�MRP�

+�� ��<�5 ?���� q < 1 	�� ��� $������� ��� η = 0 � {Nt}t∈R+ �!
� ��� �$������

E& H��$"���� ��� �� .���� -&+&B � P
(⋂k

i=1 {Wi ≤ wi} |η = 0
)

���� ����
���	� ��

��� �� w1, ..., wk ��� 	/�
 k ≥ 1 
������� 
���� ��� ������/(��� σ.$& 	�� �"����� �

�� �
����� de Finetti 2��& 8
����� #J&+ 	�� 8
����� A&@&:3� {Nt}t∈R+ �� 
���� ���
ν�MRP&
����������� �� � {Nt}t∈R+ 
���� ��� ν�MRP ��
��� /�
�� �� ����������& �

/��������� )5�5$ ' ����
��4 ��� �� P 
���� ���
�� 	�� � Σ ���������� �������
��4
$
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��� ��� Huang& ?C��� ����/!����� � ����
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�� 
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� ����	/�� �
����� 
���� /�
�� �����
�� ��� ����� .���/��� ��� ���$
�!��	�� �

���� ��� 
������&

������� )5�5�3 �i� )*��# 0 < q < 1� �(�� " {Nt}t∈R+ �	�� �"
 ���(�"�� E �
 ���

�(
� �
 " P
(⋂k

i=1{Wi ≤ wi}|η = j
)
��
�� ������ ��� #� � �� �� w1, · · · , wk ���

k ≥ 1 ��� j = 0, 1�

�ii� )*��# q > 0� �(�� �� �� ����# � ������� ��
�� ����

����

8a9 ����
��� η = 1 " {Nt}t∈R+ �	�� �"
 ���(�"�� E�

8b9 " P (
⋂k

i=1 {Wi ≤ wi} |Z = k) ��
�� ������ ��� #� � �� �� w1, ..., wk ��� ����
k ≥ 1�

8c9 ��� ���� k ≥ 1� ����
��� (�� Z = k " {Nt}t∈R+ �	�� �"
 ���(�"�� E�

+�� ��<�5 �i� ?���� ��� � {Nt}t∈R+ �!
� ��� �$������ E4 ���
 ��� η = 1 ��!"
�

P

( k⋂
i=1

{Wi ≤ xi} |η = 1

)
= P

( k⋂
i=1

{Wi ≤ wi} | lim
t→∞

Nt = k

)
,
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��� 	/���� k ≥ 1& .��� ��� .������� -&+&; ��
��� ���

2-&A3 P

( k⋂
i=1

{Wi ≤ xi} |η = 1

)
= lim

t→∞
P

( k⋂
i=1

{Wi ≤ xi} |Nt = k

)
.


� $
(� ����� ��� 2-&A3 ��� ��� ����
�� ��� 
���� ����
���	� �� ���� �� w1, ..., wk&
�������� � {Nt}t∈R+ $������� ��� η �!
� ��� �$������ E&
�����������4 ���� ��� ��� η = 1 � {Nt}t∈R+ �!
� ��� �$������ E& ��� �� .���� -&+&;
���	"��
� ���

lim
t→∞

P

( k⋂
i=1

{Wi ≤ wi} |Nt = k

)
= P

( k⋂
i=1

{Wi ≤ wi} | lim
t→∞

Nt = k

)
2-&;3

= P

( k⋂
i=1

{Wi ≤ wi} |η = 1

)
.

�������� ���" �� $
(� ����� ��� 2-&;3 
���� ����
���	�4 �� �$�� ��!"
� 	�� ��� �� �����
��
�����& )�� η = 0 � ���$
�(� ��� �i� 
���� �����
�� ��� .������� -&+&B&
�ii� 8a9⇒ 8b9& ?���� ��� $������� η = 1 � {Nt}t∈R+ �!
� ��� �$������ E � ���$"����

��� � P

(⋂k
i=1 {Wi ≤ wi} |η = 1

)

���� ����
���	� �� ���� �� w1, ..., wk ��� 	/�
 k ≥ 1&

��������

P

( k⋂
i=1

{Wi ≤ xi} |Z = k

)
= P

( k⋂
i=1

{Wi ≤ wi} | lim
t→∞

Nt = k

)

= P

( k⋂
i=1

{Wi ≤ wi} |η = 1

)
.

?��� ��!"
� �� 8b9&
8b9⇒ 8c9& ��� ��� ����
�� ��� ��
��� ��� � P (

⋂k
i=1 {Wi ≤ xi} |Z = k) 
���� ����
�

���	� �� ���� �� w1, ..., wk ��� 	/�
 k ≥ 14 ���/

P

( k⋂
i=1

{Wi ≤ wi} |Z = k

)
= P

( k⋂
i=1

{Wi ≤ wi} | lim
t→∞

Nt = k

)

= lim
t→∞

P

( k⋂
i=1

{Wi ≤ wi} |Nt = k

)
,

���� .������� -&+&A& ���/ ��� ��� �����/�� ������
� ��������"�
 ��� �
P (
⋂k

i=1 {Wi ≤ xi} |Nt = k) 
���� ����
���	� �� ���� �� w1, ..., wk ��� 	/�
 k ≥ 1 	��

������� ��!"
� �� 8c9&

-B



8c9⇒ 8a9& ?���� ��� ��� 	/�
 k ≥ 14 $������� ��� Z = k � {Nt}t∈R+ �!
� ��� �$������
E4 
�������

P

( k⋂
i=1

{Wi ≤ wi} |η = 1

)
= P

( k⋂
i=1

{Wi ≤ wi} | lim
t→∞

Nt = Z1

)

= P

( k⋂
i=1

{Wi ≤ xi} |Z = Z1

)

= P

( k⋂
i=1

{Wi ≤ xi} |Z = k

)
,

��� 	/���� k ∈ N& ���/ �� $
(� ����� ��� �����/�� �������� ��� ��� ����
�� ��� 
����
����
���	� �� ���� �� w1, ..., wk 
������� ��!"
� �� 8a9&

�

3"! ���4$9��.6� MRPs


� �	������ �
����� !���	����6
�  ��	������� ����
���	�� ���!����	�� $��$�	���
�
	�� �����	
 ��� 9+A< Theorem : ��� ����� ���� $
� $��
��� ���$
�(�& ��
�$� �� 8
�����
-&:&: ����
�
� �
��	
��� ����" 	���
��� �	����� �� ����������
 ��� ���$
�(�&

������� )5�5� '
 {Nt}t∈R+ ��
�� ��� �
�
�#���� σ.�� " ����� � �7���� ���# �"�
���	������� ����������� �#
 �
������#
 	 (
#
 ��+�
��"� �#
 ��������#
 {Wn}n∈N
�"� ������ " ��
� �"�" ����
���� F (t) ���������� (�� ��
�� ���,
�� ��
�	��� �(�� "
{Nt}t∈R+ ��
�� ��� ���������� Markov �
 ��� �(
� �
 ��
�� ��� ���������� Poisson�

+�� ��<� )�� 	/�
 0 < u < t 	�� v > 0 �
���"�
 ��� ���������� P (Nt−u = Nt =
Nt+v = 1)& ��� ��� ����
�� ��� � {Nt}t∈R+ 
���� ��� $��$�	���� Markov 
�������

P (Nt−u = Nt = Nt+v = 1) = P (Nt+v = 1|Nt = Nt−u = 1)P (Nt−u = Nt = 1)

= P (Nt+v = 1|Nt = 1)P (Nt−u = Nt = 1),

/��

P (Nt−u = Nt = Nt+v = 1)

P (Nt−u = Nt = 1)
=

P (Nt = Nt+v = 1)

P (Nt = 1)
,

� ���$"����

2-&B3
P (Nt−u = Nt+v = 1)

P (Nt−u = Nt = 1)
=

P (Nt = Nt+v = 1)

P (Nt = 1)
.

-D



H��$"���� ��� ��� �!��� 2:&+3 	�� �� .���� :&@&-4 � 2-&B3 ����
� �� ����
� ���� �	��
����� �����

P (W1 ≤ t− u < t+ v < W1 +W2)

P (W1 ≤ t− u < t < W1 +W2)
=

P (W1 ≤ t < t + v < W1 +W2)

P (W1 ≤ t < W1 +W2)

	�� 	/������ !���� ��� ������� ��� ��� 8
���� ������� �!���

A ∩B = A \ (A ∩ Bc)

��� A,B $"� �"���� ��
��� ���

P (W1 ≤ t− u)− P (W1 ≤ t− u, t+ v ≥ W1 +W2)

P (W1 ≤ t− u)− P (W1 ≤ t− u, t ≥ W1 +W2)

=
P (W1 ≤ t)− P (W1 ≤ t, t+ v ≥ W1 +W2)

P (W1 ≤ t < W1 +W2)

� ���$"���� ���

P (W1 ≤ t− u)− P (W1 ≤ t− u, t+ v −W1 ≥ W2)

P (W1 ≤ t− u)− P (W1 ≤ t− u, t−W1 ≥ W2)

=
P (W1 ≤ t)− P (W1 ≤ t, t+ v −W1 ≥ W2)

P (W1 ≤ t)− P (t ≥ W1 +W2)

$���$�

∫ t−u

0
F (dx)−

∫ t−u

0

∫ t+v−x

0
F (dy)F (dx)∫ t−u

0
F (dx)−

∫ t−u

0

∫ t−x

0
F (dy)F (dx)

=

∫ t
0
F (dx)−

∫ t
0

∫ t+v−x

0
F (dy)F (dx)∫ t

0
F (dx)−

∫ t
0
F (t− x)F (dx)

/��

2-&D3

∫ t−u

0
G(t+ v − x)G(dx)∫ t−u

0
G(t− x)G(dx)

=

∫ t
0
G(t+ v − x)G(dx)∫ t
0
G(t− x)G(dx)

,

���� G := 1 − F & ��������"�
 ��� �� $
(� ����� ��� 2-&D3 
���� ��
(/����� ��� ���
�������� u 
������� 	�� � ���/����� ��� �� ���� u �� 
���� ��� �
 ,& ��������

(��������� ��� ���/���� ��� �����
��" ������ ��� 2-&D3 �
 �� ��$�� ��
��� ���

[
G(u+ v)G′(t− u)

][ ∫ t−u

0

G(t− x)G(dx)
]

−
[ ∫ t−u

0

G(t+ v − x)G(dx)
][
G(u)G′(t− u)

]
= 0

->



� ���$"����

2-&>3

∫ t−u

0
G(t+ v − x)G(dx)∫ t−u

0
G(t− x)G(dx)

=
G(u+ v)G′(t− u)

G(u)G′(t− u)
.

���" �� �����
�� ����� ��� 2-&>3 
���� ��
(/����� ��� u �� �$�� �� ��!"
� 	�� ��� ��
$
(�4 
������� ��� u = 0 	�� u = t ���	"��
� � �������

G(t+ v)G′(0)
G(t)G′(0)

=
G(v)G′(t)
G(0)G′(t)

� ���$"����

2-&+,3
G(t + v)G′(0)
G(v)G′(t)

=
G(t)G′(0)

G′(t)
.

�	���������� ��� �$�� $��$�	���� ���� ��������"�
 ��� �� $
(� ����� ��� 2-&+,3 
����
��
(/����� ��� v ��
��� ���

G(t + v)G′(0)
G(v)G′(t)

=
G′(t+ v)G′(0)
G′(v)G′(t)

.


� $
(� ����� ��� �����/�� �!��� 
���� ��
(/����� ��� v 
������� ��� v = 0 �
��	/
���	"��
� ���

2-&++3
G(t + v)G′(0)
G(v)G′(t)

=
G(t)G′(0)

G′(t)
=

G′(t)G′(0)
G′(0)G′(t)

= 1

���" �� Wi 
���� �������& ��� ��� 2-&++3 ��
��� ���

G(t)G′(0)−G′(t) = 0, ∀t > 0

� ���$"���� ���
G(t) = eG

′(0)t, ∀t > 0.

��������4 ��� 	/�
 n ∈ N0 � σ.$& ��� 
�$�/�
��� !����� {Wn}n∈N0 �� �	������
� ���
�!��� PWn = Exp(G′(0)) 	�� /�� �"����� �
 �� ������� :&-&- � {Nt}t∈R+ �� 
���� ���
$��$�	���� Poisson&

�

������� )5�5� '
 " {Nt}t∈R+ ��
�� ��� ν�MRP �� �	���7(��
" ������
��� ��� #

����
(�"��� {Pỹ}ỹ∈Υ̃ ��� ����,��
� ���������� (��

(∗) ��� �	��(
 (,� �� ỹ ∈ Υ̃� " Fỹ (t) ��
�� ��
�	�� ���+� ����" ��� (0,∞) ��� 0 <
F ′
ỹ (t) < C ��� ���� t ∈ R+ ��� C < ∞�

0(�� " {Nt}t∈R+ ��
�� ��� ���������� Markov �
 ��� �(
� �
 " {Nt}t∈R+ ��
�� ���
MPP(U)�

A,



+�� ��<�5 ?���� ��� � {Nt}t∈R+ 
���� ��� MPP& ��� ��� ������� @&@&: ��
��� ��� �
{Nt}t∈R+ 
���� ��� MPP �"����� �
 ��� C����� @&:&@ 	�� /�� ��� $��$�	���� Markov&
�����������4 ���� ��� � {Nt}t∈R+ 
���� ���  ��	������ MRP& ��� �� �����	� (∗)
�!���
 ��� ��� 	/�
 t > 0 ��!"
� ��� 0 < Fỹ (t) < 14 σ.�& & H�!"
�

2-&+:3 P (Nt = 1) = Eν

[ ∫ t

0

(1− Fỹ(t− s))F ′
ỹ(s)ds

]
.

��/�����

P (Nt = 1) =

∫
Pỹ(Nt = 1)ν(dỹ) =

∫
Pỹ(T1 ≤ t < T2)ν(dỹ)

=

∫
Pỹ(T1 ≤ t)− Pỹ(T2 ≤ t)ν(dỹ)

=

∫
Pỹ(T1 ≤ t)ν(dỹ)−

∫
Pỹ(T2 ≤ t)ν(dỹ)

=

∫
Pỹ(W1 ≤ t)ν(dỹ)−

∫
Pỹ(W1 +W2 ≤ t)ν(dỹ)

=

∫
Fỹ(t)ν(dỹ)−

∫
F 2∗
ỹ (t)ν(dỹ) = Eν [Fỹ(t)− F 2∗

ỹ (t)]

= Eν

[
Fỹ(t)−

∫ t

0

Fỹ(t− s)dFỹ(s)
]
= Eν

[ ∫ t

0

dFỹ(s)−
∫ t

0

Fỹ(t− s)dFỹ(s)
]
.

��������

P (Nt = 1) = Eν

[ ∫ t

0

(1− Fỹ(t− s))F ′
ỹ(s)ds

]
,

��K���� ��������"�
 ��� P (Nt = 1) > 04 ��� 	/���� t > 0& #���
"����� �
 ��� �$��
����� �����"�
 �� $
�(���
 ��� P (Nt = 2) > 0&

A+



��/�����

P (Nt = 2) =

∫
Pỹ(Nt = 2)ν(dỹ) =

∫
Pỹ(T2 ≤ t < T3)ν(dỹ)

=

∫
Pỹ(T2 ≤ t)− Pỹ(T3 ≤ t)ν(dỹ)

=

∫
Pỹ(T2 ≤ t)ν(dỹ)−

∫
Pỹ(T3 ≤ t)ν(dỹ)

=

∫
Pỹ(W1 +W2 ≤ t)ν(dỹ)−

∫
Pỹ(W1 +W2 +W3 ≤ t)ν(dỹ)

=

∫
F 2∗
ỹ (t)ν(dỹ)−

∫
F 3∗
ỹ (t)ν(dỹ) = Eν [F

2∗
ỹ (t)− F 3∗

ỹ (t)]

= Eν

[ ∫ t

0

Fỹ(t− x)Fdỹ(s)−
∫ t

0

F 2∗
ỹ (t− x)Fỹ(dx)

]

= Eν

[ ∫ t

0

(
Fỹ(t− x)− F 2∗

ỹ (t− x)
)
Fỹ(dx)

]

= Eν

[ ∫ t

0

(∫ t−x

0

Fỹ(dy)−
∫ t−x

0

Fỹ(t− x− ω)Fỹ(dω)

)
Fỹ(dx)

]
.

��������

P (Nt = 2) = Eν

[ ∫ t

0

∫ t−x

0

(
1− Fỹ(t− x− ω)

)
Fỹ(dω)Fỹ(dx)

]
,

��K���� ��������"�
 ��� P (Nt = 2) > 04 ��� 	/���� t > 0&
)�� 	/�
 0 < u < t 	�� v > 0 �
���"�
 ��� ���������� P (Nt−u = Nt = Nt+v = 1)& ���
��� ����
�� ��� � {Nt}t∈R+ 
���� ��� $��$�	���� Markov 
�������

P (Nt−u = Nt = Nt+v = 1) = P (Nt+v = 1|Nt = Nt−u = 1)P (Nt−u = Nt = 1)

= P (Nt+v = 1|Nt = 1)P (Mt−u = Mt = 1),

/��

P (Nt−u = Nt = Nt+v = 1)

P (Nt−u = Nt = 1)
=

P (Nt = Nt+v = 1)

P (Nt = 1)
,

� ���$"����

2-&+@3
P (Nt−u = Nt+v = 1)

P (Nt−u = Nt = 1)
=

P (Nt = Nt+v = 1)

P (Nt = 1)
.

A:



H��$"���� ��� ��� �!��� 2:&+3 	�� �� .���� :&@&-4 � 2-&+@3 ����
� �� ����
� ����
�	������ �����

P (W1 ≤ t− u < t+ v < W1 +W2)

P (W1 ≤ t− u < t < W1 +W2)
=

P (W1 ≤ t < t + v < W1 +W2)

P (W1 ≤ t < W1 +W2)

	�� 	/������ !���� ��� ������� ��� ��� 8
���� ������� �!���

A ∩B = A \ (A ∩ Bc)

��� A,B $"� �"���� ��
��� ���

P (W1 ≤ t− u)− P (W1 ≤ t− u, t+ v ≥ W1 +W2)

P (W1 ≤ t− u)− P (W1 ≤ t− u, t ≥ W1 +W2)

=
P (W1 ≤ t)− P (W1 ≤ t, t+ v ≥ W1 +W2)

P (W1 ≤ t < W1 +W2)

� ���$"���� ���

P (W1 ≤ t− u)− P (W1 ≤ t− u, t+ v −W1 ≥ W2)

P (W1 ≤ t− u)− P (W1 ≤ t− u, t−W1 ≥ W2)

=
P (W1 ≤ t)− P (W1 ≤ t, t+ v −W1 ≥ W2)

P (W1 ≤ t)− P (t ≥ W1 +W2)

$���$�

Eν [
∫ t−u

0
Fỹ(dx)]− Eν [

∫ t−u

0

∫ t+v−x

0
Fỹ(dy)Fỹ(dx)]

Eν [
∫ t−u

0
Fỹ(dx)]− Eν [

∫ t−u

0

∫ t−x

0
Fỹ(dy)Fỹ(dx)]

=
Eν [
∫ t
0
Fỹ(dx)]− Eν [

∫ t
0

∫ t+v−x

0
Fỹ(dy)Fỹ(dx)]

Eν [
∫ t
0
Fỹ(dx)]− Eν [

∫ t
0
Fỹ(t− x)Fỹ(dx)]

/��

2-&+-3
Eν

[ ∫ t−u

0
Gỹ(t+ v − x)Gỹ(dx)

]
Eν

[ ∫ t−u

0
Gỹ(t− x)Gỹ(dx)

] =
Eν

[ ∫ t
0
Gỹ(t+ v − x)Gỹ(dx)

]
Eν

[ ∫ t
0
Gỹ(t− x)Gỹ(dx)

] .

��������"�
 ��� �� $
(� ����� ��� 2-&+-3 
���� ��
(/����� ��� ���������� u 
������� 	��
� ���/����� ��� �� ���� u �� 
���� ��� �
 ,& ��������4 
(��������� ��� ���/���� ���
�����
��" ������ ��� 2-&+-3 �
 �� ��$�� 	�� 
�����6����� �� 8
����� %�����!������
�"�	����� �!���
 ���

A@



Eν

[
Gỹ(u+ v)G′

ỹ(t− u)
]
Eν

[ ∫ t−u

0

Gỹ(t− x)Gỹ(dx)
]

−Eν

[ ∫ t−u

0

Gỹ(t+ v − x)Gỹ(dx)
]
Eν

[
Gỹ(u)G

′
ỹ(t− u)

]
= 0

� ���$"����

2-&+A3
Eν [
∫ t−u

0
Gỹ(t+ v − x)Gỹ(dx)]

Eν [
∫ t−u

0
Gỹ(t− x)Gỹ(dx)]

=
Eν [Gỹ(u+ v)G′

ỹ(t− u)]

Eν [Gỹ(u)G′
ỹ(t− u)]

.

���" �� �����
�� ����� ��� 2-&+A3 
���� ��
(/����� ��� u �� �$�� �� ��!"
� 	�� ��� ��
$
(�4 
������� ��� u = 0 	�� u = t ���	"��
� � �������

Eν [Gỹ(t+ v)G′
ỹ(0)]

Eν [Gỹ(t)G′
ỹ(0)]

=
Eν [Gỹ(v)G

′
ỹ(t)]

Eν [Gỹ(0)G′
ỹ(t)]

� ���$"����

2-&+;3
Eν [Gỹ(t + v)G′

ỹ(0)]

Eν [Gỹ(v)G′
ỹ(t)]

=
Eν [Gỹ(t)G

′
ỹ(0)]

Eν [G′
ỹ(t)]

.

�	���������� ��� �$�� $��$�	���� ���� ��������"�
 ��� �� $
(� ����� ��� 2-&+;3 
����
��
(/����� ��� v ��
��� ���

Eν [Gỹ(t+ v)G′
ỹ(0)]

Eν [Gỹ(v)G
′
ỹ(t)]

=
Eν [G

′
ỹ(t+ v)G′

ỹ(0)]

Eν [G
′
ỹ(v)G

′
ỹ(t)]

.


� $
(� ����� ��� �����/�� �!��� 
���� ��
(/����� ��� v 
������� ��� v = 0 �
��	/
���	"��
� ���

2-&+B3
Eν [Gỹ(t+ v)G′

ỹ(0)]

Eν [Gỹ(v)G′
ỹ(t)]

=
Eν [Gỹ(t)G

′
ỹ(0)]

Eν [G′
ỹ(t)]

=
Eν [G

′
ỹ(t)G

′
ỹ(0)]

Eν [G′
ỹ(0)G

′
ỹ(t)]

= 1

���" �� Wi 
���� �������&
��������!�4 ��� 	/�
 0 < u < t4v > 0, w > 04 �
���"�
 ��� ���������� P (Nt−u = Nt =
Nt+v = 1, Nt+v+w = 2) � ����� ���$"���� ��� ���  ��	������ �$������ ����
� �� ����
�
��� �����

P (Nt−u = Nt = Nt+v = 1, Nt+v+w = 2)

= P (Nt+v+w = 2|Nt−u = Nt = Nt+v = 1) · P (Nt−u = Nt = Nt+v = 1)

= P (Nt+v+w = 2|Nt+v = 1) · P (Nt−u = Nt = Nt+v = 1).

A-



��������4

P (Nt−u = Nt = Nt+v = 1, Nt+v+w = 2)

P (Nt−u = Nt = Nt+v = 1)
=

P (Nt+v = 1, Nt+v+w = 2)

P (Nt+v = 1)
.

� ���$"����

P (Nt−u = Nt+v = 1, Nt+v+w = 2)

P (Nt−u = Nt = 1)
2-&+D3

=
P (Nt+v = 1, Nt+v+w = 2)

P (Nt+v = 1)
· P (Nt = Nt+v = 1)

P (Nt = 1)
.


� �����
�� ����� ��� 2-&+D3 ��� ��� �!��� 2:&+3 	�� �� .���� :&@&- ����
� �� ����
�
���� �	������ �����

P (Nt−u = Nt+v = 1, Nt+v+w = 2)

P (Nt−u = Nt = 1)

=
P (W1 ≤ t− u < W1 +W2 ≤ t + v + w < W1 +W2 +W3)

P (W1 ≤ t− u < t < W1 +W2)

=
P (W1 ≤ t− u, t+ v < W1 +W2 ≤ t + v + w)

P (W1 ≤ t− u)− P (W1 ≤ t− u,W1 +W2 ≤ t)

−P (W1 ≤ t− u, t+ v < W1 +W2 ≤ t+ v + w,W1 +W2 +W3 ≤ t+ v + w)

P (W1 ≤ t− u)− P (W1 ≤ t− u,W1 +W2 ≤ t)

=
P (W1 ≤ t− u, t+ v −W1 < W2 ≤ t+ v + w −W1)

P (W1 ≤ t− u)− P (W1 ≤ t− u,W2 ≤ t−W1)

−P (W1 ≤ t− u, t+ v −W1 < W2 ≤ t + v + w −W1,W3 ≤ t + v + w −W1 −W2)

P (W1 ≤ t− u)− P (W1 ≤ t− u,W2 ≤ t−W1)

=
E

[ ∫ t−u

0

∫ t+v+w−x

t+v−x
Fỹ(dy)Fỹ(dx)

]
E

[ ∫ t−u

0
FW1(dx)

]
− E

[ ∫ t−u

0

∫ t−x

0
Fỹ(dy)Fỹ(dx)

]
−
E

[ ∫ t−u

0

∫ t+v+w−x

t−x

∫ t+v+w−x−y

0
Fỹ(dz)Fỹ(dy)Fỹ(dx)

]
E

[ ∫ t−u

0
Fỹ(dx)

]
− E

[ ∫ t−u

0

∫ t−x

0
Fỹ(dy)Fỹ(dx)

]
=

Eν

[ ∫ t−u

0

∫ t+v+w−x

t+v−x
Gỹ(t+ v + w − x− y)Gỹ(dy)Gỹ(dx)

]
Eν

[ ∫ t−u

0
Gỹ(t− x)Gỹ(dx)

]
=

Eν

[ ∫ t−u

0
G2∗

ỹ (t+ v + w − x)Gỹ(dy)Gỹ(dx)
]

Eν

[ ∫ t−u

0
Gỹ(t− x)Gỹ(dx)

] .

AA



?���

P (Nt−u = Nt+v = 1, Nt+v+w = 2)

P (Nt−u = Nt = 1)
=

Eν

[ ∫ t−u

0
G2∗

ỹ (t+ v + w − x)Gỹ(dx)
]

Eν

[ ∫ t−u

0
Gỹ(t− x)Gỹ(dx)

]
��������!� �� $
(� ����� ��� 2-&+D3 ��� ��� �!��� 2:&+3 	�� �� .���� :&@&- ����
� ��
����
� ���� �	������ �����

P (Nt+v = 1, Nt+v+w = 2)

P (Nt+v = 1)
· P (Nt = Nt+v = 1)

P (Nt = 1)

=
P (W1 ≤ t+ v < W1 +W2 ≤ t + v + w < W1 +W2 +W3)

P (W1 ≤ t+ v < W1 +W2)

·P (W1 ≤ t < t+ v < W1 +W2)

P (W1 ≤ t < W1 +W2)

=

(
P (W1 ≤ t+ v < W1 +W2 ≤ t + v + w)

Eν

[ ∫ t+v

0
Gỹ(t+ v − x)Gỹ(dx)

]
−P (W1 ≤ t + v < W1 +W2 ≤ t+ v + w,W1 +W2 +W3 ≤ t+ v + w)

Eν

[ ∫ t+v

0
Gỹ(t+ v − x)Gỹ(dx)

] )

·P (W1 ≤ t)− P (W1 ≤ t,W1 +W2 ≤ t + v)

Eν

[ ∫ t
0
Gỹ(t− x)Gỹ(dx)

]
=

Eν

[ ∫ t+v

0

∫ t+v+w−x

t+v−x
Gỹ(t + v + w − x− y)Gỹ(dy)Gỹ(dx)

]
Eν

[ ∫ t+v

0
Gỹ(t+ v − x)Gỹ(dx)

]
·
Eν

[ ∫ t
0
Gỹ(t+ v − x)Gỹ(dx)

]
Eν

[ ∫ t
0
Gỹ(t− x)Gỹ(dx)

] .

�������� � 2-&+D3 ��/�
��� ���� �����

Eν

[ ∫ t−u

0
G2∗

ỹ (t + v + w − x)Gỹ(dx)
]

Eν

[ ∫ t−u

0
Gỹ(t− x)Gỹ(dx)

]2-&+>3

=
Eν

[ ∫ t+v

0
G2∗

ỹ (t+ v + w − x)Gỹ(dx)
]

Eν

[ ∫ t+v

0
Gỹ(t+ v − x)Gỹ(dx)

] ·
Eν

[ ∫ t
0
Gỹ(t+ v − x)Gỹ(dx)

]
Eν

[ ∫ t
0
Gỹ(t− x)Gỹ(dx)

] .

A;



��������"�
 ��� �� $
(� ����� ��� 2-&+>3 
���� ��
(/����� ��� ���������� u 
������� 	��
� ���/����� ��� �� ���� u �� 
���� ��� �
 ,& ��������4 
(��������� ��� ���/���� ���
�����
��" ������ ��� 2-&+-3 �
 �� ��$�� 	�� 
�����6����� �� 8
����� %�����!������
�"�	����� �!���
 ���

Eν

[
G2∗

ỹ (u+ v + w)G′
ỹ(t− u)

]
Eν

[ ∫ t−u

0

Gỹ(t− x)Gỹ(dx)
]

−Eν

[ ∫ t−u

0

G2∗
ỹ (t + v + w − x)Gỹ(dx)

]
Eν

[
Gỹ(u)G

′
ỹ(t− u)

]
= 0

� ���$"����

2-&:,3
Eν

[ ∫ t−u

0
G2∗

ỹ (t+ v + w − x)Gỹ(dx)
]

Eν

[ ∫ t−u

0
Gỹ(t− x)Gỹ(dx)

] =
Eν

[
G2∗

ỹ (u+ v + w)G′
ỹ(t− u)

]
Eν

[
Gỹ(u)G′

ỹ(t− u)
] .

���" �� �����
�� ����� ��� 2-&:,3 
���� ��
(/����� ��� u �� �$�� �� ��!"
� 	�� ��� ��
$
(�4 
������� ��� u = 0 	�� u = t ���	"��
� � �������

Eν

[
G2∗

ỹ (t + v + w)G′
ỹ(0)
]

Eν

[
Gỹ(t)G′

ỹ(0)
] =

Eν

[
G2∗

ỹ (v + w)G′
ỹ(t)
]

Eν

[
G′

ỹ(t)
]

� ���$"����

2-&:+3
Eν

[
G2∗

ỹ (t+ v + w)G′
ỹ(0)
]

Eν

[
G2∗

ỹ (v + w)G′
ỹ(t)
] =

Eν

[
Gỹ(t)G

′
ỹ(0)
]

Eν

[
G′

ỹ(t)
] .


� $
(� ����� ��� 2-&:+3 
���� ��� �
 + ���� ��� 2-&+B3 	�� /�� �� 
���� ��
(/����� 	/�

����������& �������� ���" ��� �� ���/���� ���� ������(�� ��!"
� (f∗g)′ = f ′∗g = f∗g′
��������6����� �� ���� v ��� 2-&:+3 	�� 
(��������� ��� ���/���� ��� $
(��" �����
��� �
 �� ��$��4 ���� ��� 8
�������� %�����!������ �"�	����� ���	"��
�

Eν

[
G2∗

ỹ (t+ v + w)G′
ỹ(0)
]

Eν

[
G2∗

ỹ (v + w)G′
ỹ(t)
]2-&::3

=
Eν

[
G′

ỹ ∗Gỹ(t + v + w)G′
ỹ(0)
]

Eν

[
G′

ỹ ∗Gỹ(v + w)G′
ỹ(t)
]

=
Eν

[ ∫ t+v+w

0
G′

ỹ(t+ v + w − x)Gỹ(x)G
′
ỹ(0)dx

]
Eν

[ ∫ v+w

0
G′

ỹ(v + w − x)Gỹ(x)G′
ỹ(t)dx

] = 1.

AB



��������6����� ��� �
�
����� ������� ��� 2-&::3 �� ���� w ���	"��
�

Eν

[ ∫ t+v+w

0
G′

ỹ(t+ v + w − x)Gỹ(x)G
′
ỹ(0)dx

]
Eν

[ ∫ v+w

0
G′

ỹ(v + w − x)Gỹ(x)G′
ỹ(t)dx

] =
Eν

[
G′

ỹ(0)Gỹ(t+ v + w)G′
ỹ(0)
]

Eν

[
G′

ỹ(0)Gỹ(v + w)G′
ỹ(t)
] = 1

	�� ��� w = 0 ��� ��� �����/�� ������� ���	"��
�

2-&:@3 Eν

[
Gỹ(t + v)

(
G′

ỹ(0)
)2]

= Eν

[
Gỹ(v)G

′
ỹ(t)G

′
ỹ(0)
]
.

���/ ��� ��� �!��� 2-&+B3 ���� ��� ��
(�������� ��� Wi ��
��� ���

2-&:-3 Eν

[(
G′

ỹ(t)
)2]

= Eν

[
G′

ỹ(t)Gỹ(0)Gỹ(t)
]
.

�������� ��� �� �!��� 2-&:@3 ��� v → 0 ��
��� ��!�	/ ���

Eν

[
Gỹ(t)

(
G′

ỹ(0)
)2]

= Eν

[
G′

ỹ(t)G
′
ỹ(0)
]

	�� ���� ��� ��
(�������� ��� Wi ��
��� ���

2-&:A3 Eν

[(
Gỹ(t)G

′
ỹ(0)
)2]

= Eν

[
G′

ỹ(t)Gỹ(t)G
′
ỹ(0)
]
.

��� ��� 2-&:-3 	�� 2-&:A3 ���	"��
� ���

Eν

[(
Gỹ(t)G

′
ỹ(0)
)2]

+ Eν

[(
G′

ỹ(t)
)2]

= 2Eν

[
G′

ỹ(t)Gỹ(t)G
′
ỹ(0)
]
, ∀t > 0

� ���$"����

Eν

[(
Gỹ(t)G

′
ỹ(0)−G′

ỹ(t)
)2]

= 0, ∀t > 0.

���/
(
Gỹ(t)G

′
ỹ(0) +G′

ỹ(t)
)2

���� ����	� ��� 	/�
 t > 04 /��

Gỹ(t)G
′
ỹ(0)−G′

ỹ(t) = 0, ∀t > 0.

��������
Gỹ(t) = eG

′
ỹ(0)t

��� 	/�
 t > 0 	�� ��� �!
$�� ��� �� ỹ ∈ Υ̃4 ��� ���$
�	�"
� �� 6���"�
��&
�

��� �� �����/�� �
����� ���	"��
� �� �	������ 
������&

������� )5�5� ?���� {Nt}t∈R+ ��� ν�MRP �
 �!
��6��
�� ��	����
�� ������ �����
������� {Pỹ}ỹ∈Υ̃& %/�� ��� ����� ���L�����
�� ��!"
� � ���$������

� {Nt}t∈R+ 
���� Markov �� 	�� ���� �� 
���� MPP(Θ) ?

 �� �
��	� ��/����� ��� �����/�� 
������ �� �$��
 
����� ��� �
��	� ��/����� ���
������� @&@&D4 	�� �����������&

AD



3"0 ������&���� (�� ��. �'�&���� E

������� )5�5� )*��# (�� " {Nt}t∈R+ ��
�� ��� ���������� Markov� 0(���

�i� ����
��� η = j� j = 0, 1 " {Nt}t∈R+ ��
�� ��( ��
���" Markov

�ii� ����
��� η = 1 ��� Z1 = k " {Nt}t∈R+ ��
�� ��( ��
���" Markov�

*���,��
 ��� ���� 0 < t1 < ... < tm < ∞�0 ≤ n1 ≤ ... ≤ nm� ��	
���

�iii�

P

(⋂m
i=1 {Nti = ni} |η = 0

)
P

(
Ntm = nm|η = 0

) =

P

(⋂m
i=1 {Nti = ni} |η = 1

)
P

(
Ntm = nm|η = 1

) ,

�
 P (
⋂m

i=1 {Nti = ni} |η = j) > 0, j = 0, 1�

�iv�

P

(⋂m
i=1 {Nti = ni} |Z1 �= k, η = 1

)
P

(
Ntm = nm|Z1 �= k, η = 1

) =

P

(⋂m
i=1 {Nti = ni} |Z1 = k, η = 1

)
P

(
Ntm = nm|Z1 = k, η = 1

) ,

(���� P

(⋂m
i=1 {Nti = ni} |Z1 �= k, η = 1

)
��� P

(⋂m
i=1 {Nti = ni} |Z1 = k, η = 1

)
��
�� ��������

+�� ��<�5 �i� )�� η = 04 0 < t1 < . . . < tm < t < ∞ 	�� 0 ≤ n1 ≤ . . . ≤ nm < kt
�!���


P

(
Ntm = nm|

m−1⋂
i=1

{Nti = ni} , η = 0

)

=

P

(⋂m
i=1 {Nti = ni} , η = 0

)
P

(⋂m−1
i=1 {Nti = ni} , η = 0

) =

P

(⋂m
i=1 {Nti = ni} , limt→∞Nt = Z

)
P

(⋂m−1
i=1 {Nti = ni} , limt→∞ Nt = Z

)

=

limt→∞ P

(⋂m
i=1 {Nti = ni} , Nt = kt

)
limt→∞ P

(⋂m−1
i=1 {Nti = ni} , Nt = kt

)

=

limt→∞ P

(
Nt = kt|

⋂m
i=1 {Nti = ni}

)
P

(⋂m
i=1 {Nti = ni}

)
limt→∞ P

(
Nt = kt|

⋂m−1
i=1 {Nti = ni}

)
P

(⋂m−1
i=1 {Nti = ni}

) .
A>



���/ ��� ��� ����
�� � {Nt}t∈R+ 
���� Markov 
�������4

P

(
Nt = kt|

m⋂
i=1

{Nti = ni}
)

= P

(
Nt = k|Ntm = nm

)
	��

P

(
Nt = kt|

m−1⋂
i=1

{Nti = ni}
)

= P

(
Nt = k|Ntm−1 = nm−1

)
.

?���

P

(
Ntm = nm|

m−1⋂
i=1

{Nti = ni} , η = 0

)

=

limt→∞ P

(
Nt = kt|Ntm = nm

)
P

(⋂m
i=1 {Nti = ni}

)
limt→∞ P

(
Nt = kt|Ntm−1 = nm−1

)
P

(⋂m−1
i=1 {Nti = ni}

)

=

limt→∞ P

(
Nt = kt|Ntm = nm

)
P

(
Ntm = nm,

⋂m−1
i=1 {Nti = ni}

)
limt→∞ P

(
Nt = kt|Ntm−1 = nm−1

)
P

(⋂m−1
i=1 {Nti = ni}

)

=

limt→∞ P

(
Nt = kt|Ntm = nm

)
limt→∞ P

(
Nt = kt|Ntm−1 = nm−1

) · P
(
Ntm = nm|Ntm−1 = nm−1

)

=

limt→∞ P

(
Nt = kt|Ntm = nm

)
P

(
Ntm = nm, Ntm−1 = nm−1

)
limt→∞ P

(
Nt = kt|Ntm−1 = nm−1

)
P

(
Ntm−1 = nm−1

)

=

limt→∞ P

(
Nt = kt|Ntm = nm, Ntm−1 = nm−1

)
P

(
Ntm = nm, Ntm−1 = nm−1

)
limt→∞ P

(
Nt = kt|Ntm−1 = nm−1

)
P

(
Ntm−1 = nm−1

)

=

limt→∞ P

(
Nt = kt, Ntm = nm, Ntm−1 = nm−1

)
limt→∞ P

(
Nt = kt, Ntm−1 = nm−1

) =

P

(
η = 0, Ntm = nm, Ntm−1 = nm−1

)
P

(
η = 0, Ntm−1 = nm−1

) .

;,



��������

P

(
Ntm = nm|

m−1⋂
i=1

{Nti = ni} , η = 0

)
= P

(
Ntm = nm|Ntm−1 = nm−1, η = 0

)
,

$���$� � {Nt}t∈R+ $������� η = 0 
���� ��� $��$�	���� Markov&

��������!� ��� η = 14 0 < t1 < . . . < tm < t < ∞ 	�� 0 ≤ n1 ≤ . . . ≤ nm < k �!���


P

(
Ntm = nm|

m−1⋂
i=1

{Nti = ni} , η = 1

)

=

P

(⋂m
i=1 {Nti = ni} , η = 1

)
P

(⋂m−1
i=1 {Nti = ni} , η = 1

) =

P

(⋂m
i=1 {Nti = ni} , Z = k

)
P

(⋂m−1
i=1 {Nti = ni} , Z = k

)

=

P

(⋂m
i=1 {Nti = ni} , limt→∞Nt = k

)
P

(⋂m−1
i=1 {Nti = ni} , limt→∞Nt = k

) =

limt→∞ P

(⋂m
i=1 {Nti = ni} , Nt = k

)
limt→∞ P

(⋂m−1
i=1 {Nti = ni} , Nt = k

)

=

limt→∞ P

(
Nt = k|

⋂m
i=1 {Nti = ni}

)
limt→∞ P

(
Nt = k|

⋂m−1
i=1 {Nti = ni}

) ·
P

(⋂m
i=1 {Nti = ni}

)
P

(⋂m−1
i=1 {Nti = ni}

)

���/ ��� ��� ����
�� � {Nt}t∈R+ 
���� Markov 
�������4

P

(
Nt = k|

m⋂
i=1

{Nti = ni}
)

= P

(
Nt = k|Ntm = nm

)

	��4

P

(
Nt = k|

m−1⋂
i=1

{Nti = ni}
)

= P

(
Nt = k|Ntm−1 = nm−1

)
.

?���

;+



P

(
Ntm = nm|

m−1⋂
i=1

{Nti = ni} , η = 1

)

=

limt→∞ P

(
Nt = k|Ntm = nm

)
P

(⋂m
i=1 {Nti = ni}

)
limt→∞ P

(
Nt = k|Ntm−1 = nm−1

)
P

(⋂m−1
i=1 {Nti = ni}

)

=

limt→∞ P

(
Nt = k|Ntm = nm

)
limt→∞ P

(
Nt = t|Ntm−1 = nm−1

) · P
(
Ntm = nm|Ntm−1 = nm−1

)

=

limt→∞ P

(
Nt = k|Ntm = nm

)
P

(
Ntm = nm, Ntm−1 = nm−1

)
limt→∞ P

(
Nt = k|Ntm−1 = nm−1

)
P

(
Ntm−1 = nm−1

)

=

limt→∞ P

(
Nt = k|Ntm = nm, Ntm−1 = nm−1

)
P

(
Ntm = nm, Ntm−1 = nm−1

)
limt→∞ P

(
Nt = k|Ntm−1 = nm−1

)
P

(
Ntm−1 = nm−1

)

=

limt→∞ P

(
Nt = k,Ntm = nm, Ntm−1 = nm−1

)
limt→∞ P

(
Nt = k,Ntm−1 = nm−1

)

=

P

(
η = 1, Ntm = nm, Ntm−1 = nm−1

)
P

(
η = 1, Ntm−1 = nm−1

) .

��������

P

(
Ntm = nm|

m−1⋂
i=1

{Nti = ni} , η = 1

)
= P

(
Ntm = nm|Ntm−1 = nm−1, η = 1

)
,

$���$� � {Nt}t∈R+ $������� η = 1 
���� ��� $��$�	���� Markov&
�ii� ' �ii� ���	"��
� /�
�� ��� �� �i�&
�iii� )�� ��� !����	�� ������� t1 < ... < tm < ∞ ��!"
�4

P

( m⋂
i=1

{Nti = ni}|η = 0

)
= P

( m⋂
i=1

{Nti = ni}|η = 1

)
,

;:



	��

P

(
Ntm = nm|η = 0

)
= P

(
Ntm = nm|η = 1

)
.

��/�����4 ���� ���

P

( m⋂
i=1

{Nti = ni} |η = 0

)
�= P

( m⋂
i=1

{Nti = ni} |η = 1

)
� ���$"����

P

(⋂m
i=1 {Nti = ni} , η = 0

)
P (η = 0)

�=
P

(⋂m
i=1 {Nti = ni} , η = 1

)
P (η = 1)

.


��
 $��$�!�	/ �!���


P

( m⋂
i=1

{Nti = ni} , η = 0

)
· P (η = 1) �= P

( m⋂
i=1

{Nti = ni} , η = 1

)
· P (η = 0),

�

P

( m⋂
i=1

{Nti = ni} , η = 0

)
· q �= P

( m⋂
i=1

{Nti = ni} , η = 1

)
· p,

/��

P

( m⋂
i=1

{Nti = ni} , η = 0

)
· (1− p) �= P

( m⋂
i=1

{Nti = ni} , η = 1

)
· p,


�������

P

( m⋂
i=1

{Nti = ni} , η = 0

)
�=
[
P

( m⋂
i=1

{Nti = ni} , η = 0

)
+P

( m⋂
i=1

{Nti = ni} , η = 1

)]
·p.

#���$�

2-&:;3 P

( m⋂
i=1

{Nti = ni} , η = 0

)
�= p · P

( m⋂
i=1

{Nti = ni}
)
.

��������!� ���	"��
� ���

2-&:B3 P

( m⋂
i=1

{Nti = ni} , η = 1

)
�= q · P

( m⋂
i=1

{Nti = ni}
)
.

;@



������������ 	��/ ���� ��� 2-&:;3 	�� 2-&:B34 ��������


P

( m⋂
i=1

{Nti = ni}
)

�= P

( m⋂
i=1

{Nti = ni} , η = 0

)
+ P

( m⋂
i=1

{Nti = ni} , η = 1

)
,

	/�� ��� 
���� /����& ��������

2-&:D3 P

( m⋂
i=1

{Nti = ni} |η = 0

)
= P

( m⋂
i=1

{Nti = ni} |η = 1

)
.

��������!� �� ���������
 ���

P

(
Ntm = nm|η = 0

)
�= P

(
Ntm = nm|η = 1

)
,

� ���$"���� ���

P

(
Ntm = nm, η = 0

)
P (η = 0)

�=
P

(
Ntm = nm, η = 1

)
P (η = 1)

.


��
 $��$�!�	/ �!���


P (Ntm = nm, η = 0) · P (η = 1) �= P (Ntm = nm, η = 1) · P (η = 0)

�

P (Ntm = nm, η = 0) · q �= P (Ntm = nm, η = 1) · p
/��

P (Ntm = nm, η = 0) · (1− p) �= P (Ntm = nm, η = 1) · p

�������

P (Ntm = nm, η = 0) �=
[
P (Ntm = nm, η = 0) + P (Ntm = nm, η = 1)

]
· p.

?���

2-&:>3 P (Ntm = nm, η = 0) �= p · P (Ntm = nm).

��������!� ���	"��
� ���

2-&@,3 P (Ntm = nm, η = 1) �= q · P (Ntm = nm).

������������ 	��/ ���� ��� 2-&:>3 	�� 2-&@,34 ���	"��
�

P (Ntm = nm) �= P (Ntm = nm, η = 0) + P (Ntm = nm, η = 1),

;-



	/�� ��� 
���� /����& ��������4

2-&@+3 P (Ntm = nm|η = 0) = P (Ntm = nm|η = 1).



��	/ ��� ��� 2-&:D3 	�� 2-&@+3 ���	"��
� �� 6���"�
��&
�iv� ��������"�
 ��� �� 
�$
!��
�� {Z = k, η = 1} 	�� {Z1 = k} 
���� ���4 /��4

P

(
Nti = ni|Z = k, η = 1

)
= P

(
Nti = ni|Z1 = k

)
,

��� 	/�
 i = 1, . . . , m& �	���������� ��� �$�� $��$�	���� �
 
	
��� ��� !������������	

���� ���$
�(� ��� �iii� �!���
 �� 6���"�
�� ������
���&

�

��� ����	/�� �
����� �!���
 �������
� ��� ������
�� ��� �� P 	�� ��� Σ �
 �!��� �

�� ��������!� Theorem A ��� Huang 9+A< ���� ���� 
���� ���������� 2��& ����������
-&+&>3&

������� )5�5� )*��# (�� �� ��� � ����
(�"��� P ��
�� ��,��� ��� " Σ ��
�� � ��������
�� ��(��
"� *���,��
� ���# (�� 0 ≤ q < 1� (�� " {Nt}t∈R+ ��
�� ��� ���������� Markov
��� ���
������ �"
 ���(�"�� E ��� ��	
�� " ���(�"�� (∗) �(�� ����
��� η = 0 " {Nt}t∈R+

��
�� ��� ��������
" ���������� Poisson ��� q = 0 �

+�� ��<�5 #������� η = 04 ���" � {Nt}t∈R+ �!
� ��� �$������ E ��
��� ��� ��
������� -&+&D ��� �� 
���� ��� ν�MRP& ��� �� 8
����� -&@&+ �i� ��
��� ��� ���" �
{Nt}t∈R+ 
���� ��� $��$�	���� Markov �� 
���� 	�� ��� �����	� Markov $������� η = 0&
?��� ��� �� 8
����� -&:&: � {Nt}t∈R+ $������� η = 0 �� 
���� ��� MPP(U)&
?���� ��� q �= 0 ���
 p = P (η = 0) = P (limt→∞Nt = ∞) < 1 ���/ � MPP 
���� ��� ��
�������� 	�� �"(���� �	������� ��� ��� ����� ��!"
� ��� supt∈R+

Nt = ∞, P − σ.β
	�� 
������� ����
� �� ��!"
� ��� p = 1 	�� /�� q = 0&

�

?���� {Nt}t∈R+ ��� $��$�	���� Markov �
 q = 1& ��� �� 8
����� -&@&+ $������� ���
Z1 = k � {Nt}t∈R+ 
(�	�����
� �� 
���� ��� $��$�	���� Markov4 
������� ��� 	/�
 k �

P (Z1 = k) > 0 �����"�
 �� �������
 ��� �������� 4

λi (t) := lim
h→0

1

h
P (Nt+h −Nt = 1|Nt = i, Z1 = k), ∀t > 0, 0 ≤ i ≤ k − 1.

������� )5�5� )*��# (�� Nt ↑ K, P − σ.β ����� t → ∞� (��� K ∈ N� '
 "
{Nt}t∈R+ ��
�� Markov �� �
������ λi (t) , i = 0, 1, ..., K − 1 ��� ����,��
 �	�� ��� �"

���(�"�� E �(�� ��� n < K�

�i�

P

( n⋂
i=1

{Ti ≤ ti} |Nt = n

)
=

n!

tn

∫ t1

0

∫ t2

x1

· · ·
∫ tn

xn−1

dxn · · ·dx2dx1

;A



�ii�

P

( n⋂
i=1

{Ti ≤ ti} , Nt = K

)

=

∫ t1

0

· · ·
∫ tK

xK−1

(K−1∏
j=0

λj (xK) e
∫ xK
0 λ0(t)

)
dxK · · · dx1

������� )5�5) )*��# q = 1� '
 " {Nt}t∈R+ ��
�� Markov �� �
������ λki (t) > 0
��� ���� t > 0 ��� k ≥ 1 �� P (Z1 = k) > 0 ��� 0 ≤ i ≤ k − 1� 0(�� �
 " {Nt}t∈R+ �	��
�"
 ���(�"�� E ������ (�� ��� 	�� �
� �� �1�� k ≥ 1 �� P (Z1 = k) = 1�

+�� ��<�5 ?���� pk := P (Z1 = k) 	�� n = min{k ≥ 1 : pk > 0}& ?���� ��� pk > 0
��� 	/���� k ≥ n+ 1 	�� ��� � {Nt}t∈R+ �!
� ��� �$������ E& 
��
 ��� 	/�
 0 < t1 < t2
��� �� 8
����� -&@&+ ��
��� ���

2-&@:3
P (Nt1 = Nt2 = n, Z1 > n)

P (Nt2 = n, Z1 > n)
=

P (Nt1 = Nt2 = n|Z1 = n)

P (Nt2 = n|Z1 = n)
,

��� �
������� ���� 	�� �� $"� ������������ 
���� �
��	��&

� �����
�� ����� ��� �!���� 2-&@:3 ����
� �� ����
� ���� �����∑∞

k=n+1 pkP (Nt1 = Nt2 = n|Z1 = k)∑∞
k=n+1 P (Nt2 = n|Z1 = k)

.

C ��������� ��� �����/�� 	�/������ ����
� �� ����
� ���� �	������ �����

∞∑
k=n+1

pkP (Nt1 = Nt2 = n|Z1 = k) =

∞∑
k=n+1

pk lim
t→∞

P (Nt1 = Nt2 = n|Nt = k)

=

∞∑
k=n+1

pk lim
t→∞

P (Tn ≤ t1 < t2 < Tn+1|Nt = k)

=

∞∑
k=n+1

pk lim
t→∞

P (Tn ≤ t1|Nt = k)

=

∞∑
k=n+1

pk lim
t→∞

P (

n⋂
i=1

{Ti ≤ t1}|Nt = k),

;;



���� � $
"�
�� ������� ��
��� ��� �� .���� :&@&-& �������� 
�����6����� �� �i� ���
8
�������� -&@&@ ��
��� ���

∞∑
k=n+1

pkP (Nt1 = Nt2 = n|Z1 = k) =
∞∑

k=n+1

pk lim
t→∞

P

( n⋂
i=1

{Ti ≤ t1} |Nt = k

)

=
∞∑

k=n+1

pk lim
t→∞

·k!
tk

∫ t1

0

· · ·
∫ t1

wn−1

dwn · · · dw1

=

∞∑
k=n+1

pk lim
t→∞

k!

tk

∫ t1

0

· · ·
∫ t1

wn−2

(t1 − wn−1)dwn−1 · · · dw1

=

∞∑
k=n+1

pk lim
t→∞

k!

tk

∫ t1

0

· · ·
∫ t1

wn−3

(
t21
2
− t1wn−2

+
w2

n−2

2
)dwn−2 · · · dw1 = · · · =

∞∑
k=n+1

pk lim
t→∞

k!

tk
tn1
n!
.

��������!� ��� ��� ����������� ��� 	�/������ 
�����6����� �� �i� ��� 8
��������
-&@&@ ��
��� ���

∞∑
k=n+1

pkP (Nt2 = n|Z1 = k) =

∞∑
k=n+1

pk lim
t→∞

P

( n⋂
i=1

{Ti ≤ t2} |Nt = k

)

=

∞∑
k=n+1

pk lim
t→∞

·k!
tk

∫ t2

0

· · ·
∫ t2

wn−1

dwn · · · dw1

=

∞∑
k=n+1

pk lim
t→∞

k!

tk

∫ t2

0

· · ·
∫ t2

wn−2

(t2 − wn−1)dwn−1 · · · dw1

=
∞∑

k=n+1

pk lim
t→∞

k!

tk

∫ t2

0

· · ·
∫ t2

wn−3

(
t22
2
− t2wn−2

+
w2

n−2

2
)dwn−2 · · · dw1 = · · · =

∞∑
k=n+1

pk lim
t→∞

k!

tk
tn2
n!
.

�������� ∑∞
k=n+1 pkP (Nt1 = Nt2 = n|Z1 = k)∑∞

k=n+1 P (Nt2 = n|Z1 = k)
=

∑∞
k=n+1 pk limt→∞ k!

tk
tn1
n!∑∞

k=n+1 pk limt→∞ k!
tk

tn2
n!

=

tn1
n!
limt→∞

∑∞
k=n+1 pk

k!
tk

tn2
n!
limt→∞

∑∞
k=n+1 pk

k!
tk

= (
t1
t2
)n.

;B



��������!� �� $
(� ����� ��� ����� ��� �!���� 2-&@:3 ����
� �� ����
� ��

P (Nt1 = Nt2 = n, Z1 = n)

P (Nt2 = n, Z1 = n)
,

� ���$"����
limt→∞ P (

⋂n
i=1{Ti ≤ t1}, Nt = n)

limt→∞ P (
⋂n

i=1{Ti ≤ t2}, Nt = n)
,


������� 
�����6����� �� �ii� ��� 8
�������� -&@&@ ��
��� ���

P (Nt1 = Nt2 = n, Z1 = n)

P (Nt2 = n, Z1 = n)
=

limt→∞
∫ t1
0

· · ·
∫ t1
wK−1

(∏K−1
j=0 λj (wK) e

∫ wK
0 λ0(t)

)
dwK · · · dw1

limt→∞
∫ t2
0

· · ·
∫ t2
wK−1

(∏K−1
j=0 λj (wK) e

∫ wK
0 λ0(t)

)
dwK · · · dw1

.

����� ���� �������� ��� �� �����/�� 	�/��� $
� ����
� �� 
���� ��� �
 ( t1
t2
)n4 /��

P (Nt1 = Nt2 = n, Z1 > n)

P (Nt2 = n, Z1 > n)
�= P (Nt1 = Nt2 = n|Z1 = n)

P (Nt2 = n|Z1 = n)
,

	/�� �� ����� 
���� /���� ��� ��� ����
�� ���4 /�� pk = 0 ��� 	/�
 k ≥ n+1& ��������4
pk > 0 ���� ��� k = n4 $���$� P (Z1 = n) � ���$"���� ��/�!
� �	����� ��� k ∈ N ���

P (Z1 = k) = 1&

�

3"3 MRPs 4�� �'�&���� E∗

��� ����	/�� �
������� �!���
 �������
� ��� ������
�� ��� �� P 	�� ��� Σ �
 �!���
�
 �� ��������!� Lemma - 	�� Theorem A ��� Huang 9+A< ���� ���� 
���� ����������
2��& ���������� -&+&>3&

>���� )5)5� )*��# (�� �� ��� � ����
(�"��� P ��
�� ��,��� ��� " Σ ��
�� � ��������
�� ��(��
" ��� " {Nt}t∈R+ �	�� �"
 ���(�"�� E∗� 0(�� q = 0 ��� � � " {Nt}t∈R+ ��
��
ν�MRP�

+�� ��<�5 ?���� ��� P (Z1 = k) > 0 ��� 	/���� k ≥ 1& ��� ��� ����
�� �!���
 ���
� {Nt}t∈R+ �!
� ��� �$������ E

∗ 
������� ��� 	/�
 w1, wk+1 > 0 ��!"
�

P (W1 ≤ w1, Nt = k) = P (Tk ≤ t < Tk+1,W1 ≤ w1, Nt = k)

= P (0 ≤ t−
k∑

i=1

Wi < wk+1,W1 ≤ w1, Nt = k).

;D



��������

2-&@@3 P (W1 ≤ w1, Nt = k) = P

(
0 ≤ t−

k∑
i=1

Wi ≤ w1, Nt = k

)
���� �� w1 
���� ��	
�/ �
�/�� 	�� ������ ���
 P (W1 ≤ w1, Z1 = k) > 0& ����������
�� ���� ��� t → ∞ 	�� ��� $"� ���� ��� �!���� 2-&@@3 	�� 	/������ !���� ��� .�������
-&+&; ���	"��
� ���

lim
t→∞

P (W1 ≤ w1, Nt = k) = lim
t→∞

P

(
0 ≤ t−

k∑
i=1

Wi ≤ w1, Nt = k

)

⇒ P (W1 ≤ w1, lim
t→∞

Nt = k) = P

(
0 ≤ t−

k∑
i=1

Wi ≤ w1, lim
t→∞

Nt = k

)
.

��� �� �����
�� ����� ��� �����/�� �!���� ��
��� ���

P (W1 ≤ w1, lim
t→∞

Nt = k) = P (W1 ≤ w1, Z1 = k)

= P (W1 ≤ w1, Z = k, η = 1)

= P (W1 ≤ w1, Z = k|η = 1)P (η = 1)

= P (W1 ≤ w1, Z1 = k)P (η = 1).

?���
lim
t→∞

P (W1 ≤ w1, Nt = k) = qP (W1 ≤ w1, Z1 = k).

�����
�� �� ���� ��� $
(��" ������ ��� 2-&@@3 ��� t → ∞ 
���� �� ��$��4 	/�� ��� ���
�$��
� �
 /����& �������� P (Z1 = k) = 0 	�� /�� q = 0& �������� ���" q = 0 ��� ��
.���� -&+&B 	�� �� ������� -&+&D ��
��� ��� � {Nt}t∈R+ 
���� ��� �
�
������ ����
���	�
$��$�	����& �

������� )5)5� )*��# (�� �� ��� � ����
(�"��� P ��
�� ��,��� ��� " Σ ��
�� � ��������
�� ��(��
"� '
 " {Nt}t∈R+ �	�� �"
 ���(�"�� E∗ ��� ���
������ ��� �"
 ��
���" (∗)
�(�� ��
�� ��� ��������
" ���������� Poisson�

+�� ��<�5 ��� �� ������"�
�� ����� ��
��� ��� � {Nt}t∈R+ �� 
���� ��� ν�MRP&
8
���"�
 
����� ��� � ���/����� 	�������� ��� 
�$�/�
��� !�����

F (·) ∈
{
Fỹ : Fỹ (0) = 0, ỹ ∈ Υ̃

}
& ��� ��� �����	� (∗) ��
��� ��� P (Nt = 3) > 0&

;>



��/�����4

P (Nt = 3) =

∫
Pỹ(Nt = 3)ν(dỹ)

=

∫
Pỹ(T3 ≤ t < T4)ν(dỹ)

=

∫
Pỹ(T3 ≤ t)− Pỹ(T4 ≤ t)ν(dỹ)

=

∫
Pỹ

( 3∑
i=1

Wi ≤ t

)
− Pỹ

( 4∑
i=1

Wi ≤ t

)
ν(dỹ)

= Eν [F
3∗
ỹ (t)− F 4∗

ỹ (t)]

= Eν

[ ∫ t

0

F 2∗
ỹ (t− x)Fỹ(dx)−

∫ t

0

F 3∗
ỹ (t− x)Fỹ(dx)

]

= Eν

[ ∫ t

0

(
F 2∗
ỹ (t− x)− F 3∗

ỹ (t− x)
)
Fỹ(dx)

]

= Eν

[ ∫ t

0

( ∫ t−x

0

F ∗
ỹ (t− x− z)Fỹ(dz)−

∫ t−x

0

F 2∗
ỹ (t− x− z)Fỹ(dz)

)
Fỹ(dx)

]

= Eν

[ ∫ t

0

∫ t−x

0

(
F ∗
ỹ (t− x− z)− F 2∗

ỹ (t− x− z)
)
Fỹ(dz)Fỹ(dx)

]

= Eν

[ ∫ t

0

∫ t−x

0

( ∫ t−x−z

0

Fỹ(dz)

−
∫ t−x−z

0

Fỹ(t− x− y − w)Fỹ(dw)
)
Fỹ(dz)Fỹ(dx)

]
?���

P (Nt = 3) = Eν

[ ∫ t

0

∫ t−x

0

∫ t−x−z

0

(
1− Fỹ(t− x− z − w)

)
Fỹ(dw)Fỹ(dz)Fỹ(dx)

]
,

��K���� ��������"�
 ��� P (Nt = 3) > 0 4 ��� 	/���� t > 0&
)�� 	/�
 0 < x+ w + z < t ��� ��� �$������ E∗ ��
��� ���

P

(
W1 ≤ x,W2 ≤ w,W3 ≤ z,Nt = 3

)
= P

(
W1 ≤ x,W2 ≤ w, t−

3∑
i=1

Wi ≤ z,Nt = 3

)

B,



� ���$"���� �"����� �
 �� �����/��

Eν

[ ∫ x

0

∫ w

0

∫ z

0

Gỹ(t−W1 −W2 −W3)Gỹ(dW3)Gỹ(dW2)Gỹ(dW1)

]

= Eν

[ ∫ x

0

∫ w

0

∫ t−W1−W2

t−W1−W2−z

Gỹ(t−W1 −W2 −W3)Gỹ(dW3)Gỹ(dW2)Gỹ(dW1)

]
.

��������6����� 	�� �� $"� ���� ��� �����/�� �!���� ����� �� ���� x4 ���� ���
8
�������� %�����!������ �"�	����� ���	"��
�

Eν

[ ∫ w

0

∫ z

0

Gỹ(t− x−W2 −W3)Gỹ(dW3)G
′
ỹ(x)Gỹ(dW3)Gỹ(dW2)

]

= Eν

[ ∫ w

0

∫ t−W1−W2

t−W1−W2−z

Gỹ(t− x−W2 −W3)G
′
ỹ(x)Gỹ(dW3)Gỹ(dW2)

]
.

�������� ��������6����� �� ���� w4 ���� ��� 8
�������� %�����!������ �"�	�����
�!���


Eν

[ ∫ z

0

Gỹ(t− x− w −W3)G
′
ỹ(x)G

′
ỹ(w)Gỹ(dW3)

]

= Eν

[ ∫ t−W1−W2

t−W1−W2−z

Gỹ(t− x− ω −W3)G
′
ỹ(x)G

′
ỹ(ω)Gỹ(dW3)

]
.


���� ��������6����� �� ���� z 	�� �������� ���� t − x − w − z �� v4 ���� ���
8
�������� %�����!������ �"�	�����4 ���	"��
�

2-&@-3 Eν [Gỹ(v)G
′
ỹ(x)G

′
ỹ(w)G

′
ỹ(z)] = Eν [G

′
ỹ(v)G

′
ỹ(x)G

′
ỹ(w)Gỹ(z)].

C��	���������� 	�� �� $"� ���� ��� �!��� 2-&@-3 �� ���� x ��� , 
�� u ���	"��
�∫ u

0

Eν [Gỹ(v)G
′
ỹ(x)G

′
ỹ(w)G

′
ỹ(z)]dx =

∫ u

0

Eν [G
′
ỹ(v)G

′
ỹ(x)G

′
ỹ(w)G

′
ỹ(z)]

$���$�

Eν

[ ∫ u

0

Gỹ(v)G
′
ỹ(x)G

′
ỹ(w)G

′
ỹ(z)dx

]
= Eν

[ ∫ u

0

G′
ỹ(v)G

′
ỹ(x)G

′
ỹ(w)G

′
ỹ(z)dx

]
.

?���

2-&@A3 Eν

[
Gỹ(v)Gỹ(u)G

′
ỹ(w)G

′
ỹ(z)
]
= Eν

[
G′

ỹ(v)Gỹ(u)G
′
ỹ(w)G

′
ỹ(z)
]
.

����	���������� ��!�	/ u = v, w = z = 0 ���� 2-&@A3 ��������


2-&@;3 Eν

[
G2

ỹ(v)
(
G′

ỹ(0)
)2]

= Eν

[
G′

ỹ(v)Gỹ(v)G
′
ỹ(0)
]
.

B+



�� 
������� ����	����������
 �/�� ���� 2-&@A3 w = v, u = z = 0 ��������


2-&@B3 Eν

[
Gỹ(v)G

′
ỹ(v)G

′
ỹ(0)
]
= Eν

[(
G′

ỹ(v)
)2
].

������������ 	��/ ���� ��� 2-&@;3	�� 2-&@B3 ���	"��
�

Eν

[
G2

ỹ(v)
(
G′

ỹ(0)
)2]

+ Eν

[(
G′

ỹ(v)
)2
] = 2Eν

[
Gỹ(v)G

′
ỹ(v)G

′
ỹ(0)
]

	�� /��

Eν

[
G′

ỹ(v)−G′
ỹ(0)Gỹ(v)

]2
= 0,

� ���$"���� ���"
[
G′

ỹ(v)−G′
ỹ(0)Gỹ(v)

]2
> 0 ��� 	/�
 v > 0

G′
ỹ(v) = G′

ỹ(0)Gỹ(v),

��� 	/�
 v > 0 	�� ��� �!
$�� ��� �� ỹ ∈ Υ̃4����


Gỹ(v) = eG
′
ỹ(0)v,

��� 	/�
 v > 0 	�� ��� �!
$�� ��� �� ỹ ∈ Υ̃& ?��� � {Nt}t∈R+ 
���� ��� �
�
������
$��$�	���� Poisson&

�

B:




���
	�� *

���	� �!�!
��� ������� ��	 ���
'���������� +�	��������
(�	$��	����

��� �� �� �
 ��+�,��� " � ���� (Ω,Σ, P ) ��
�� �
�� 	� �� ����
(�"���� �
� �� 7�
�"
(Υ, T ) ��� (Ξ, Z) ��
�� ��� ������ 	� ���

� ����
������� ����" ��� 	
������� �
���!����� ���� 
������ 9:;< �
 ��� �
��	� �����&

:"# 
���4�����)&� MRPs )6�- disintegrations

��!�	/ ����������
 ��� ������"� $�/����� 
�$�� disintegration !������� ��� ��� !��
��	������� ��� MRPs ���� ����� ��� $��
��� ��� ����� 
$/���&

������� *5�5� ?���� T �Σ��#����� Markov 
���� ��� ���/����� k ��� ��� T × Ω
���� R ��� �	������
� ��� �����	
�0

8k19 ' ���������/����� k (·, ω) 
���� ��� ����� ����������� ���� T ��� 	/�
 ����
��
ω ∈ Ω&

8k29 ' ���/����� ω �−→ k (B, ω) 
���� Σ��
������� ��� 	/�
 ����
�� B ∈ T &

��������"�
 ��� �� ����� P $
� 
����	
��� ���� �����/�� ������4 /�� ���� T �Σ�
������� Markov ���6
��� ��� 	/�
 $"� �
��������� !����� (Ω,Σ) 	�� (Υ, T )&
8
���"�
 ��� Σ�T ��
������� ��
�	����� ��� ��� Ω ���� Υ 	�� ��� σ����/��
��� F ���
Σ&

������� *5�5� 8a9 �� #�� �#�;�
� 
������� ��� X ����� ��� σ"#������4��
F ��� Σ 
���� ���� T �F ��������Markov k ��� �	������
� ��� 	/�
 B ∈ T ��� �	������
�!���4

k(B, ·) = P (X−1(B)|F)(·), P |F − σ.β.

B@



����������� k := PX|F &
8b9 ?���� Θ ��� Σ�Z��
������� ���/����� ��� ��� Ω ���� Ξ& �� F = σ (Θ)4 �
���/����� PX|Θ = PX|σ(Θ) 	��
���� #�� �#�;�
� 
������� ��� X  �;�����
��� Θ&

/��������� *5�5� )�� 	/�
 T �Z�������Markov k � ��
�	�����K (Θ) ��� ��� T×Ω
���� R � ����� ���6
��� ��4

K(Θ)(B, ω) := (k(B, ·) ◦Θ)(ω),

��� 	/�
 B ∈ T 	�� ω ∈ Ω4 
���� ���� T �σ (Θ)�������� Markov&

������� *5�5) 8a9 ?���� Q ��� ����� ���� T &  �� ��	����
�� {Py}y∈Υ ������ ���
��������� ���� Σ ����/6
��� disintegration ��� P 
�/�� ��� Q 
��0

8d19 )�� 	/�
 D ∈ Σ � ��
�	����� y �−→ Py (D) 
���� T ��
�������&

8d29
∫
Py (D)Q (dy) = P (D), ∀D ∈ Σ.

�/� f : X �−→ Υ 
���� ��� ��
�	�����4 ���
 P ◦ f−1 := Pf = Q $���$�4 Pf(B) =
P (f−1 (B)) = Q (B) ��� 	/�
 B ∈ T 2inverse-measure-preserving function34 ��� disin-
tegration {Py}y∈Υ ��� P 
�/�� ��� Q ����/6
��� �#����� �
 ��� f 
�� ��� 	/�


B ∈ T � ������� Py (f
−1 (B)) = 1 ��!"
� ��� Q �!
$�� ��� �� y ∈ B&

8b9?���� M ��� ����� ����������� 
�/�� ���� σ�/��
��� Σ ⊗ T ���� ���
 �� �����
P 	�� Q �� 
���� �� �
������� ��� 2$���$� M ◦ π−1

1 = P 	�� M ◦ π−1
2 = Q ���� π1 	��

π2 �� 	�����	�� ��������3& =��������
 
����
�� ��� ��� 	/�
 y ∈ Υ4 ��/�!
� ��� �����
����������� Py ���� Σ �� ����� �	������
� ��� �$�����
�0

8D19 )�� 	/�
 A ∈ Σ � ��
�	����� y �−→ Py (A) 
���� T ��
�������&

8D29 M(A× B) =
∫
B
Py (A)Q (dy) , ∀A×B ∈ Σ× T.


��
 � {Py}y∈Υ ����/6
��� 
�����
�  ����#���� ��;�������"�������� 2product
regular conditional probability32	&$&�������
�� ��� ��������3 
�/�� ���� Σ ��� �� M
�� ���� �� Q&
8c9 ?���� F ��� σ����/��
��� ��� Σ 	�� R := P |F � �
��������� ��� ������ P ���� F &
 �� 
�����
�  ����#���� ��;������� 2 regural conditional probability32	&$&�&
��� ��������3 ��� P 
�/�� ��� R 
���� ��� ��	����
�� {Pω}ω∈Ω ������ ����������� ����
Σ ��� �	������
� ��� �	�����
� �$�����
�0

8sf19 )�� 	/�
 E ∈ Σ � ��
�	����� ω �−→ Pω (E) 
���� F ��
�������&

8sf29
∫
F
Pω (E)R (dω) = P (E ∩ F ) ��� 	/�
 F ∈ F 	�� E ∈ Σ&

B-



/��������� *5�5* �/� � σ�/��
��� Σ 
���� ���������� �������
�� 	�� �� P 
����
���
�� ��/�!��� �/��� ��� disintegration ��� P 
�/�� ��� Q ���
��� �
 	/�
 ��
�	�����
f ��� �� Ω ��� Υ ���
 Pf = Q4 ��� 	&$&�������
�� 	�� ��� 	&$&�& 2����
 9+:< 8
�����
;3&

' ����	/�� ������� ���$�
� ��� disintegrations �
 ��� 	�����	�� $
��
����
� ���������
�
�&

/������ *5�5, '
 {Py}y∈Υ ��
�� ��� disintegration ��� P ���
# ��� Q ��� f ��
��
��� �����(
��" ��( �� Ω ��� Υ ���� Pf = Q �� �� ����# ��
�� ����

����

�i� . {Py}y∈Υ ��
�� ��
���� �� �"
 f �

�ii� P (A ∩ f−1(B)) =
∫
B
Py(A)Q(dy)� ��� ���� A ∈ Σ ��� B ∈ T �

�iii� ��� ���� A ∈ Σ EP [χA|σ(f)] = P·(A) ◦ f P |σ(f)− σ.β.

+�� ��<�5 �i�=⇒�ii� 
� ���������� ���	"��
� /�
�� ��� �� 8d29 ��� ������" ���
disintegrations 	�� ��� �� �
����� ��� � {Py}y∈Υ 
���� ���
��� �
 ��� f &
�ii�=⇒�i� ?���� ��� ��!"
� � �ii�4 ���
 ��� A = f−1(B)4 ���� B ∈ T ��
��� ���

P (f−1(B)) =

∫
B

Py(f
−1(B))Q(dy),

���$"���� ∫
χB(y)[1− Py(f

−1(B))]Q(dy) = 0

/��
Py(f

−1(B)) = 1 ��� Q− �!
$�� ��� �� y ∈ B,

���" χB(y)[1− Py(f
−1(B))] ≥ 0 ��� 	/�
 y ∈ Υ 	�� B ∈ T 4 /�� � �i� ��
���&

�ii�⇐⇒�iii� ' ���$������ 
���� ��������&
�

'�( �# ��� ���# " Θ ��
�� ��� Σ�Z���� ����" �����(
��" ��( �� Ω ��� Ξ� ��� �� � ��
+���� ”��������
"” �
�� ”��������
" ������"� �"� Θ” (��
 " �������" �
�+� ���� #�
� �� Θ� ��� �� ��(,���� ����
 ��� ��+�,���� " {Pθ}θ∈Ξ ��
�� ��� disintegration ��
����
�� �"
 Θ ���(� ��� �
 �
�+� ���� ���+� ������
' ���
��	� $��$�	���� {Nt}t∈R+ 
���� ��� P "��������
� σ. 5 �
 ���� 
�$�/�
����
!������ �� �	������"� ��� 	������� K(θ0)4 ���� θ0 ∈ Ξ ���/�
����4 �� � �	�������
{Wn}n∈N 
���� ��
(/����� 	��K(θ0)�������� ��� 	/�
 n ∈ N ��� �� ����� P & C �	�����
��� ������� ��� �
�
������� ����
���	�� ���!����	�� $��$�	����� 
���� ��� ��
"�� ���
C�����" ��� �
�
������� $��$�	����� Poisson �
 ���/�
��� Θ 2����
 9@:< ���/������
-&: �
�& DB3&
C ����	/�� ������� ��� ��� �
�
�����
� ����
���	�� $��$�	���
� �
��	
"
� ���� �����
����!� ������ ��� ��� �
�
�����
� $��$�	���
� Poisson ��� ��/�!
� ��� ����������� 2��&
�&! 9@:< Chapter -3& M���
��� ��� 	��/������ ��� ��� 8
���� %��$"���4 ���" �
������
�/�
� ��� $���	� ���/�
��� Θ4 ��� ���� 8
���� %��$"��� ������/�
� ��� $��� ��� ��
����
��� !��������	��� 	��$"���&

BA



������� *5�5(  �� ���
��	� $��$�	���� {Nt}t∈R+ ����/6
��� ���������� �����"
���
�  �� �
���� 2��� �������� MRP3 ���� (Ω,Σ, P ) �
 ���/�
��� ��� ��
�	�����
Θ 	�� ��� �����	� 	������� ��� 
�$�/�
��� !����� K(Θ) 2����& (P,K(Θ))�MRP34

/� � {Wn}n∈N 
���� P ���� �����	� ��
(/����� 	��

PWn|Θ = K(Θ) P |σ(Θ)− σ.β,

��� 	/�
 n ∈ N&

>���� *5�5. *�
 {ki}i∈I ��
�� ��� ������
��� T �Z��� �
#
 Markov� �(�� ��� ����
i ∈ I ��� ��� ���� ����� ( B ∈ T �� ��(,���� ��
�� ����

����

�i� PXi|Θ (B, ·) = Ki (Θ) (B, ·) , P |σ (Θ)σ�1�

�ii� Pθ (X
−1 (B)) = ki (B, θ)� ��� PΘ��	��(
 (,� �� θ ∈ Ξ�

)�� ��� ���$
�(� ����
 9:;< Lemma :&B&

>���� *5�5$ . ������
��� {Xi}i∈I ��
�� P ���( ��
���" �
��� �"�" �
 ��� �(
� �

��
�� Pθ��
��� �"�" ��� PΘ �	��(
 (,� �� θ ∈ Ξ�

+�� ��<�5 ?���� ��� � ��	����
�� {Xi}i∈I 
���� P ���� �����	� ��
(/�����& H��$"����
�!���
 ���∫

Θ−1(D)

P
( m⋂

j=1

{Xij ∈ Bj |Θ
)
dP =

∫
Θ−1(D)

m∏
j=1

P
(
{Xij ∈ Bj}|Θ

)
dP,

��� m ∈ N4 i1, . . . , im ∈ I �
 ik �= ij ��� k �= j 	�� Bj ∈ T ��� 	/�
 j ≤ m 	�� D ∈ Z&
���/ ��� �� �iii� ��� �������� A&+&; ���$"���� ���	"��
� ���∫

Θ−1(D)

P·
( m⋂

j=1

{Xij ∈ Bj

)
◦ΘdP =

∫
Θ−1(D)

m∏
j=1

[
P·
(
{Xij ∈ Bj}

)
◦Θ
]
dP,

� ���$"����∫
D

Pθ

( m⋂
j=1

{Xij ∈ Bj}
)
PΘ(dθ) =

∫
D

m∏
j=1

Pθ

(
{Xij ∈ Bj}

)
PΘ(dθ).

H��$"���� ��� ��� �
�
����� ������� ���	"��
� ��� ��� PΘ��!
$�� ��� �� θ ∈ Ξ �
��	����
�� {Xi}i∈I 
���� Pθ���
(/�����&

�

/������ *5�5�3 )*��# F ��� σ�����,��1 � �"� Σ ��� ��� ����� {Pω}ω∈Ω ��� �� ��� �
P ���
# ��� R := P |F � 0(�� " ������
��� {Xi}i∈I ��
�� P ���( ��
���" �
��� �"�"
���
# ��"
 F �
 ��� �(
� �
 ��
�� Pω��
��� �"�" ��� R��	��(
 (,� �� ω ∈ Ω�

B;



)�� ��� ���$
�(� ����
 9:;< Corollary :&+,&


� ����	/�� ������
��� ��/�
� ��� ��� �����	� ��
(������� 	�� �������� ���� σ.$& ��
���� ��� ����� P �
 	�����	� ��
(������� 	�� �������� �� ���� �!
$�� ��� �� �����
Pθ ���� disintegration {Pθ}θ∈Ξ& 
� 
� ���� ������
��� 
���� � �/�� ��� ��� ���$
�(�
��� �������� A&+&+@4 $���$� ��� 	"���� ����
�������� ��� 
������� A&+&

/������ *5�5�� . ������
��� {Xi}i∈I ��
�� P ���( ��
���" �
��� �"�" ��� ��(
��"
�
 ��� �(
� �
 ��
�� Pθ��
��� �"�" ��� ��(
��" ��� PΘ �	��(
 (,� �� θ ∈ Ξ�

' ���$
�(� 
���� /�
�� �����
�� ��� .���/��� A&+&D 	�� A&+&>&

/������ *5�5�� '
 F � {Pω}ω∈Ω ��� R ��
�� (�#� ��� 8( ���� 9�2�2:� �(�� " ���
����
��� {Xi}i∈I ��
�� P ���( ��
���" �
��� �"�" ��� ��(
��" �
 ��� �(
� �
 ��
��
Pω��
��� �"�" ��� ��(
��" ��� R �	��(
 (,� �� ω ∈ Ω�

)�� ��� ���$
�(� ����
 9:;< Corollary :&+:&

��� ��� ������� A&+&++ ���	"��
� 	�� �� 	"��� ������
��� ����� ��� 
������� �
 ��
����� ���� �������� �� ����� 
���� ���� !���	�������� ��� �
�
������� ����
���	��
$��$�	����� ���� disintegration

/������ *5�5�� . �"������ ���������� {Nt}t∈R+ ��
�� ��� (P,K(Θ))�MRP �
 ���
�(
� �
 ��
�� ��� (Pθ,K(θ))�RP ��� PΘ��	��(
 (,� �� θ ∈ Ξ�

+�� ��<�5 ���" ��� ��� ����
�� ��� � ���
��	� $��$�	���� {Nt}t∈R+ 
���� ���
(P,K(Θ))�MRP ��
��� ��� � σ.$& ��� 
�$�/�
��� !����� {Wn}n∈N �� 
���� P ����
�����	� ��
(/����� 	�� �� �	������
� ��� �����	� PWn|Θ = K(Θ)4
P |σ(Θ)− σ.�& ?���/ ��� ��� ������� A&+&++ ���$"���� �!���
 ��� ��� PΘ��!
$�� ���
�� θ ∈ Ξ � {Wn}n∈N 
���� Pθ���
(/����� 	�� ��� 	/�
 n ∈ N �	������
� �� �����	�
(Pθ)Wn = K(θ) ���$"���� $���$� � ���
��	� $��$�	���� {Nt}t∈R+ (Pθ,K(θ))�RP ���
PΘ��!
$�� ��� �� θ ∈ Ξ&

�

/������ *5�5�) )*��# '
 F � {Pω}ω∈Ω ��� R ��
�� (�#� ��� 8( ���� 9�2�2:� 0(��
" {Wn}n∈N ��
�� P ���( ��
���" �
��� �"�" ��� ��(
��" ���
# ��"
 F �� ��������
"
����
��� ����
(�"��� K(idΩ) = PWn|F P |F �σ.β. ��� ���� n ∈ N� �
 ��� �(
� �
 "
{Nt}t∈R+ ��
�� ��� (Pω,K(Ω))�RP ��� R��	��(
 (,� �� ω ∈ Ω �
 ��� �(
� �
 ��
�� ���
(P,K(idΩ))�MRP�
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��(" ��� ��� �����	� ��
(/������ �&�& 
���� ����	� �� $�����
 �$����
�� �����!�
�
 
	
��
� ��� 
���� ��� �����	
� ������
�& ���	"��
� ��� ����� �!��� ���� �$����
��

�$��������� !���	������� �� �� ”������/(��
�” ��	����
�
� �&�& 28
����� A&:&:3& 
�
	"��� ������
��� ����� ��� 
������� 
���� �� 8
����� A&:&:4 ��� �
��	
"
� �� ���������
�
����� de Finetti 2��& ���/����� #?3 	�� 	���$
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 �� ����� ����������� Pθ (θ ∈ Rd) ����
disintegration {Pθ}θ∈Rd4 ���� 
����� �� ����� ����������� P 	�� 	����	
�/6���
 ���
����	/�� ����$
������ 	/���
� 
�$��������
� MRPs �� ���� P ��� $
� 
���� MPP& )��
���� �� �	��� ����6���
 ��� �
 βd �������6
��� � �
��������� ��� ������ Lebesgue λd

���� BRd
4 
�� � �
��������� ��� βd ���� B(A) ��� A ∈ B(Rd) �������6
��� �/�� �
 βd

& )�� d = 1 ��/����
 β := β1 := λ|B(R)4 ���� λ 
���� �� ����� ��� Lebesgue ���� R&

D:



/��� ����� *5)5� ?���� ��� Qn(θ) = Ga(θ, 1/2) ��� 	/�
 n ∈ N 	�� ��� 	/�
 ����
�
�� θ > 04 	�� μ = Ga(γ, α)& 
��
 �� ������
�� ��� 8
�������� A&-&+ �	�������"����
��� (Ξ, Z) =

(
R,B
)
4 �
 μ((0,∞)) = 1&

�������� �� ����� ����������� P̃ 	�� P ���� Σ̃ = B(Ω̃) 	�� Σ = B(Ω) ��������!�4

���� Ω̃ = RN 	�� Ω = RN × R4 	���� 	�� �� disintegrations {P̃θ}θ∈Ξ 	�� {Pθ}θ∈Ξ ����
��"� �� ����������"�& ��������4 ��/�!
� ��� ��!��� �
������� Θ ���� Ω ���� ���

PΘ = Ga(γ, α)&
8a9 ��!�	/ �������6���
 �� ����� ����������� 
�/�� ����� �
��������� 	����$����&

 
 C̃ �������6���
 ��� ��	����
�� ���� ��� �
�������� 	����$��� B̃ ∈ B(Ω̃) $���$�

���� ��� ������� B̃ ⊆ Ω̃ ��� �����"� �� 
	������"� ���� �����
∏

n∈N B̃n4 ����

B̃n ∈ B ��� 	/�
 n ∈ N 	�� L̃ = {n ∈ N : B̃n �= R} ��� �
�
������� �"����& 8�����

C̃n = B̃n ��� 	/�
 n ∈ L̃& 
��
 B̃ =

∏
k∈L̃ C̃k × RN\L̃&  
 ��� �$�� ����� ���6
��� �

��	����
�� C ��� �
�������� 	����$��� B ∈ B(Ω)& ��������

2A&+3 P̃θ(B̃) = (⊗n∈NQn(θ)(B̃)) =
∏
k∈L̃

Qk(θ)(C̃k) =

√
θ

π

∏
k∈L̃

∫
C̃k

ω
− 1

2
k e−θωkβ(dωk)

��� 	/�
 θ > 04 
�������

P̃ (B̃) =

∫ √
θ

π

∏
k∈L̃

∫
C̃k

ω
− 1

2
k e−θωkβ(dωk)PΘ(dθ).

8
���"�
 ���� ���� �
��������� 	����$���� B̃×E ∈ C̃ ×B& ��� ��� 2A&+34 ��������


Pθ(B̃ × E) = P̃θ(B̃)δθ(E) = χE(θ)

√
θ

π

∏
k∈L̃

∫
C̃k

ω
− 1

2
k e−θωkβ(dωk)

��� 	/�
 θ > 04 
�������

P (B̃ × E) =
γα

Γ(α)
√
π

∫
E

[∏
k∈L̃

∫
C̃k

ω
− 1

2
k e−θ(γ+ωk)β(dωk)

]
θα−

1
2β(dθ).

%��/ �����
�� �!���
 ��������
� �� P (B) 	�� Pθ(B) ��� 	/�
 	����$��	� �"���� B ∈ C&
8b9 ?���� U ⊆ C � 	�����	� �/�� ��� ��	�
�$��� ���������� EN×E 4 � ����� ����
�
����
��� �"���� ��� �����"� �� 
	������"� ���� �����

∏
n∈N Gn4 ���� Gn ∈ E ��� 	/�


n ∈ N 	�� ��� �� �"���� L := {n ∈ N : Gn �= R} 
���� �
�
�������&  
 Uf �������6���

�� �"���� ���� ��� �
�
�������� 
���
�� ����!
��� ��� U 4 	�� �
 H �������6���

�� �"���� ���� ��� �� 	
��� ���� �� �/�� 	��
������
��� ��	��
�
��� ��� Uf &
�/� G ∈ EN × E ���


VG := {V ∈ Uf : V ⊆ G}

D@



���	
� ���� H 	��
⋃
VG = G& ���" (Ω, EN × E) 
���� ���� ������	�� !���� ��
��� ���

�� ����� P 	�� Pθ 
���� τ ������
��	/ 2��& �&! 9>< Theorem -+-C3& 7� �����
��

2A&:3 P (G) = sup
V ∈VG

P (V ) 	�� Pθ(G) = sup
V ∈VG

Pθ(V ) ��� 	/�
 θ ∈ R.

�������� ���" 	/�
 ����� 
�/�� �
 ��� ������	� !��� 
���� 
���
��	/ 	�����	� ��
���� �� 	�
���/ �"���� 2��& �&! 9>< Theorem -+:�34 ���	"��
� ��� ���� ��!"
� ��� ��
����� P 	�� Pθ 2��� θ ∈ R34 
������� ��� ��� ������� �J&+, ��
��� ��� �� ����� ���/
�� 
���� 
(��
��	/ 	�����	/ �� ���� �� ����	�/ �"����& �������� !�������������� ���
2A&:3 �!���


P (E) = inf
G∈EN×E,G⊇E

sup
V ∈VG

P (V ) ��� 	/�
 E ∈ B(Ω),

	��

Pθ(E) = inf
G∈EN×E,G⊇E

sup
V ∈VG

Pθ(V ) ��� 	/�
 E ∈ B(Ω) 	�� ��� �� θ ∈ R+.

�	�����
� ��� ���/$
���� ��� $
�!�
� ��� � ���
������ �vii�=⇒�vi� ��� 8
������
��� A&@&: $
� ��!"
� �
��	/& 
� �$�� ���/$
���� $
�!�
� ��� � ����
�� ��� � $��$�	����
{Wn}n∈N ���� C����� -&+&@ ��� Huang 9+A< 
���� Pỹ�������� 
���� ����	���4 ���" ������
�"����� �
 �� ����	/�� ���/$
����4 � {Wn}n∈N $
� ����
� �� 
���� P �������/(���4 /��
$
� ����
� �&!& �� ��!"
� �� ������� ��� Huang 2��& 9+A< �
�& :,3 ���� 	�� /���
����
������� ��� 9+A< 2��& 
����� ���������� -&+&- 8a9 3&

/��� ����� *5)5) ?���� ��� Qn(θ) = Exp(nθ) ��� 	/�
 n ∈ N 	�� ��� 	/�
 ����
��
θ > 0 	�� μ = Ga(2, 1)& 
��
 ��
� �� ������
�� ��� 8
�������� A&-&+ 
	��� ��� ���

Qn(θ) = K(θ) ��� 	/�
 n ∈ N 	�� ��� 	/�
 ����
�� θ ∈ Ξ

�	�������"���� ��� (Ξ, Z) =
(
(0,∞),B

(
(0,∞)

))
& �
 ���� ��� �
������� � K(θ) �����

	��������� ��� ��� K(nθ) := Exp(nθ)&
�	���������� ��� �$�� ����	� �
 ��� ���$
�(� ��� 8
�������� A&-&+ ��������
 ��� σ.$&

�$�/�
��� !����� /��(�� �������
�� {Wn}n∈N � ����� 
���� Pθ���
(/����� ��� 	/�

θ > 0 	�� �	������
� ��� ������
� Wn = πn 	�� (Pθ)Wn = K(nθ) ��� 	/�
 n ∈ N 	�� ���
	/�
 ����
�� θ > 0&
���
��� � {Wn}n∈N 
���� ��� σ.$& 
�$�/�
��� !����� /��(�� �������
�� � ����� 
����
Pθ���
(/����� ��� 	/�
 ����
�� θ > 04 ���/ � ����� �	������
� ��� �!���

P (

r⋂
k=1

{Wk ≤ wk}) =
∫ r∏

k=1

Pθ(Wk ≤ wk)ν(dθ),

���� ν = PΘ|B
(
(0,∞)

)
	�� B

(
(0,∞)

)
= σ({P·(E) : E ∈ Σ})&

���
���4 � σ.$& ��� ������" ��� �������
�� {Nt}t∈R+ ��� ���/�
��� ��� ��� �	�������
��� 	�����	�� �������� {πn}n∈N = {Wn}n∈N $
� 
���� ��� ν�MRP �!
��6��
�� �
 ���

D-



{Pθ}θ∈Ξ4 ���� ν = PΘ|B
(
(0,∞)

)
= μ|B

(
(0,∞)

)
. ��� ����� � {Wn}n∈N $
� 
���� P �

������/(���&
��/�����4 ���" �!���
 ������
� ��� (Pθ)Wn = K(nθ) = Exp(nθ) ��� 	/�
 n ∈ N 	��
��� 	/�
 ����
�� θ > 04 ���
 �� ��!"
� (Pθ)W1 = Exp(θ) 	�� (Pθ)W2 = Exp(2θ) ���
	/�
 ����
�� θ > 0& �������� ��� 	/�
 w1, w2 ∈ R+ ��
��� ���

P (W1 ≤ w1,W2 ≤ w2) = 2

∫ ∞

0

(1− e−θw1)(1− e−2θw2)e−2θdθ

= w2(w2 + 1)−1 − 2[(w1 + 2)−1 + (w1 + 2w2 + 2)−1],

��������"�
 ���� ��� P (W1 ≤ 2,W2 ≤ 1) = 1
3
�= 2

7
= P (W1 ≤ 1,W2 ≤ 2)&

DA



D;




���
	�� ,

��	������ ��	 +�	
��������

;"# �$ �%&'��()�

��� 	�����	� ���$
���� ��� 8
����� %��$"��� � σ.$& ��� ������" ��� �������
��
{Nt}t∈R+ 
���� ��� 2����
���3 $��$�	���� Poisson4 � ����� 
���� � ��� ���� ����
���	�
σ.$& �
 
	�
��	/ 	����
�������� 
�$�/�
���� !������ {Wn}n∈N 
��/����� ��� 
�$
!��
����� &

� 
���
�� ���� �
�/ �� 	�����	� ���$
���� 
���� �� �
���
�� ����
���	�& �"�����
�
 �� ���	
	������ ���$
���� � σ.$& ��� ������" ��� �������
�� {Nt}t∈R+ 
�/�
��� ���
��� σ.$& {Wn}n∈N ��� 
�$�/�
��� !����� 
��/����� 
�$
!������ � ����� ���������

��� 
���� ��
(/����� 	�� �������&

� �
���"�
�� �
����	���� ��� $"� �����/�� �������� 
���� ��� $
� �����"�
 �� �
�
�
������
 ��� �� ����
��� !�������/	�� 	��$"���& )�� �� ���
� � �����$����
 �
���� ��
����
� �� ��/����
 �� !�������/	�� �
 ��	���
�� ����
�� 	�� �� �
�
������
 �� 	�����
(
!�����/& ?'��� 
������ ������ ��� ��� �"�!���� ���������	/ 	�� E��������	�����	/
��������	/ ���
�
 �� ������!�
� ��� ���$
���� �� ����� �� �!
� ��� $��������� �� �
�
�
���
� ��� �� ����
��� !�������/	��& ��!�	/ �
�
����	
 ��� �
��	
��� ��� 	�����	�"
���$
���� ��� ����� � {Nt}t∈R+ 
���� ��� �
������� $��$�	���� Poisson& 
� +>B, ��� ���
C.O. Segerdahl 2 ��& 9@@< �
�& +;-3 ����/��	
 � 
������� ��� MRPs �
 ����������	/
���$
������4 ��� �
�
������ ����
���	� ���$
���� $���$�4 �
 �	��� ��� �
������ ���
�$� ��/�!����� ���$
���� �
 ��� �
�
�����
� $��$�	���
� Poisson&
8
���"�
 ��� �� ����
��� !�������/	�� 	��$"��� 	�� ���������
 �
������� ��� �� ��
����
��� !�������/	�� 
���� ��� ��(� ��	���
��� ����
��� 4 �$��� �
������ 4 ���������
�$������� 4 ���/ 
������ $��	����� !��������	���& �������� ���������
 ��� 	/�

����
��� !�������/	�� ����
� �� !���	������
� ��� ��� �������������� ���� ��!����
�
�������� Θ& ���� ������
� ��� � 	������� ��� Θ ����������
"
� ��� $��� ��� �� ����
�
��"� !��������	���&�
 ���� ��� �
������� �� �$�����
� ��� 	�������� ��� {Nt}t∈R+

	�����6����� ��� 
	
��
� ��� ��� �����	�� 	�������� $��
���� ��� ��!���� �
��������
Θ 	�� ��� ��� �$�����
� ��� Θ& ���
��� � Θ 	�� � 	������� ��� PΘ ��������  ���
�
���������� 	��  ���
� 
������� ��� !��������	���&
?��� 	��� ���/$
���� ��� �� 	����/����
 ��� �
������
� �� �
�
������ ����
���	� ����
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$
���� 
���� 
	
��� ��� !��������	��� ���/����� �!��/���& �� ���������
 
������� ���
�� �� ����
��� !�������/	�� ��� ����
�
���� ��� $"� ��	���
�� ����
�� 
	 ��� ������
�� ��� ����
�
���� ��� ��������� ���/����� ��� �����"� ����� �$���"� �
 �������
����	�����4 	�� �� $
"�
�� ����
�
���� ��� ��������� ���/����� ��� �����"� ���
�����
�$���"� �
 ��	��
�
��	� ����	�����& ���� ����"�� �
������� � ��!��� �
������� Θ
�����
� $"� �����4 θ1 	�� θ2 ��� �� ����� 	�� $
"�
�� !�������/	�� ��������!�& ?����
�
 �����
�� �
 �� 	�����	� � �� ����
���	� ���$
���� �
 �� ����� �� 
�!��
 �� �
�
�
������
 $"� !�������/	�� �
 ��������!
� ����������� θ1 	�� θ2 ���� �
������� ���
�
�
������� ����
���	�" ���$
������� �����"�
 �� �
�
������
 �� �"���� ��� !�����
����	��� �
�
������ ��� �
 ���/�
��� Θ = (θ1, θ2)&

;"! 
+��)$(6�

8a9 ���� �
��$
� ��� �	������"� �	���� ��� 
���� �� �����������
 	�� �� ���	������

��� ����
���
�
� ����� ���� ���$
������� ��� ����� � σ.$& ��� ������" ��� �������
��

���� ��� MPP(Θ) 	�� 
��� /���� ��� ����� � σ.$& ��� ������" ��� �������
�� 
���� ���
(P,K(Θ))�MRP �
 ��� �$�� $���	� ���/�
���&
?���� ��� � σ.$& ��� ������" ��� �������
�� {Nt}t∈R+ 
���� ��� (P,K(Θ))�MRP ��� ���
����� � σ.$& ��� 
�$�/�
��� !����� /��(�� ��� �������
�� {Wn}n∈N 
���� ��� �����	�
��
(/����� 	�� ��� 	/�
 n ∈ N0 �	������
� ��� �!���

PWn|Θ = K(Θ) = Ga(2,Θ) P |σ(Θ)− σ.β.,

$���$� ��� 	/�
 ���� θ ��� ��!���� �
�������� Θ ��!"
�

K(θ)(t) = 1− θte−θt 	�� k(θ)(t) := K′(θ)(t) = θ2te−θt t ≥ 0.

' ��!��� �
������� Θ �����
� �
��	�� �����& 8
���"�
 
������� ��� σ.$& ��� ������"

��� �������
�� {Ñt}t∈R+ � ����� ���������
 ��� 
���� ��� �
�
������ $��$�	���� Poisson

�
 $���	� ���/�
��� Θ& ' {Ñt}t∈R+ 
������� 
���� 	�� ��� (P,K(Θ))�MRP ��� ���

����� � σ.$& ��� 
�$�/�
��� !����� /��(�� ��� �������
�� {W̃n}n∈N 
���� ��� �����	�
��
(/����� 	�� ��� 	/�
 n ∈ N0 �	������
� ��� �!���

PW̃n|Θ = K(Θ) = Exp(Θ) P |σ(Θ)− σ.β.,

$���$� ��� 	/�
 ���� θ ��� ��!���� �
�������� Θ ��!"
�

K1(θ)(t) = 1− e−θt 	�� k1(θ)(t) := K′
1(θ)(t) = θe−θt t ≥ 0.

=��������
 
������� ��� 	�� ���� $"� �
������
�� �!���
 ��� �$�� ��!��� �
������� Θ
�
 ���/����� 	�������� U 	�� ���� ���� μΘ&

8� �����������
 	�� �� ���	������
 ��� ���
� ����� ��� {Nt}t∈R+ 	�� {Ñt}t∈R+ &

C� ����������� ��� ��� {Ñt}t∈R+ �����
������� 	���� �� ����
������� 
���� �����/&
)�� 	/�
 ���� θ ��� ��!���� �
�������� Θ �� �!���
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E[Nt|Θ = θ] =
∞∑
n=0

nP (Nt = n) =
∞∑
n=0

nP (Tn ≤ t < Tn−1)

=
∞∑
n=0

n(P (Tn ≤ t)− P (Tn−1 ≤ t))

=

∞∑
n=0

nP (Tn ≤ t)−
∞∑
n=0

nP (Tn+1 ≤ t)

=

∞∑
n=0

nP
( n∑

i=1

Wi ≤ t
)
−

∞∑
n=0

nP
( n+1∑

i=1

Wi ≤ t
)

=

∞∑
n=0

nKn∗(θ)(t)−
∞∑
n=0

nK(n+1)∗(θ)(t),

���� Kn∗(θ)(t) = Ga(2n, θ) 	�� K(n+1)∗(θ)(t) = Ga(2n + 2, θ) 4 ���" �� Wi 
����
��
(/����
� 	�� ������
� ��� Θ = θ& 
��


d

dt
E[Nt|Θ = θ] =

d

dt

( ∞∑
n=0

nKn∗(θ)(t)−
∞∑
n=0

nK(n+1)∗(θ)(t)
)

=

∞∑
n=0

n
d

dt
Kn∗(θ)(t)−

∞∑
n=0

n
d

dt
K(n+1)∗(θ)(t)

=

∞∑
n=0

nkn∗(θ)(t)−
∞∑
n=0

nk(n+1)∗(θ)(t)

=

∞∑
n=0

nθe−θt (θt)
2n−1

(2n− 1)!
−

∞∑
n=0

nθe−θt (θt)
2n+1

(2n+ 1)!

= θe−θt

∞∑
n=0

(θt)2n−1

(2n− 1)!
= θe−θt sinh(θt)

= θe−θt e
θt − e−θt

2
.

��������

E[Nt|Θ = θ] =

∫ t

0

θe−θs e
θs − e−θs

2
ds =

∫ t

0

θ
1− e−2θs

2
ds

=
θt

2
− 1− e−2θt

4
,

D>



/��

2;&+3 E[Nt|Θ] =
Θt

2
− 1− e−2Θt

4
.

��������

E[Nt] = E

[
E[Nt|Θ]

]
= E

[Θt

2
− 1− e−2Θt

4

]
= E

[Θt

2

]
− E
[1− e−2Θt

4

]
=

tE[Θ]

2
− 1− E[e−2Θt]

4

/��

2;&:3 E[Nt] =
tμΘ

2
− 1− û(2t)

4
,

���� û 
���� � �
���!��������� Laplace ��� ��!���� �
�������� Θ&

)�� ��� {Ñt}t∈R+ ��� ������ �
����� 2 ��& �&!& 9@:< Lemma -&:&A3 � �
�� ���� ��� ��

���� ��� �


2;&@3 E[Ñt] = tμΘ.

�������� ��� ��� �!��
�� 2;&:3 	�� 2;&@3 
���� �������� ���

E[Nt] < E[Ñt].

8b9 C� ������/(��
� ���!����	�� $��$�	���
� �!
� ��
�
� ��� �!��� 
������� ���� ���
��
�������� 	�����/�
�� 6��� 2��& Shanthikumar 9@-<3& �
 �
��	/ #�� �������
����
��������� 2replacement models3 �� !����� 6��� ��� ���������� $
� ������
�
���� �������� 	�� ��
(/������4 ���� � ���/����� 	�������� ���� �������
� ��
�/�����
�
 	/�
 �
�/�
��&
?��� ������ �"����� ���
��� consecutive-k-out-of-n:F 	�� ����
�
���� ��� �	�������
n ����������& 
� �"����� 	�����
� ���
 	�� ���� ���
 �� k � �
������
�
� ���
!��
�
�
� ��������
� !��/����& 
� �"����/ ��� 
���� s�������/(��� 	�� ��� 	/�
 �
�/�
��
σ = {σ(1), . . . , σ(n)} ��� {1, . . . , 2} ��!"
�

Fσ(t) = P (Tσ(1) ≤ t1, . . . , Tσ(n) ≤ tn) = F (t), t > 0

���� t = (t1, · · · , tn) 	�� Ti 
���� � !����� 6��� ��� ���������� i&  
 Mt ���6���
 ���
σ.$& ��� ������" ��� ���������� ��� ���������� ��� �!��� !��/�
� ��!�� �� !���� t
	�� ��� ��� ����� ��!"
�

pj(t) = P (Mt = j) :=
n!

j!(n− j)!
P (T1 ≤ t, . . . , Tj ≤ t, Tj+1 > t, . . . , Tn > t).

>,



8
���"�
 
����
�� ��� $����� ��!��� �
������� X i
t � ����� �� �����
� ��� ���� + �� �

��������� i �
�������� ��� !���� t4 	�� ��� ���� , $�����
��	/& �
 ���� ��� �
�������
� ��������	� ���/����� 	�������� ��� !����� 6��� ��� ���������� ��� �� 
����

H(t) = 1−
n∑

j=0

j!(n− j)!

n!
pj(t).

����� �������� ��� �� �����/�� ���$
����4 �� ����� ����	
� 
�������� 	����� �
 $�	���4
�� �����"�
 �� �
����/5
� 	�� ������ ����������	�" 
�$����������& ���� �
�������
��� �����
��� 6��� �� �����"���
 �� ����
����������
 ��	��
�
��	/ �����/�����
6��� � ���/���& ����� ����� ��� ��� ������� ���� ��	����
��� �� !����� 6��� $
� 
����
	�� $
� ����
� �� �
���"���� ��
(/������4 �����"�
 ���� �� ���������
 ��� 
���� ���
�� �"����� ���� 
���� s�������/(����&
�� ���������
 �� ����	/�� ���� ���/$
���� 
��� ���������� ���/���& 8
���"�
 ���
��	����
�� � ����� ����
�
���� ��� ���� /���� 	�� � ����� ���/��
� �
 !���� t = 0
��� ��������� ���/��� �
 ��� ���������	� 
������ �� ����� 	�����6
� ��� �
 �
�������

���/��� �	����� $"� �
��� ��� ��	����
��� ��!�� ��� !���� T̃ � 
��6�� �� �/�
� ���
���6��
���� "5��� c ���������	�� ���/$��& ����� �������� ��� ��� ��� ���������	�

������ ���� �� ��������� /���������
"
� ��� consecutive-2-out-of-3:F �"�����& '

���������� �� ��������� ���� �� 
	�
�
��
� �
 !���� t < T̃ 
����

p2(t) = P (Mt = 2) =
3!

2!(3− 2)!
P (T1 ≤ t, T2 ≤ t, T3 > t) = 3P (T1 ≤ t, T2 ≤ t, T3 > t)


�� � ���������� �� ��� 
	�
�
��
� 
����

p0(t) + p1(t) = 3P (T1 ≤ t, T2 > t, T3 > t) + P (T1 > t, T2 > t, T3 > t).

��������4 �� Zt = c ��� 	/�
 t < T̃ 
���� � ���/����� ����������� ��� ����������

���
 � ���� ����
���
�� 6���� ��� ��� ���������	� 
������ ��� 	/�
 t < T̃ �� 
����

E[Zt] = 3cP (T1 ≤ t, T2 ≤ t, T3 > t).

;"0 ��)%��5�)���

�� �/�
 �� �����/�� ����
������� ��� ���� ��� 	/��& 8
���"�
 ��� �� ����
��� !���
�����/	�� 	��$"���4 ��� �� ����� � σ.$& ��� �
������ �������
�� {Xn}n∈N 
���� � �$��&
8
���"�
 
������� ��� σ&$& {Nt}t∈R+ 	�� {Ñt}t∈R+ 
���� ���� ������	�� ���� �����
��"�
�� 
������& �"����� �
 �� �����/�� �� ���	"5��� $"� ��!��� ����������4 ��

St :=
∑Nt

k=1Xk 	�� �� S̃t :=
∑Ñt

k=1Xk4 ��� �� �
����/���� ��� ������	�� ���6��
���
��
��� !��������	���& ' ���� ���� S �
��	/ 
����

E[S] = E[N ]E[X]

>+



2 ��& 9@:< Lemma A&:&+,3& ?��� E[Nt] < E[Ñt]& ����� �������� ��� �� �����/�� ��� ����
�� !�������/	�� �
����/�
��� ��� ��� (P,K(Θ))�MRP �!���
 ��	���
�� ����
���
��
���� ������	�� ���6��
���
�� �
 �!��� �
 
	
��� ��� ��������
 ��� ��� MPP&
)�� κ ∈ (0,∞)4 u ∈ (0,∞) 	�� t ∈ R+ ���6���
 ��� σ.$& ��� ����
����	�" ��� ��
!�������/	�� ���� ��� ���������	�� 
������� �
 ��!�	� 	
�/���� u 	�� ����� 
�����(��
����������� κt

Ru
t := u+ κt− St.

���" ����
������
 ��� �$�� !�������/	�� �!���
 ��� �� ��!�	� 	
�/���� u 	�� � ������

�����(�� ����������� κt 
���� �$���& ����� �������� ��� �� ����
���
�� ����
����	�
��� ����
� �� 	���/
� � ���������	� 
��!
����� ���� ����
������"�
 �
 (P,K(Θ))�MRP

���� ����
�/ �
���"�
�� ��� 
	
��� ��� ����
� �� 	���/
� � 
������ ���� �� �� !�������
�/	�� ����
�����
���� ��� ��� MPP(Θ)& �"����� �
 �� �����/�� � ����
�������� �

(P,K(Θ))�MRP �������
� �
���"�
�� ���/�
�� ���� 
������& ��������4 �� ���������

��� � ���������	� 
���� ��� 
���
$� ��� �
����� ��� ��� $��������� 
��� ���� !���������
	���4 	�� �!
� ��������	/ �
���� �� ����� �������
� �� ����
�������
�4 � ����
��������
�
 MRP �� �$���"�
 �
 ��	���
�� ��!�	� 	
�/���� � �
 ��	���
�� ����� 
�����(��
�����������& �"�� �� 
�!
 �� ������
��� �� ����
����	� ��� !��������	��� �� 
����
��� �$�� 
���
$� �
 �� ��������!� ��� �
������� ��� �� ����
������"���
 �
 MPP(Θ)4

�� 
��
 �� 
�!
 !������
�� ��!�	� 	
�/���� 
��
 �� ���� ��� �����������	� ���� ����/
���� !������
��� �����������&
��������4 ���� ��� �
�
������� ����
���	�� ���!����	�� $��$�	����� �����"�
 ��
�����"(���
 ��� ���$
���� ��� ������� ��� �$����� Solvency II ��� ����� �� Solvency
Capital Requirement 2SCR3 �� ���� ��	���
�� ��� 
	
��� ��� �� ����	���
 ��� ��
����	� ���$
���� ��� ����
��
���4 
����"������ ��	�����	/ ��� ���������	� 
������& '
����
�������� ��� �
�������	�� 	��$"��� ���
��� ���� ���MPP(Θ)& 
� 
������� ����
�� ����� ����
� �� �!
� ��� ����
����	� ��� � ���������	� ���6
��� �� ��� ������� 
��
��� ����� ����
���
��� 6����� ��� �
�������	�"� 	��$"����& �������� �� ��� ���$
���
�/ ��� � {Nt}t∈R+ 
�!
 ����
�
� ��� ����� ��� (P,K(Θ))�MRP 	�� �!� MPP(Θ) ���� ��

�!
 �� ������
��� �� ���!�
��
�� ��� ���������	�� �� ���� ��	���
�
�&

>:



�����������

��� ����	
� 
��
��� ������� �
��
�

��� �
 ������� ��� �
���
��� ������

��� �
�
�
 �	
� �!��
���

"�� �
 ������� de Finetti
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�	����"�	 +-

�	����� ������� #����	� '�����

������� +05� ?���� Ω ��� �"����&  �� σ�/��
��� ���������� ��� Ω 
���� ���
�"����� Σ ���������� ��� Ω4 ���


8a9 Ω ∈ Σ

8b9 ��� 	/�
 E ∈ Σ4 �� ���������� ��� Ω \ E ���	
� ��� Σ4

8c9 ��� 	/�
 �	������� {En}n∈N ��� Σ4 � ����� ���
⋃

n∈NEn ���	
� ��� Σ&

������� +05� ?���� 6���� �����# 
���� ��� ���/$� (Ω,Σ, μ)4 ����

8a9 Ω 
���� ��� �"����

8b9 Σ 
���� ���σ�/��
��� ���������� ��� Ω

8c9 μ : Σ �−→ [0,∞] 
���� ��� ���������/�����4 ���


8�9 μ(∅) = 0,

849 ��� 	/�
 �	������� {En}n∈N ����!
��� ��� Σ �
 Ei ∩Ej = ∅ ��� 	/�

i �= j ∈ N ��!"
� μ

(⋃
n∈N En

)
=
∑∞

n=0 μ(En)&

�� �� μ 
���� ������ ���
 μ(Ω) = 1 ���
 ���� ����/6
��� ����� ��;�������� �
��;������� 	�� �������6
��� ������� �
 P & ����	������4 � ��������!�� !&�& ��
���/6
��� 6���� ��;�������� 2!&�&3 	�� �������6
��� �
 (Ω,Σ, P )& �� �� μ 
����
������ ���
 μ(Ω) < ∞4 ���
 ���� ����/6
��� ����������� ����� 	�� �� ��/�!
�
{Ωn}n∈N ��� � �
 Ω =

⋃
n∈N Ωn ���
 ��� 	/�
 n ∈ N �� μ(Ωn) < ∞4 ���
 ���� ����

�/6
��� σ"����������� ����� 	�� � ��������!�� !&�& 6���� �����������# �
σ"�����������# �����#&

>A



������� +05� �� Υ 
���� ��� �"���� 	�� T ��� σ�/��
��� ��� Υ4 ��� ���/�����
f : Ω �−→ Υ ����/6
��� Σ"T "��������� � ����� ��������� �� 	�� ���� �� ���
	/�
 B ∈ T ��!"
� f−1(B) ∈ Σ& ��$�	/4 �� Υ = R 	�� T = B4 ���
 � f ����/6
���
�#6��� ����4���� 8�5�594 
�� �� Υ = Rn 	�� T = Bn4 n ∈ N∗4 ���
 � f ����/6
���
8n" �������9 �#6���  ���#���&

������� +05)  �� ��	����
�� A ���������� 
��� ������� Ω ���
��� ����4�� ���
Ω �� �	������
� ��� 
(�� �$�����
�

2i3 Ω ∈ A

2ii3 �� A ∈ A4 ���
 Ω \ A ∈ A

2iii3 �� A1, . . . , An ∈ A4 n ∈ N4 ���

⋂n

i=1Ai ∈ A&

/������ +05* )*��# A ��� �,��1 � ��� Ω� '
 ��	
�� ��� ��( ��� �� ����# � �������
�(�� " A ��
�� ��� σ��,��1 ��

�i� ��� ���� �
����� ���,����� {An}n∈N ��"
 A ��	
��
⋃

n∈NAn ∈ A�

�ii� ��� ���� +��
���� ���,����� {An}n∈N ��"
 A ��	
��
⋂

n∈N An ∈ A�

�iii� ��� ���� ���,����� {An}n∈N ��
#
 �
� �
� ����	��#
 �"� A ��	
��
⋃

n∈NAn ∈ A�

/������ +05, )*��# (Ω,Σ) ��� (Υ, T ) �
� ��� ������ 	� �� ��� ��� �����(
��" f :
Ω �−→ Υ�0(��

�i� " {B ⊂ Υ : f−1(B) ∈ Σ} ��
�� ��� σ��,��1 � ��� Υ� ���

�ii� �
 C ��
�� ������
��� �����
(,#
 ��� Υ ���� σ(C) = T � �(�� " f ��
�� Σ�T �
��� ����" �
 ��� �(
� �
 f−1(C) ⊂ Σ�

������� +05( ' �
��/$� (Ω, T ,B(Ω), P ) ���
��� ��������
�� 6���� ��;���"
�����4 �� (Ω, T ) 
���� ���� ��������	�� !����4 B(Ω) 
���� � σ�/��
��� Borel ��� Ω4
$���$� � 
�/!���� σ�/��
��� ��� ���/�
��� ��� ��� ��������� T 4 	�� (Ω,B(Ω), P ) 
����
���� !���� �����������&

������� +05. ?���� (Ω, T ,B(Ω), P ) ���� ��������	�� !���� �����������& 
��
 ��
����� P 
����0

>;



8a9 �������
� 
�����
� �� ���� �� 
������ #���!���� ��# Ω4 �� ���
	/�
 E ∈ B(Ω) ��!"
�

P (E) = sup{P (C) : C ⊆ E 	�� Ω \ C ∈ T },

8b9 �<�����
� 
�����
� �� ���� �� ����6�� #���!���� ��# Ω4 �� ���
	/�
 G ∈ B(Ω) ��!"
�

P (E) = inf{P (G) : G ⊇ E 	�� G ∈ T }

&

������� +05$ ' ���������� P ����/6
��� τ"����;���
� �� ��� 	/�
 �� 	
�� ����
�� �/�� 	��
������
�� ��	����
�� ����	��� ������� G ��!"
�

P

(⋃
G
)

= sup{P (G) : G ∈ G}.

/������ +05�3 '
 �� ��� � P ��
�� ��#�� ��� ��
�
��( #� � �� �� �,����� ����
�

�,� ��� Ω �(�� ��
�� ��� ��#�� ��� ��
�
��( #� � �� �� �
��	�� ����

�,� ��� Ω

+�� ��<�5 #��$�!�	/ �!���


inf{P (G) : G ∈ T , G ⊇ E} = inf{1− P (F ) : F c ∈ T , F ⊆ Ec}

= 1− sup{P (F ) : F c ∈ T , F ⊆ Ec} = 1− P (Ec).

?���
P (E) = inf{P (G) : G ∈ T , G ⊇ E}

��K���� ��
��� �� ����������&
�

>B



>D



�	����"�	 �-

.� #���"�	 '������"� 

��"�

�
 ���� �� ���/����� �������/6���
 $"� �
������� ��� σ�/��
��
�& 
� �
�������
���/ 2�$�������� �� 8
�����  �������� %�/���3 
���� ����� ��� ����	�� �
!��	�� ��
��$
�(
�� ���  
����
�����	�� ����������� 	�� �!��� ������ 	�� �
�/��� �/������

��������&

>���� 	05� )*��# Ω �
� �

�,� ��� D ��� ������
��� �����
(,#
 ��� Ω� 0(�� ��
�� ����# ��
�� ����

���

�i� 8Dyn19 Ω ∈ D
8Dyn29 B \ A ∈ D� ��� A,B ∈ D ��� A ⊆ B

8Dyn39
⋃

n∈N An ∈ D� ��� ���� �
����� ���,����� {An}n∈N �����
(,#
 ��� D�

�ii� 8Dyn19 ∅ ∈ D
8Dyn29 Ω \ A ∈ D� ��� ���� A ∈ D
8Dyn39

⋃
n∈N An ∈ D� ��� ���� ���,����� {An}n∈N ��
#
 �
� �
� �����
(,#


��� D�

+�� ��<�5 �i� ⇒ �ii� ?���� ��� ��!"
� � �i�& 
��
 ���" Ω ∈ D 	�� �"����� �
 ���
$
"�
�� �$������ ��� �i� ��
��� ��� ∅ = Ω \ Ω ⇒ ∅ ∈ D. ������ ��� Ω, A ∈ D �
 A ⊆ Ω
�/�� ��� ��� �$�� �$������ �� �!���
 ��� Ω \ A ∈ D. �� 
���� �4I $"� (��� �
��(" ����
����"���� ��� Ω4 ���
 A ⊆ Ω \ B ���" ∀ω ∈ Ω �!���


ω ∈ A ⇒ ω /∈ B ⇒ ω ∈ Ω \ B.

�������� ���" �� ω ���� ������
�� ���	"��
� ��� A ⊆ Ω\B. �������� ��� �� �����/��
	�� ��� $
"�
�� �$������ ��
��� ��� (Ω \ B) \ A ∈ D& ���/ (Ω \ B) \ A = X \ (A ∪ B)&
��/����� ���� ω ∈ Ω ���
 $��$�!�	/ �!���
0

ω ∈ (Ω \ B) \ A ⇔ ω ∈ Ω \ B, ω /∈ A ⇔ ω ∈ Ω, ω /∈ B, ω /∈ A ⇔ ω ∈ Ω, ω /∈ A ∪B,

>>



$���$� ���$"���� ���	"��
� ��� ω ∈ Ω \ (A ∪B)& ?��� ∀ω ∈ Ω ��
��� ���

(Ω \ B) \ A = Ω \ (A ∪ B) .

�������� 	�� �� ���������� ��� ������� (Ω \ B) \A ��� 
���� �� �"���� (A ∪ B) ��
���	
� ���� ��	����
�� D&
8
���"�
 ��� ��	����
�� {An}n∈N (���� ��� $"� ����!
��� ��� D4 ���
 ��� 	/�
 n ∈ N

��
��� ��� � ��	����
�� {Bn}n∈N := {
⋃

i≤n Ai}n∈N 
���� ��� �"(���� �	������� ����!
���
��� D& ��������4 ⋃

n∈N
Bn =

⋃
n∈N

(⋃
i≤n

Ai

)
=
⋃
n∈N

An ∈ D.

�ii�⇒�i� ?���� ��� � �ii� ��!"
�4 ���
 �������� ���" ∅ ∈ D ⇒ Ω \ ∅ = Ω ∈ D& �� 
����
A4B $"� �"���� ��� ��	����
��� D ��� �� ����� ��!"
� ��� A ⊆ B ���
 �� Ω \ B ∈ D
	�� Ω \ B ∩ A = ∅ 
������� A ∪ (Ω \ B) ∈ D �� ����� (���� ����!
��� ��� D& ���/

A ∪ (Ω \ B) = (Ω \ A ∪ B) = Ω \ (B \ A)

$���$� (
X \ (B \ A)

)c
= B \ A ∈ D.

?���� {An}n∈N ��� �"(���� �	������� ����!
��� ��� ��	����
��� D4 ���
 �� �"����
A0, A1 \ A0, A2 \ A1, . . . $��������"� ��� �	������� {An \ An−1}n∈N (���� ��/ $"�
������� ��� D 
������� ⋃

n∈N
(An/An−1) =

⋃
n∈N

An ∈ D

�

������� 	05� �/� ��� �"���� D ⊆ P (Ω) �	������
� ��� �����	
� �i� � �ii� ���
.������� IJ&+ ���
 ���
��� 
���� Dynkin ���������� ��� Ω&

������� 	05� �������� &�������� ������� )*��# Ω �
� �

�,� ��� D ���
�,��" Dynkin �����
(,#
 ��� Ω� 6��������� (�� �� �

�,� I ⊆ D ��
�� ������� ����
I ∩ J ∈ I ��� (,� �� I, J ∈ I� 0(�� " D �� ��	�� �"
 σ(I)�

+�� ��<�5 8a9 ?���� S � ��	����
�� ���� ��� 	�/�
�� Dynkin ���������� ���
Ω ��� �
���!��� �� I& ����� 
"	��� �� $
�(���
4 !�������������� �� �i� 	�� �ii� ���
.������� IJ&+4 ��� � ���� Ξ =

⋂
S 
���� 
����� ��� 	�/�� Dynkin& ���" D ∈ S4 ��

�!���
 Ξ ⊆ D&
8b9 �� H ∈ Ξ ���
 � ��	����
��

ΞH := {E ∈ Ξ : E ∩H ∈ Ξ}

+,,




���� ��� 	�/�� Dynkin& ��/�����
8Dyn19 Ω ∩H = H ∈ Ξ 	�� /�� Ω ∈ ΞH &
8Dyn29 ?���� A,B ∈ ΣΞ �
 A ⊆ B& 
��
 A ∩ H 4B ∩ H ∈ Ξ 	�� A ∩ H ⊆ B ∩ H &
���
���

(B \ A) ∩H = (B ∩H) \ (A ∩H) ∈ Ξ

	�� /�� B \ A ∈ Ξ&
8Dyn39 ?���� {An}n∈N ��� �"(���� �	������� ���� ΞH & ��������"�
 ��� �� �"����(⋃

n∈NAn

)
∩H ����
� �� ����
� ���� �����

⋃
n∈N(An ∩H) 	�� ��� � �	������� {An ∩

H}n∈N 
���� �"(���� �	������� ����!
��� ��� Ξ& ��������4 ���" � Ξ 
���� ��� 	�/��
Dynkin4 ��
��� ���

(⋃
n∈NAn

)
∩H ∈ Ξ4 $���$�

⋃
n∈N An ∈ ΞH &

8c9 �� ΞH ⊇ I4 ���
 ΞH ∈ S 	�� ΞH = Ξ&
��/�����4 �� ΞH ⊇ I4 ���" � ΞH 
���� ��� 	�/�� Dynkin ��� �� 8b94 ���	"��
� ���
ΞH ∈ S 
������� ΞH = Ξ&
8d9 )�� 	/�
 G,H ∈ Ξ ��!"
� G ∩H ∈ Ξ&
?���� I, J ∈ I ������
�� �"����& ����� ������ ��� I ∩ J ∈ I& ���" �� I ∈ I 
����
������
��4 ��
��� ���ΞJ ⊇ I4 
������� ��� �� 8c9 �!���
 ΞJ = Ξ 	�� H ∈ ΞJ 4 $���$�
H ∩ J ∈ Ξ& ���" �� J ∈ I 
���� ������
��4 ��
��� ��� ΣH ⊇ I4 
������� �/�� ��� ��
8c9 �!���
 ΞH = Ξ 	�� G ∈ ΞH 4 $���$� G ∩H ∈ Ξ&
8e9 ∅ ∈ Ξ 	�� G ∪H ∈ Ξ ��� 	/�
 G,H ∈ Ξ&
��/�����4 ���" � Ξ 
���� 	�/�� Dynkin ��� �� .���� IJ&+ ��
��� ��� ∅ ∈ Ξ& ������ ���
	/�
 G,H ∈ Ξ �!���


G ∪H = Ω \
(
(Ω \G) ∩ (Ω \H)

)
∈ Ξ,

���� � �
�
����� �!��� 
���� �����
�� ��� 8d9 	�� ��� .������� IJ&+&
8f9 )�� 	/�
 �	������� {Gn}n∈N ����!
��� ��� Ξ ��!"
�

⋃
n∈N Gn ∈ Ξ&

��/�����4 ��� 	/�
 n ∈ N ���6���
 Hn :=
⋃

i≤n Gi& ��� �� 8e9 ��
��� ��� Hn ∈ Ξ ���
	/�
 n ∈ N& ?C��� � {Hn}n∈N 
���� �"(���� �	������� ���� Ξ 	�� ����⋃

n∈N
Gn =

⋃
n∈N

Hn ∈ Ξ

���" � Ξ 
���� 	�/�� Dynkin&
8g9 σ(I) ⊆ Ξ ⊆ D.
��/�����4 ��� �� 8a9 	�� 8f9 ��
��� ��� � Ξ 
���� ��� σ�/��
��� ���������� ��� Ω4 ���
�
���!
� �� I& ?��� σ(I) ⊆ Ξ ⊆ D.

�

/��������� 	05) ' �������� 	�/�� Dynkin � �"����� Dynkin �!
� ������
� ���
��� H. Bauer 2��& 9@<3 ���� ���� ��� E.B. Dynkin 2+>:- � 34 � ������ !���������
�
���� ��� ������ �
 ��� �������� ���"����� ��� ������ ��� ��� ���!����	�� $��$�	���
�
2+>A>3& ���/ �� ��������� ������� 
�!�� �$� !�����������
� ��� ��� W. Sierpinski
2��& 9@A< �
�& B+,�B+-3&

+,+



/������ 	05* )*��# Ω �
� �

�,� ��� μ�ν �
� ��� � ��� Ω �� ����� � ����
 ���
σ��,��1 �� Σ ��� T �
������	�� 6��������� (�� μ(Ω) = ν(Ω) < ∞ ��� (�� " ������
���
I ⊆ Σ ∩ T ��
�� �,����� #� � �� �� ���� ����
�� ������ ���� μ(I) = ν(I) ��� ����
I ∈ I� 0(�� μ|σ(I) = ν|σ(I)�

+�� ��<�5 8a9 ' ��	����
��

D := {H ∈ Σ ∩ T : μ(H) = ν(H)}


���� ��� 	�/�� Dynkin ���������� ��� Ω&
��/�����4
8Dyn19 �������� ∅ ∈ D&
8Dyn29 )�/ 	/�
 A ∈ D ��!"
� Ac ∈ D4 ���" ��� 	/�
 A ∈ D �!���


μ(Ac = μ(Ω)− μ(A) = ν(Ω)− ν(A) = ν(Ac).

8Dyn39 )�� 	/�
 �	������� {An}n∈N (���� ��/ $"� ����!
��� ��� D ��!"
�
⋃

n∈N An ∈
D4 ���"

μ
( ⋃

n∈N
An

)
=

∞∑
n=0

μ(An) =

∞∑
n=0

ν(An) = ν
( ⋃

n∈N
An

)
.

8b9 μ|σ(I) = ν|σ(I)&
��/�����4 ���" I ⊆ D ��� �� 8
����� IJ&@ ��
��� ��� σ(I) ⊆ D4 $���$�
μ|σ(I) = ν|σ(I)&

�

/������ 	05, )*��# μ ��� ν �
� ��� � ���
 Rd� (��� d ≥ 1� ���� 
� � �7�
��� ���

� ���������
 ���
# �� (,� �� ���������� �"� �� +��

(−∞, a] = {x : x ≤ α} = {(x1, . . . , xd) : xi ≤ αi∀i ≤ d}

��� α := (α1, . . . , αd) ∈ Rd� 6��������� (�� μ(Rd) < ∞� 0(�� �� μ ��� ν ���������

���
# ��"
 B(Rd)�

+�� ��<�5 8�����
 Ω := Rd 	�� ���� I �� �"���� ��� $������/��� (−∞, α]& 
��

I ∩ J ∈ I ��� ��� �� I, J ∈ I ���" (−∞, α] ∩ (−∞, β] = (−∞, α ∧ β]4 ���� α ∧ β :=
(min{α1, β1}, . . . ,min{αd, βd}) �� α = (α1, . . . , αd), β = (β1, . . . , βd) ∈ Rd& ������4
�������� n := (n, . . . , n) ∈ Nd4 �!���


ν(Rd) = lim
n→∞

ν
(
(−∞, n]

)
= lim

n→∞
μ
(
(−∞, n]

)
= μ(Rd).

�������� �	�������"���� ��
� �� �����	
� ��� ���������� IJ&A 	�� ���� μ|σ(I) =
ν|σ(I)& ?C��� σ(I) = B(Rd) 2��& �&! 9D<4 Lemma +:+J3&

�

+,:



������� 	05( )*��# �
� �

�,� Ω ��� A ��� �,��1 � �����
(,#
 ��� Ω� 6��������
�� E ⊆ P(Ω) ��
�� ��� ������
��� ��
(,#
 ������ ����

8�9
⋃

n∈NAn ∈ E ��� ���� �
����� ���,����� {An}n∈N ��"
 E �

849
⋂

n∈N An ∈ E ��� ���� +��
���� ���,����� {An}n∈N ��"
 E �

8�9 A ⊆ E �

0(�� " E �� ��	�� �"
 σ��,��1 � �����
(,#
 ��� Ω ��� �� ������ ��( �"
 A�

+�� ��<�5 8a9 ?���� S � 	�/�� ���� ��� ��	��
�
��� S ⊆ P(Ω) ��� �	�������"� ���
�����	
� 8�9�849& 
��
 � ���� ���� Z

⋂
S �� �	������
� 
����� ��� �$�����
� 8�9�8�9

���" E ∈ S 	�� Z ⊆ E &
8b9 �/� H ∈ Z4 ���


ZH = {E : E ∈ Z,E ∩H ∈ Z}
�	������
� ��� �����	
� 8�9�849&
��/�����4 �� {An}n∈N 
���� ��� �"(���� �	������� ���� ZH 4 ���
 � {An ∩H}n∈N 
����
��� �"(���� �	������� ���� Z4 /��( ⋃

n∈N
An

)
∩H =

⋃
n∈N

(An ∩H) ∈ Z


�������
⋃

n∈NAn ∈ ZH & ��������!�4 �� {Bn}n∈N 
���� ��� �������� �	������� ����
ZH 4 ���
 � {Bn ∩H}n∈N 
���� ��� �������� �	������� ���� Z4 /��( ⋃

n∈N
Bn

)
∩H =

⋃
n∈N

(Bn ∩H) ∈ Z


�������
⋃

n∈NBn ∈ ZH & ��������4 �� E ∩H ∈ Z ��� 	/�
 E ∈ A4 ���� ���
 � ZH ��
�	������
� 	�� ��� �����	� 8�9& 
��
 ZH ∈ S 	�� �� ����
� �� 
���� ��� �
 ��� Z&
8c9 �� E ∩H ∈ Z ��� 	/�
 E ∈ A4 ���
 � ZH �	������
� ��� 8�9 	�� ��!"
� ZH ∈ S
	�� ZH = Z&
��������4 �� ��� 	/�
 E ∈ A ��!"
� E ∩H ∈ Z4 ���
 E ∈ ZH 4 $���$� ��!"
� � 8�9&
���
��� ZH ∈ S 	�� Z ⊆ ZH & ��� ��� �
�
����� �!��� ��6� �
 ��� Z ⊇ ZH ��
��� ���
ZH = Z&
8d9 )�� 	/�
 G,H ∈ Z ��!"
� G ∩H ∈ Z&
��/�����4 ���� E, F ∈ A& 
��
 E ∩ F ∈ A& ���" �� E 
���� ������
��4 ��� ��� 8c9
��
��� ��� ZF = Z 	�� H ∈ ZF 4 $���$� H ∩ F ∈ Z& ���" �� F 
���� ������
��4 �/��
��� ��� 8c9 ���	"��
� ��� ZH = Z 	�� G ∈ ZH 4 $���$� G ∩H ∈ Z N
8e9 Z∗ = {Ω \H : H ∈ Z} ∈ S&
��/�����4 ���� {An}n∈N ��� �"(���� �	������� ����!
��� ��� Z∗4 ���
 � {Ω \An}n∈N
�� 
���� ��� �������� �	������� ���� Z& ?���⋃

n∈N
An = Ω \

⋂
n∈N

(Ω \ An) ∈ Z∗.

+,@



��������!�4 ���� {Bn}n∈N ��� �������� �	������� ����!
��� ��� Z∗4 ���
 � {Ω\Bn}n∈N
�� 
���� ��� �"(���� �	������� ���� Z& ?���⋂

n∈N
Bn = Ω \

⋃
n∈N

(Ω \ Bn) ∈ Z∗.

?���� E ∈ A ���
 Ω \ E ∈ A /�� Ω \ E ∈ Z 	�� 
������� E ∈ Z∗&
8f9 ��� �� ������ 8c94 8d9 	�� 8e9 	�� ���" Ω ∈ Z 	�� �� Z 
���� 	�
���� �� ���� ���
�������
� 
���
�� ��
��� ��� �� Z 
���� ��� σ�/��
��� ���������� ��� Ω & �������� �
σ�/��
��� ��� ���/�
��� ��� ��� A �
���!
��� ���� Σ 	�� 
������� ���� E &

�

%��������� 
�� %6���� 	05. 8a9 
� 8
������� IJ&@ 	�� IJ&B �!
��6����� �
 ��

������ 0
�� I 
���� ��� ��	����
�� ���������� 
��� ������� Ω4 �� ��/(
�� ����
� �� 	/����
 ���
�� !������
 ��� σ�/��
��� ��� ���/�
��� ��� �� I;
)�� ������
�� I4 !�
�/6����� �� ������������ 	�� �� 
���
�� �	��������& 
� �����/��
�
������� ��� ���
 ���4 �� �� I �!
� ��� 	/���� 2���
���	�3 $���4 ���
 �����"�
 ��
!������
 ��� σ(I) �
 �����
�
� ��/(
��4 �&!& �� �� I 
���� ��� /��
��� ����������4
���
 �� ��������	�� 
���
�� 	�� ����� 
���� ��	
���&
8b9 
� �
����� IJ&B ��/�!
� �
 ��� �������� ����� ���� J. von Neumann 9:D< �
�& DB
Theorem +,&+&@& C A. Rosenthal 9@+< �
�& >B,�>B+ !���������
� $�/������ $�����"�
������"� ��� ������� Borel 	�� �������
� ��� � H. Lebesgue 
�!
 �$� ���$
�(� ��� �����
��� 8
�������� IJ&B ��� Ω = Rd 	�� Id ��� ��	����
�� ��� ����	��� ���������� ���
Rd4 �� +>,A&

+,-



�	����"�	 /-

.�!�
������ ��������

������� 205� ?���� Ω ��� �� 	
�� �"���� 	�� ��� ��
�	����� d : Ω×Ω �−→ [0,∞)& '
��
�	����� d 	��
���� �����
� �6��� ��� ��# Ω �� �	������
� �� �	������ �(������

2i3 d(x, y) = 0 ⇐⇒ x = y ��� 	/�
 x, y ∈ Ω

2ii3 d(x, y) = d(y, x) ��� 	/�
 x, y ∈ Ω

2iii3 d(x, z) ≤ d(x, y) + d(y, z) ��� 	/�
 x, y, z ∈ Ω&


� $���
������� 6
"��� (Ω, d) 	��
���� �����
�� 6����&

������� 205�  �� �	������� {xn}n∈N ���
��� ��� �
���	�" !���� (Ω, d) 	��
����
�
���#;�� Cauchy �� ��� 	/�
 ε ��/�!
� n0 ∈ N ������ ���
 ��� 	/�
 n,m ∈ N �

n,m > n0 �� ��!"
� d(xn, xm) < ε&

������� 205� ?���� �
���	�� !���� (Ω, d) 	��
���� ������ �� 	/�
 �	������� Cau-
chy ��� !���� Ω ���	���
� �
 	/���� ���
�� ��� Ω&

������� 205)  �� ��	����
�� T ���������� 
��� �� 	
��" ������� Ω 	��
���� ��"
������� 
�� ��� Ω �� �	������
� �� ����	/�� �(������

2i3 ∅,Ω ∈ T

2ii3 � ��	����
�� T 
���� 	�
���� �� ���� ��� �
�
������
� �����

2iii3 � ��	����
�� T 
���� 	�
���� �� ���� ��� 2������
�
�3 
���
��&

�� � T 
���� ��� ��������� 
�� ��� Ω4 ���
 �� 6
"��� (Ω, T ) 	��
���� ��������
��
6����&

+,A



������� 205* ?��� ����"���� A 
��� ��������	�" !���� (Ω, T ) 	��
���� �#
��
���� Ω 
/� clA = Ω4 ���� clA :=

⋂
{F : F c ∈ T , A ⊆ F} 
���� � 
����������

2closure3 � � 
������ ;�
� ��� A&

������� 205, ?���� ��������	�� !���� (Ω, T ) 	��
���� T2"6���� � 6���� Haus-
dorff �� ��� 	/�
 $"�4 $�/���� �
��(" ����4 ���
�� x 	�� y ��� Ω ��/�!��� U, V ∈ T 4
���� ���
 U ∩ V = ∅4 x ∈ U 	�� y ∈ V &

������� 205( ?���� ��������	�� !���� (Ω, T ) 	��
����  ��6�������� �� ��/�!
�
��� ���������� ����"���� A ��� Ω �� ����� �� 
���� ��	�� ���� Ω&

������� 205. ?���� (Ω, TX) 	�� (Υ, TΥ) $"� ��������	�� !���� 	�� ��� ��
�	�����
f : Ω �−→ Υ& �� � ��
�	����� f 
���� �������
!��4 1 − 1 	�� 
�� ���
 	��
���� �����"
���-����� 	�� �� ��������!�� ��������	�� !���� �� 	���"���� ��������-�
��&

������� 205$ ?���� $��!�������� ��������	�� !���� (Ω, T ) ����������	�� �
 ����
����� �
���	� !��� 	��
���� ������
�� 6����&

������� 205�3 ?���� �
�������� !���� (Ω,Σ) ���
��� �#��
�� 6���� Borel
2standard Borel space3 �� 
���� ��������	�� �
 ���� !��� (A,B(A)) ���� A ��� Borel
����"���� ��� R4 $���$� �� ��/�!
� A ∈ B 	�� ���/����� f : Ω �−→ A ���
 � f ��

���� 1− 1 	�� 
�� 	�� Σ�B(A)��
������� 	�� � f−1 �� 
���� B(A)�Σ��
������� &
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� ��������� 	����	� 8
����� de Finetti 2+>@+3 ��
� ��� ��� ������/(��� �	�������
��!���� �
�������� �
 ����� ��� {0, 1} 
���� ��� ����������� �������� ��(� ��
(/������
	�� ���	����
������� �	�������� Bernoulli& �	������
��0
���� {Xn}n∈N ��� �	������� ��!���� �
�������� �
 ����� ��� {0, 1} 	�� ���� ��� ��!"
�
� �������

P (X1 = x1, . . . , Xn = xn) = P (X1 = xσ(1), . . . , Xn = xσ(n))

��� ��� �� n ∈ N4 x1, . . . , xn ∈ {0, 1} 	�� ��� ��
� ��� �
�����
�� σ ��� {1, . . . , n}& 
��

��/�!
� ��� ����$�	� ����� ����������� μ 
�/�� ��� [0, 1] ���


P (X1 = x1, . . . , Xn = xn) =

∫ 1

0

θ
∑n

i=1 xi(1− θ)n−
∑n

i=1 xiμ(dθ).

?�!��� ��
�
� ������ �
��	
"�
�� 	�� �������� ����
������� ��!�� ���
��& =�/�!���

����� $�/���� 
(���
��	/ /���� 
���	������4 ����
 �&!& �� /���� ��� Kingman 9+D<
2+>D-34 Diaconis 	�� Freedman 9-< 2+>D-34 Aldous 9:< 2+>DA3 	�� Lauritzen 9::< 2+>D-3&
?���� ������ ���!�� ���� � 
��	���� ��� �
�������� de Finetti ��� �� {0, 1} �
 �
�
������
�� �
��	�"� !����� 	�����/�
��& C �$��� � de Finetti 9+@< 2+>@B3 �
��	
��
 ��
�
����� ��� ��� !��� 	�������
�� �� R& ��	
�/ !����� �����
�� � Dynkin 9;< 2+>A@3
����	�������
 �� R �
 ��� �
��	�"� !����� ��� 
���� 2	��/ 	/���� ������3 $��!��������&
 �� ���" �	���������	� �
��	
��� ����
 ��� ���� Hewitt 	�� Savage 9+;< 2+>AA3& ���
��� ���$
�(��4 ��� � !���� {0, 1} ����
� �� ����	�������
� ��� ������$����
 �������
��������	� !��� Haussdorf4 ������
��� ��� ����
� �� 
�
	���
� �&!& �
 ������	�"� �
����	/ ������
�� !�����& C� Dubius 	�� Freedman 9A< 2+>B>3 ���$
�(�� ��� �
��	/ ��
8
����� de Finetti $
� ��!"
� !���� 	/���
� ��������	�� ������
��&
' ��� �
��	� ����� 2���� �� ������
��� ��� 9:;<3 ��� 8
�������� de Finetti 
���� �

(�� 2��& �&! Kallenberg 9+B<4 Theorem +&+3

������� '05� )*��# (Ω,Σ, P ) 	� �� ����
(�"���� Υ �
�� �����(� 	� �� Borel ���
T ��� σ��,��1 � �����
(,#
 ��� Υ� '
 ����,��
 {Xn}n∈N ��
�� ��� ���,����� Σ�T �
��� ����#
 ������
���#
 �(�� �� ��(,���� ��
�� ����
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�i� . {Xn}n∈N ��
�� �
��,,����"�

�ii� 6�� 	�� ��� σ�����,��1 � F �"� Σ ���� " {Xn}n∈N 
� ��
�� ��( ��
���" �
��
�� �"�" ��� �������
��"��
" ������"� �"� F �

�iii� 6�� 	�� ��� σ�����,��1 � F �"� Σ ��� ��� ������
��� {Qω}ω∈Ω ��� #
 ����
(�
�"��� ���
# ��"
 T � ���� " ��
� �"�" ω �−→ Qω(B) 
� ��
�� F ���� ����" ���
���� ����� ( B ∈ T ��� 
� ��	
��∫

F

QI
ω(H)R(dω) = P (F ∩X−1(H))

��� ���� H ∈ T I ��� F ∈ F � (��� R := P |F ��� X := (X1, X2, . . . , Xn, . . .)�
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